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33121180/506 wnywl Gugdwb swihdwl uwpp (nnundbiunp) Q<L hwwn 4200 80 336.0
33141110/509 Uhpwlwwbn q< hwiin 48.7 30000 1461.0
33141110/510 Yhpwlwwbip < hwin 97 1000 97.0
33141111/501 Yuysnib uwybnwiupubp < hwn 103 6000 618.0
33141115/501 pdoluljwl pudpuwly q< hwin 172 5000 860.0
33141129/506 nhdwly < hwin 5.976 50000 298.8
33141129/507 nhdwly < hwin 85 1000 85.0
33141131/503 Uppnits Japgubgnt dwwwybl wdpwlubpny (dgnun) QL hwwn 270 100 27.0
33141136/523 Ywphbnbpubp < hwn 39.2 1000 39.2
33141136/524 Lwptinbptbp q< huwitn 38.8 6000 232.8
33141136/525 Ywpbwnbpubp 9< hwin 37.8 15000 567.0
33141136/526 Yupbnbpubp < hwwn 40.9 15000 613.5
33141136/530 uwpbinbplbp qc hwin 8000 70 560.0
33141138/501 Yuiunijw G< huwin 105 1000 105.0
33141138/502 Lwityynyjw q< hwin 293 200 58.6
33141142/509 ubipwplhsubp < hwin 12.5 30000 375.0
33141142/511 ubpwplhsubn Q< hwwn B.75 20000 175.0
33141142/512 Ubpwplhsubip 9L hwin 9.3 100000 930.0
33141142/513 bpwplhstbn qc hwun 14 60000 840.0
33141142/514 ubpwplhsubp 9L hwwn 15.5 100000 1550.0
33141142/515 ubipwplhsubp 9< hwwn 20.75 60000 1245.0
33141142/516 Ubipwplyhsubip Q<L hwwn 22.7 30000 681.0
33141142/517 ubpwplhsubip 9% hwin 58.9 30000 1767.0
33141142/518 Ubipwplypsubip L hwin 68.9 500 34.5
33141144/510 pdolulw wubinubp Q<L hwwn 13.85 30000 415.5
33141144/511 pdoljuiljwis wubnubp 9L hwn 20 300 6.0
33141144/512 pdolwlw wubintbip Q< hwn 6.5 10000 65.0
33141144/513 pdolwlwi wubnubp 9L hwn 4.7 40000 188.0
33141156/502 pdolwiljt bntingubip GL hwin 8.7498 400000 3499.9
33141158/502 Uhpwpnidwlwu dbnungubp L gniyg 75 20000 1500.0
33141160/502 unungl 250,0 L hwin 189.84 500 94.9
33141178/508 nbntph Ubpwplpdwy hwdwlwpgbp q< hwwn 38.9 50000 1945.0
33141178/509 nbntph Ubpwpydwu hwdwywpgbip L hwin 130 40000 5200.0
33141211/687 pdoliwluwt wy gnpdhpubp — wwpwgwubp YL huwtn 95 15000 1425.0
33141410/501 unwpw wuwihgh hwdwp unbippy, 1004 < hwwn 39.984 500 20.0
33141410/502 wwpw wuwihgh hwdwp unbiphy, 1004; Q< hwin 42 8000 336.0
33161220/504 suwinby thuyink q< hwiwn 3.2 4000 12.8
33191260/501 wpywl thnputpwpydwl gunwnpyubn Q<L hwun 13900 30 417.0
33191310/527 thnpdwunpubp < hwin 16.8 120000 2016.0
33191310/528 thnpdwunplbp G< hwn 16.8 50000 840.0
33191310/529 thnp&wlnpubp 9< hwin 25 10000 250.0
33191310/530 thnp&wunpubp L hwiwn 39 25000 975.0
33191310/531 thnpawunpubp < hwiwn 38 2000 76.0
33191650/504 pdoyulwl hwgnwiwn < hwtn 135 15000 2025.0
33191650/505 pdolulw hwgnwin QL hwn 6 7000 42.0
33691423/501 |wenpwinnn wanubgnyebip (nhwgbtntibp) puqdwlnduntibiiu < [nwluqy 2600 100 260.0
38411200/509 obpUwswihbn qc hwwn 600 50 30.0
38431720/513 Lwpenghyubiph dwjpwlwutin 9L hwn 1.59 80000 127.2
38431720/514 YwpnghYubph dwipwlwutp L hwwn 0.63 350000 220.5
24311530/503 opwdth whpopuhn 9L pwnp 599 300 179.7
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31651200/506 EY4S dwwwybt pninp Q<L hwin 639 600 383.4
33141110/511 Uphpuwlwiwbn q< hwtn 850 3000 2550.0
33141111/502 Yujsnit uwybnwiuhubp QL hwin 140 15000 2100.0
33141111/503 uysnits uwbinwlipubp Q<L huwiwn 83 1000 83.0
33141118/506 whdbnnghlubp 9L hwin 9.3 60000 558.0
33141118/507 wudbnnghlubp QL hun 4.1 70000 287.0
33141143/501 uljwphdhlyusnnp 9L hwtn 3.33 30000 99.9
33141144/514 pdoywljwu wubinutp 9L hwn 1130 1000 1130.0
33141144/515 pdolwljwl wubintibip < hwn 6800 300 2040.0
33141144/516 pdolwlywt wubnubip 9L hwiwn 10000 200 2000.0
33141144/517 pdolwljwt wubinubip 9L hwin 7500 25 187.5
33141144/518 pdolulul wubigtbp q< hwwn 4750 800 3800.0
33141144/520 pdolwiljwl wubnubip QL hwn 1500 1000 1500.0
33141144/525 ndolywljwt wubinlibin 9L hwwn 1500 300 450.0
33141144/526 pdoljwljut wubnubp 9 hwtn 1500 300 450.0
33141144/527 pdoluljwt wubnubp q< hwin 250 1000 250.0
33141144/528 pdolulwt wubnubp QL hwwn 400 50 20.0
33141211/710 pdoywlwl wy| gnpdhpubip — wwpwguwubp q< hwn 1960 15000 29400.0
33141211711 pdolwljwt wy gnpdhplibin — wwpwgutibp g< hwtn 1345 1000 1345.0
33141211/712 pdoluiljut wy| gnpdhplbip — wwpwgwubp QL hwwn 6280 96 602.9
33141211/713 ndobwljwts wy| gnpdhplibip — wwpwguibp Q<L hwn 1680 200 336.0
33141211/714 pdoluiljw wy) gnpdhpubip — Wwpwgwubp QL hwn 200000 72 14400.0
33141211/715 pdolwiljwl wy gnpdhplibp — wwpwgwlbp Q< hwn 100000 300 30000.0
33141211716 ndolwljwt wi| gnpdhplibin — wwpwguwtbp QL hwwn 6800 500 3400.0
sty pdoluiljw wy) gnpdhpubip — wWwpwguwbp QL hwn 8800 500 4400.0
33141 211/719 pdoljulwt wy gnpdhplbtip — Wwpwgquwubp QL hwn 425 3000 1275.0
33141211/721 pdoluiljuits wy) gnpdhpubip — Wwpwgqubp <L hwn 179.41 5000 897.1
33141211/722 pdoywljuts wy ghpdhplibp — wwpwguwubp QL hwn 67 15000 1005.0
33141211/729 pdolwljwl wy| gnpdhpliip — wwpwgutibp 9L hwun 3300 100 330.0
33141211/730 pdoljwlwt wy| gnpdhpubip — wwpwgutibp 9< huwn 102000 1 102.0
33141211/731 pdalywliwl wy| gnpdhptbip — wwpwguwbp QL hwn 160000 3 480.0
33141211/732 pdolwilw wy gnpdhputin — wWwpwguwubp < hwin 99.48 4000 397.9
33141211/733 pdoliwluwil wy gnpdhpubn — wwpwguwbp < huwin 696 100 69.6
33141211/734 pdaoliwlwl wy gnpdhpubin — wwpwguwbp 9 huwin 104 1000 104.0
33191310/532 thnpdwunpubp 9< huwin 11.5 40000 460.0
33191310/533 thnpawunpubp QL hwn 14 18000 252.0

Utinhwuppht MediScreen 10/Utigh Ubig gyniyngh, wpjuwu,

uwhwnwlnigh, pH, Ywnnubph, wbuwlwpwp Ynh,
33211110/502 Usnnhintid; dilinalsebibrh, et ph oot G huwn 2472 40 98.9

npnpuw phup unphwtibnh hudwpwdnt
33631241/504 pinphtipupnhup ndnypR QL thtnp 1350 800 1080.0
33631241/505 pinphbpuhnhtp |ndnyp qL |hinp 1150 400 460.0
33631250/504 Fwun| d08ax08, v03ab16, v03az01 < hinp 1100 700 770.0
33631250/505 tpwling d08ax08, v03ab16, v03az01 9 |hip 970 1000 970.0
33691167/501 \wpnpwinnp odwunwl — ghunwlwl Uniebn L hwun 15000 120 1800.0
33691167/502 Jwpnpwinnp odwunwl — ghunwlwl bnyebn q< huwn 12000 180 2160.0
33791300/522 |wpnpitnnp wwwljw wpinwnpuup 9L huwn 14200 500 7100.0
38431491/501 wwywlb whwnphh puwu G huwn 33.7 10000 337.0
39821100/501 dwppnn Wnyatp wdnthwyh hhdph Ypw Q< hwwn 100 30 3.0
44423600/503 Yugsniu dwwwybuutip QL hwtn 3.28 20000 65.6
18311190/503 fuwwp 9L hun 447 100 44.7
33141114/501 pdaljuiljuwt pwghd (Jwpyw) (witnyegniup’ 90ud G dbiunp 68 2000 136.0
33141121/503 Uhpwipnidwlwl phibp a9 huwin 315 30 9.5
33141121/504 Uhpwpnidwlwl phjbp QL hwin 315 30 9.5
33141121/505 Uhpwpnidwlwt phjbp QL huwin 315 100 31.5
33141121/506 Uhpwpnidwlwt phibp QL hwn 315 100 31.5
33141121/507 Uppwpnidwlwl phjbp q< huin 140 30 4.2
33141121/508 Uhpwpnidwljw phjbp 9L hwn 140 30 4.2
33141121/509 hpupnidwljw phjbp q< huwn 140 300 42.0
33141121/510 Uphpwpnidwlwu phbp < huwin 140 300 42.0
33141121/511 Uhpwpnidwlwt phibp QL huin 140 50 7.0
33141121/512 Uppwpnidwlwt phikp L huin 20 0.0
33141121/513 Uhpwpnidwlwl phbp qL huitn 20 0.0
33141121/514 Uhpwpnidwlwl phibp QL huin 30 0.0
33141136/534 Lwphwnbptbp 9< huwtn 50 0.0
33141157/502 Ustnwpubip — uwpbp Q<L hwwn 23 200 4.6
33141157/503 Ugunwpubip — uwjpbp 9L huin 23 200 4.6
33141173/501 Ubigh wnwpwlyutip Q< huwn 102 700 71.4
33141173/502 Ubgh wnwypwlubp QL huin 32 500 16.0
33141182/503 Yhpwthnnbp (npbauwdubp) Q< hwin 20 0.0
33141182/504 Uhpwihnnbip (npbwdutin) 9L hwiwn 15 0.0
33141182/505 yhpwihnnbp (npbuwdutp) < huwin 15 0.0
33141182/506 Uhpwihnnbp (npEuwdutp) QL huin 18000 20 360.0
33141184/501 Uppwihnnbph (npbtwdubph) wwpwgwlbp 9L hwin 4000 50 200.0
33141202/504 Pdoljwlwl Baynpnnubp q< hwin 2 0.0
33141211/735 pdolwlwl wy) gnpdhpubp — wwpwaqubp G< huwin 550 30 16.5
33141211/736 pdolwlwl wy)) gnpdhpubip — wwpwguitbin QL hwn 550 30 16.5
33141211/737 pdolwlwl wy gnpdhpubp — wwpwgqubp QL hutn 5000 10 50.0
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33141211/738 pdolwlwl wy gnpdhpubp — wwpwqubp < hwn 10500 5 52.5
33141211/739 pdolwlwl wy gnpdhpubp — wwpwqwbp L hwwn 11000 2 22,0
33141211/740 pdowlwl wy| gnpdhpubip — wwpwgubp 9L hwn 45000 1 45.0
33141211741 pdolwlwl wy gnpdhpubp — wwpwqutp QL hwn 1790 20 35.8
33141211/742 pdolwlwl w)) gnpdhpubip — wwpwqubn 9< huwin 1795 30 53.9
33141211/743 pdolwlwl wy gnpdhpubip — wwpwqubn 9L huwtn 5 0.0
33141211744 pdoluljwl wy gnpdhptibp — wwpwqutibp < hwin 1300 5 6.5
33141211/745 pdoluljwit wy| gnpdhpubip — wwpwqutibp 9L hwin 800 150 120.0
33141211/746 pdolywliwl wy gnpdhptibip — wwpwguwbp QL huwitn 64920 24 1558.1
33141211/747 pdoljwiljwits wy gnpdhpubp — wWwpwqubn QL huwin 54960 24 1319.0
33141211785 pdolwiljlut wy| gnpdhpubip — wwpwawubp QL hww 49920 24 1198.1
33141211/786 pdolwlyuwt wy gnpdhplbip — wwpwquwbp 9L hwin 45000 24 1080.0
33141211/787 pdolywlwt wy gnpdhplbip — wwpwguwibp 9L huwin 3 0.0
33141211/788 pdolwljwt wy gnpdhplbp — wwpwguwibp 9L hwin 200 0.0
33141211/789 pdoljwlw w) gnpdhpubip — wwpwgquubp GL hwwn 100 0.0
33141211/790 pdolwiljut wy| gnpdhpubip — wwpwgquwubp QL huwin 6960 100 696.0
33141212/512 pdolwljwt wyy Wnuyebin 9L hwn 30 0.0
33141221/501 Uhpwihnnbin (ppbuwdubph) puquwlndwntbun wwpwqwubp G< [Pwlwigd 1992.43 40 79.7
33141223/545 pdalwlwt wy gnpdhplbn — wwpwgquubp puqduwlndunubn Q< Inwlwqd 3500 100 350.0
33171400/521 Jbpwlbtnwiwgdwl nhdwy Q< hwun 1 0.0
33171400/522 Ybpwltunwiwgdwl nhdwy q<L hwin 1 0.0
33171400/523 Ybpwlbunwuwgdwt nhdwy 9L hwwn 1 0.0
33171500/503 Ewhnnipu wuqquijwgdw hwywpwdniubp Ywd thwpbpubn Q< hwn 2706 10 271
33791300/523 [wpnpwnnp wwljw wpnwnpulip < hwwn 6 15000 90.0
33791300/524 (wpnpwnnp wwwlyw wpnwnpulp < hwin 1.26 100000 126.0
39299110/501 wuywly updulibp a< hwin 142 5000 710.0
33141136/536 Ywpbnbpubp < hwun 167 20 33
33141136/537 Ywphknbipubp L hwwn 167 20 3.3
33141136/538 Ywpbwnbpubp QL huwn 167 20 3.3
33141136/539 Lwpbnbpubp L huwin 167 150 25.1
33141136/540 Lwpbwnbpubp GL hwin 167 200 33.4
33141136/541 Luwphwnbptbp o< hwtn 167 180 30.1
33141136/542 Lwphnbptbp q< huin 167 20 3.34
33141136/561 Ywpbwnbpubp L hwin 202 20 4.0
33141183/518 gnunkp gL hwn 65 20 1.3
33141183/519 gninkp 9L hwin 65 30 1.95
33141183/520 gnunhp GL huwn 65 30 1.95
33141183/522 gnunbip 9 huwin 65 30 1.95
33141183/524 qnunkp G huwtn 65 30 1.95
33141183/525 qnlinbp q< hwwn 65 40 2.6
33141183/526 gnunkp 9L hwin 65 5 0.3
33141202/505 Pdoluwlywt bbhnpnnubp 9L hwtn 29.5 6000 177.0
33141207/522 hlunnipwghuwyh wwpwgwbp QL hwwn 10 0.0
33141207/523 hluwnnipwghwih wwpwgwubp < hwn 10 0.0
33141207/524 hunnipwghwih wwpwgwbp Q<L hwn 20 0.0
33141207/525 bluwnnipwghwih wwpwgwubp QL hwn 1000 10 10.0
33141207/526 bunnipwghwih wwpwqubnp G hwin 1000 20 20.0
33141207/527 hunnipwghwih wwpwqutn QL hwin 1000 20 20.0
33141207/528 hunnipwghwih Wwpwgwubp QL hwun 1000 20 20.0
33141207/529 huwnnipwghwh wwpwgwlbin Q< hwin 1000 20 20.0
33141207/530 huwnnipwghuyh wwpwgwubp Q< hwn 1000 50 50.0
33141207/531 huwnnipwghwih wwpwguwubp < huwn 1000 100 100.0
33141207/532 huwnnipwghwih wwpwgqwubp Q<L hwn 1000 10 10.0
33141211/791 pdolwiljw wy) gnpdhplbin — Wwpwguwbp QL hwwn 15000 30 450.0
33141211/792 pdolwlwl wy ghpdhpubip — wwpwgqwlbp 9L hwtn 18000 50 900.0
33141211/793 pdolwljwi wy) gnpdhpubin — Wwpwqwbp 9L hwwn 549 500 274.5
33141211/794 pdolwluw wy gnpdhpubip — wwpwgwubp 9< hwin 549 1000 549.0
33141211/795 pdolwlwl wy gnpdhplbp — wwpwgwbp QL hwun 549 500 274.5
33151220/501 prRUwatwht nhiwly 9L hwitn 260 500 130.0
33151220/504 prUwtiul nhiwl q< hwtn 350 100 35.0
33151220/505 pRUWALWRY nhiwl q< hwtn 480 100 48.0
33171400/527 Ybpwlbtnwiwgdwu nhiwly q< hwin 7000 2 14.0
33171400/528 Ubpwltinwbugdwt nhiwy q< hwin 7000 2 14.0
33171400/529 Ubpwlbunwuwgdwy nhiwly < huwin 7000 20 140.0
37411330/502 nhuwlubp, jwunbp Yud suswnwlwt unqndulutp L hwiwn 800 10 8.0
37411330/503 nhdwlubp, jwuwnbp Yud suswnwlwl unnndwlubp q< huwitn 800 10 8.0
37411330/504 nhuwlutp, jwunbp Yud suswnwlbw unnndwyubp L hwn 800 10 8.0
15991700/501 $hpnph pnwge QL Yhingpwd 2 0.0
24311530/504 onwduh whpopuhn 9L (hwp 10 0.0
24311570/502 RhpWS onin 9L |htnp 500 0.0
31651200/502 E4S dwujwybl pnuyp 9L hwwn 15 0.0
33141110/502 Yhpwlwuylbp QL huin 20 0.0
33141136/501 Ywpbwnbpubp < hwwn 100 0.0
33141136/511 Yuwpbwnbpubp SL huwin 100 0.0
33141136/512 Lwphwnbpubp S< huin 250 0.0
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33141136/513 Yuwiptinbpubp AL hwin 50 0.0
33141136/514 Ywpbinbpubp < hwwn 100 0.0
33141136/515 Ywphwnbpubp 9L hwin 100 0.0
33141142/504 ubpwplhsubip < hwiwn 1000 0.0
33141144/501 pdaljuiljwty wubnubp 9L hwuwn 2000 0.0
33141144/502 pdolwluwil wubnubp QL hwin 100 0.0
33141154/501 pdolwlw Ygwpgwlibp L hwiwn 2 0.0
33141202/502 Pdolwlw Eiblwnpnnubip < hwin 2000 0.0
33141211/502 pdaywlw wy gnpdhpubipn — wwpwqwubp L hwuwn 400 0.0
33141211/503 pdolului wy gnpdhpubip — wwpwagwubp < hwwn 10 0.0
33141211/504 pdolwlwl wy gnpdhpubp — wwpwqubp q<L hwin 500 0.0
33141211/505 pdolwlw wy gnpdhpubp — wwpwawubp < hwuwn 5000 0.0
33141211/506 pdolwlwl wy gnpdhpubp — wwpwqubp < hwwn 5000 0.0
33141211/507 pdolywlwts wy) gnpdhpubip — wwpwqwubp QL hwn 1000 0.0
|33141211/508 pdolulwu wy gnpdhpubip — Wwpwgwubp L huwin 3000 0.0
33141211/509 pdoluwluits wy) gnpdhpubip — wwpwqwubp 9L hwwn 200 0.0
33141211/510 pdoliwlwl wy gnpdhpubp — wwpwquiubin 9< hwwn 200 0.0
33141211/511 pdolwiluits wyy gnpdhpubip — wwpugwbp QL hwin 200 0.0
33141211/512 pdalwilput wy gnpdhpubip — wwpwquibp 9L huwwn 2 0.0
33141211/515 pdolywliwl wy gnpdhpubip — wwpuwagwubp QL hutn 7000 0.0
33141211/516 pcolwlwl w) gnpdhpubip — wwpwquitn QL hwwn 7000 0.0
33141211/517 pdaluliwt wy gnpdhpubip — wwpwaquwubp 9L huin 1000 0.0
33141211/518 pdolwilput wy grpdhpubip — wwpwquiubip QL huin 2 0.0
33141211/519 pdolwiliwt w) gnpdhpubp — wwpwgqubn QL huwin 1 0.0
33141211/520 pdoljwliw wy gnpdhpubp — wwpwquubp QL hwn 6000 0.0
33141211/521 pdoljwliwt w) gnpdhputip — wwpwgubp QL hwn 15000 0.0
33141211/522 pdolwluwt wy gnpdhpubn — wwpwaquwubp QL hwn 30 0.0
33141211/523 pdolwilw wy gnpdhpubin — Wwpwquubp G huwn 800 0.0
33161250/501 yhpwpnidwlw gnpdhpubiph ulnunbinubn QL hwn 4 0.0
33161250/502 Yppwpnidwlywl gnpdhpubiph ulnunbinubp GL hwin 4 0.0
33191310/504 thnpdwlnpubp QL hwn 6000 0.0
33191310/505 thnpadwunpubp QL hwn 7000 0.0
33191310/506 thnpdwunpubp 9< hwn 2100 0.0
33191310/507 thnpdwnpubip G hwwn 500 0.0
33191310/508 thnpdwunpubip < hwin 500 0.0
33691160/684 phupwlwl wonwynyabp (nbwgblwnubn) QL hwwn 100 0.0
33691160/685 phupwljwl wanwiynybip (nbwgblintibn) qc hwin 300 0.0
33691176/584 wy| nEnnpwjp < hwn 100 0.0
33691176/585 wy| nbnnpuwp Q<L hwwn 8 0.0
33691176/586 wij| npannpuwip q< hwin 10 0.0
33791300/504 |wpnpuwinnp wwwljw wpnwnpuip L hwwn 16000 0.0
33791300/505 |wpnpwwnp wwwlyw wpnwnputp 9L hwn 12000 0.0
33791300/512 (wpnpwnnp wujiljw wpnwnpuip < hwun 5000 0.0
35111320/501 dhgniywihts — nwnhninghwlwl wwpnwwlnipjwl hwgniun Q< huwin 3 0.0
38431491/502 wwywlb whwphh pwu < hwin 500 0.0
38431710/502 Ljwenghlubp 9L huwn 8000 0.0
38431710/503 Lwpnghlyubp 9< hwin 6 0.0
38431710/504 wpenghlubip < hwwn 6 0.0
38431710/505 Lwpenghlubp q< hwn 6 0.0
38431720/501 Ywpenghlubph dwinwlwiutn 9L hwwn 42240 0.0
38431720/502 Ywpenghbubph wjpuilu)ubp Q< hwun 42240 0.0
38431720/503 Gwpenghlubph dwjpwlwubp L hwn 1920 0.0
38431720/504 ljwenghlubph dwjpwlwubip < hwtn 30000 0.0
38431720/507 Ywpnghlubiph dwjpwluwtbp q< hwtn 25000 0.0
38431720/508 YwpnghYubph duypwywiubp < hwtn 19200 0.0
15991700/502 Shjnph pnine < Yhingpuid 0.5 0.0
33131220/501 winwluwpnidwlywl niubhubp < hwin 3 0.0
33141121/515 Uppwpnidwlw phibp < hwn 20 0.0
33141121/516 Uhpwpnidwlwl phikp QL hwun 20 0.0
33141121/517 Uhpwpnidwlwl phjbp < hwin 30 0.0
33141136/516 Lwphinbpubp < hww 20 0.0
33141143/502 ulwph$hlwnnp q< huitn 1000 0.0
33141157/504 Ugunwiplbp — uwjpbp QL huwn 2 0.0
33141182/507 Uhpwihnnbip (npbtiwdutip) G huwitn 15 0.0
33141182/508 Uhpwihnnbip (npbtiwdubp) G hwwn 15 0.0
33141183/501 gnuntin G< hwin 20 0.0
33141183/508 gntinbip QL huwin 20 0.0
33141183/509 gnuntp 9< hwn 20 0.0
33141183/510 gnunbp QL hwwn 10 0.0
33141183/527 gnuntip 9L hwn 10 0.0
33141202/506 Pdoljwljwt Beynpnnubp Q< hwn 2 0.0
33141206/501 Funnppnufubiwg funnnywlubip L huwn 10 0.0
33141206/502 Eunnppntfubu funnndwljutp 9l hwn 10 0.0
33141206/503 Funnppnufubiw] jungnywlyubn YL huwin 20 0.0
33141206/504 Funnppnufubiw funnnywlubip GL hn 20 0.0
33141206/505 Funnppnufutiwg funpnwlubp QL huwn 20 0.0
33141207/514 buinhipwghwih wwpwgwubp <L hwn 10 0.0
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33141207/515 hunnipwghwih wwpwgqwbp L hwtn 10 0.0
33141207/533 hunnipwghwih wwpwgwubp < hwn 10 0.0
33141207/534 huwnnipwghwih wwpwgwubp QL hwn 10 0.0
33141207/535 btwnnipwghwih wwpwgwbp < hwn 20 0.0
33141211/525 pdoljuilwit wy gnpdhpubp — wwpwgwbn 9L hwn 5 0.0
33141211/526 pdolwlwl wy gnpdhpubp — wwpwgubp L hwn 3 0.0
33141211/527 pdolywljwi wy) gnpdhplbip — wwpwawubp 9L hwtn 200 0.0
33141211/528 pdolwljwits wy gnpdhpubip — wwpwguwbp 9L hwin 100 0.0
33141211/529 pdolwlwl wy gnpdhpubp — wwpwgwubp <L hwn 300 0.0
33141211/530 pdolwlwl wy gnpshpubp — wwpwgqwbp L hwwn 5 0.0
33141211/531 paolwilwl wy gnpdhpubip — wwpwgwbp QL hwn 2000 0.0
33141211/532 pdolwlwl wy gnpdhpubp — wwpwgwbp QL hwin 1 0.0
33141211/533 pdoljwiljw wyj gnpdhpubip — Wwpwgqwbp L hwin 2 0.0
33171400/501 Ubpwlbunwuwgdwl nhiwy Q<L hwin 2 0.0
33171400/502 Ubpwlbtinwbwgiwt nhiwy q< hwwn 2 0.0
33171400/503 Ubipwybunwuwgdwu nhdwl q< hwin 2 0.0
33171400/504 Ubpwlbinuliwguwl nhuwly q< hwiin 20 0.0
33191310/509 thnpdwtinplbip QL hwn 2500 0.0
33191310/510 thnpdwunpubp 9L hwin 600 0.0
33191310/51 thnpdwunpubp q< hwwn 100000 0.0
33191312/501 wiywll Ynjpw 9L hwin 3 0.0
33191312/502 wuwwlyb Ynppuw 9L hwun 3 0.0
33191312/503 wiywlb Ynjpw 9L hwin 3 0.0
33191316/501 wwuilys swiphs debigniplw’ hnldws dghlyny Q<L hwn 4 0.0
33191318/501 wiywlt swithhs pwdwl pudubiswtind 1004 L hwn 2 0.0
33191318/502 wwwyb swihhs pwdwl pudubiswihny 1004d) QL hwwn 2 0.0
33191318/503 wiywyb swihhs pwdwly pudubiswihng 1004 9L hwin 2 0.0
33191318/504 wiwlyl swihhs pwdwly pudubswihnd 1000 9L hwn 2 0.0
33191318/505 wwywyb swihhs pwdwl pwdubiswihny 100d) < hwin 2 0.0
33191318/506 wwywyb swihhs pwdwl pwdubiswihnyg 100d) Q<L hwn 2 0.0
33191318/507 wiwywyb swihhs pwdwl pudubiswihny 100 Q< hwin 2 0.0
Juswnnijwl gnigwuwnpbp (puswnnyzjwl tlwndwdp
33191560/501 oty B bt g q< hwtn 30 0.0
33691160/691 phihwlwy wgnwumpbp (nbwgbunubp) < hwn 20 0.0
33791300/513 |wpnpwinnp wwwljw wpnwnputp QL hwun 2 0.0
33791300/514 |wenpwnnp wywlyw wpnwnpuup L hwin 2 0.0
33791300/515 (wpnpwwnnp wuwlyw wpnwnpuip L hwn 4 0.0
38311100/501 Eiblyinpntwghu Yobinplibp — wwipwquubp q< hwin 2 0.0
38411200/501 obipdwswithtin L hwwn 20 0.0
38431710/506 lupnghlubp q< hwtn 2000 0.0
38431720/509 Ywenghyubiph dwypuwiljwtip 9L hwin 500 0.0
44163112/502 npbuwdwht hwdwlwpgbp QL hwn 20 0.0
QL 0.0
quiquijht ynipbip
24111160/501 pdolwlwl hbnniy wgnn 9L fud 470000 9 4230000.0
33691141/502 pRYwdht vO3an0i < hwn 2300 3000 6900000.0
nbnnpwp
33611130/504 winpnuht a03ba01, s01fa0l 9L huwitn 69.9 1500 104.9
33611170/501 nnninwybiphu a03ad02 G< hwwn 37.5 1500 56.3
33611170/502 npnunwybipht a03ad02 Q< hwn 6 500 3.0
33611310/507 htunyhu < hwwn 4999.8 10 50.0
33611320/501 ubpwplpdwl huunypt (jndynn) alOab 9L hwwn 5199 60 311.9
33611320/502 ubipwpldwl ptunypt ((ndynn) alOab 4L hwn 5499 30 165.0
33611472/504 Shghipny, dndhlubp 9L hwin 90 400 36.0
33611472/505 Hhgbipny, dndhyubp QL hwwn 87 200 17.4
33621160/501 wihtuwywwpnuwpeeRnt b02aall q< huwiwn 800 200 160.0
33621360/506 qlhgtinhy bnupwpwn (Uhinpngihgtinhi) c01da02, c05ae0 a< huwn 799.8 200 160.0
33621390/501 wihnnwpnt c01bd01 S< hwwn 196 150 29.4
33621720/501 phunupnin; ¢c07ab07 g huwin 9 400 3.6
33621740/501 wdinnihught c08call < hwwn 5.6 800 4.5
33621761/501 wghwhjuwihghjwppent, dwqubghnuwh hhnpopupr BO1AC30 9L huwin 10.5 10000 105.0
33631180/501 wpdwph unydpwnhwghtd06ball L hwwn 1080 20 21.6
33631370/501 winpwynippnud phghjwu m03ac04 QL huwin 270 150 40.5
33631410/501 winwniphtung m04aa01 < huwitn 44 20000 880.0
33631430/505 nbpuljuinypndbl (nbpulibnnupndbuh npndbnwdng) MOTAET7 QL hwin 187 2400 448.8
33631430/506 nbpuljinnwypndbl (nbpulitnupndbuh npndbuwdng MOTAET7 q< hwtn 129.9 300 39.0
33651111/501 wdopuhghihu j01ca04 L huwin 168 500 84.0
33651112/503 widopuhgh|hu+pjuyni-jwliwpent j01cr02 < hwtn 1480 5 7.4
33651125/501 wghppnupght j01fal0, s01aa26 q< huin 258 500 129.0
33651163/502 wilhyuwght d06ax12, j01gb06, sO1aa2l Q< hwiwn 1520 700 1064.0
33661115/503 pnughdwluiht n016b0T < hwtn 229 70 16.0
33661142/501 withinphunhiht n06aa09 GL huwin 9 300 2.7
33661151/501 wghlynyhp d06bb03, j05ab01, s01ad03 qL huwn 14.6 40000 584.0
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33661151/502 wghlyndhp d06bb03, j05ab01, s01ad03 QL hwin 2499 100 249.9
nbpuldtipwgnt a0lac02, c05aa09, d07abl9, d07xb03, d10aal3,
33661153/503 hg2ab02. rmad°3bf‘°1bg°‘b;“‘%bg‘aggzﬁgﬁéso3bépl q< hwwn 2.3 30000 639.0
nbpuwdbpwgnt allac02, c05aa09, d07ab19, d07xb05, d10aal3,
33661153/504 hU2ab0L‘2t.' rmadt?3bf013301h550‘%b901: 502206, s03ba01 q< huwn 36.8 50000 1840.0
nbpuwdbipwagnt a0lac02, c05aa09, d07ab19, d07xb035, d10aa03,
e h02ab02, r012d03, s01ba0, s01cbO1, s02ba06, s03ba0l * huun o4 i il
33671114/501 wihtndpypl r03da05 9L hwn 35.72 1500 53.6
33671125/502 widppopun) (wdppopunih hhrpnpinphn)  RO5CB06, ROSCB q< hwn 15 300 4.5
33671130/501 nhdbuhhnpuwdht d04aa32, d04aa32 9< huwn 21.9 20000 438.0
33691121/501 w|pbtnwgnp02ca03 q< hwn 171 30 5.1
33691136/504 uwwnphnwh pinphn al2ca01, b05cb01, b05xa03 QL hwn 213.9 1000 213.9
33691136/505 uwwnphnwh pinphn al2ca01, b05cb01, b05xa03 Q< hwwn 220.9 4000 883.6
33691136/506 uwwnphnwh pinphn al2ca01, b05cb01, b05xa03 <L hwun 226.8 90000 20412.0
33691136/507 twwnphnwp pinppry al2ca01, b05cb01, b05xa03 < hwwn 1300 2000 2600.0
33691136/508 Lwwphnuwih pinphn al2ca0l, b0Scb01, b05xa03 < huwin 237.8 4000 951.2
33691136/509 twwnphnwih pinphry al2ca0l, b05cb01, b05xa03 9L huwtin 1400 5000 7000.0
33691136/510 uwwphnwh pinphn al2ca01, b05cb01, b05xal3 9L hwwn 530 200 106.0
33691138/504 gniing b05cx01, v04ca02, vO6dc01 9< huwin 237.9 9000 2141.1
33691138/505 gyniyng b05cx01, v04ca02, v06dcOl 9L hwin 231.9 2000 463.8
33691176/569 w)| nbnhpwip QL hwwn 29980 150 4497.0
33691176/571 w)| nbnnpwip 9L hwn 4200 500 2100.0
33691176/572 w)] nbnnpuwip QL huwtn 88.8 1000 88.8
33691176/573 w)] nbnnpwip QL hutn 2200 700 1540.0
33691176/574 wy| nhnnpw)p QL huitn 516 2000 1032.0
33691176/575 wy| nnnpw)p QL hutn 227.8 1500 341.7
33691198/503 wnhdbnhntht - A1I6AAD2 L hwn 1899 5000 9495.0
33691727/501 nhipuwpng {nbpuwnpngh dnunhhnpuwn) VO6DC01, BOSCXO01 Q< huin 36.22 10000 362.2
33691731/501 nhnudtlyinhin AO7BCOS < hwin 149 2100 312.9
33691811/501 phuwlnnhy QL huiwn 36 700 25.2
33141166/501 hbwwpht 9L huwin 974 1000 974.0
33611100/501 odbwypuwgn| a02bc01 QL huwiwn 9.2 70000 644.0
33611120/503 bwininhnhu A02BAO3 9L hwun 368 3000 1104.0
33611140/503 olnulutitnpn a04aa01 9L huwin 270 30000 8100.0
33611140/504 olunwubwnpnl a04aa01 QL hwtn 649 2000 1298.0
33611160/501 dtwnnlnwpwdhn a03fa0i G hwin 40.98 1500 61.5
33611420/507 Yuighnuwdh gyniyntiwin al2aa03, d11ax03 Q<L hwun 87 10000 870.0
33611420/508 Juighnudh gyniynuwin al2aa03, di1ax03 <L huwn 129 10000 1290.0
33611470/502 wwiinnwpwgng L hwn 33.21 2000 66.4
33611470/503 Wwilinnwpuigng QL hwin 1290 800 1032.0
33621120/501 Fuopuwwwpht b01ab05 Q<L hwwn 1069 13000 13897.0
33621230/503 $njwppnt b03bb01 L hwn 5 1500 7.5
33621590/501 $nipnubidhn c03call q< hwwn 22.286 20000 445.7
33621610/504 dwbipwnn a06adi6, b05bc01, b05cx04, r05chl6 9< hwin 512.7 1500 769.1
ypbinuhgnint a07ea01, c05aa04, d07aa03, d07xa02, h02ab06,
SRpEA0en r01ad02, s01ba04, s01ch02, s02ba03, s03ba02 o b 0 120000 2964
33651118/501 gbbnphuwpunt j01dd04 9l hwiwn 103 8000 824.0
33651131/504 i"o"l‘ig‘fhfa"pu”‘q"l Fupuieqppkestl;|Hleelf jlesbo; | ge huitn 132 40000 528.0
33651131/507 ;.lonltgé.;jhgaopqunl + inphdbpnuphd j01ee01, j0Tee02, j01ee05, qc i 567 50 28.4
33651134/502 ghwpn$lopuwght j01ma02, s01ae03, s02aal5, s03aa07 QL hwun 27 10000 270.0
33651138/501 |-n%joputughti j01mal2, s01ae05 q< hwwn 79.8 5000 399.0
33651140/502 ghbtiwhd jO1de01 Q< hwn 399.8 10000 3998.0
33651143/504 dbpnwbiutd j01dh02 L hwiwn 2132 200 426.4
33651143/506 Ubpnwbutid j01dh02 < huwin 1970 1000 1970.0
33651150/503 byniynuwgny d01acls, j02ac01, j02ac01 Q<L hwwn 3390 500 1695.0
33651150/504 yniynuwgn] d01ac15, j02ac01, j02ac01 9L huwin 54 30000 1620.0
33651150/505 $ynilntiwign| d01ac15, j02ac01, j02ac01 Q< hwn 99 8000 792.0
33651318/503 Lhubgnihn < hwin 4500 400 1800.0
33661112/501 wpnuwndn; n01ax10 < hwn 444.9 1500 667.4
33661114/502 $buwnwupy n01ah01, n02ab03 Q< hwwn 450 400 180.0
Lhnnluwyht c01bb01, c05ad01, d04ab01, n01bb02, r02ad02,
- T}?ihl{o hﬁnzoc%atl:@m 05ad01, d04ab01, n01bb02, r02ad02 N o = = =
nnljught ¢ , c05ad01, d04ab01, n , r02ad02,
33661116/506 <01ha07. s02da01 < hwiwn 2694.9 20 53.9
33661116/507 (hnnlujhti c01bb01, c05ad01, d04ab01, n01bb02, r02ad02, ac Hiiih 94.8 200 19.0
s01ha07, s02da01
33661116/508 Q;um,ht;;o;b;on c05ad01, d04ab01, n0Tbb02, r02ad02, ac bl 37.8 — 1393
33661120/504 Unp$hu n02aall 9L hwun 450 400 180.0
33661120/505 Unp$hu n02aall L huwn 6000 150 900.0
33661122/506 wwpwgtitnwdng n02be0l G huwin 2200 1000 2200.0
33661122/507 wwnwgbitnwdng n02be01 qL hwwn 6.78 2500 17.0
33661127/501 Uttnuiihqn (Ubinwdhgnih bwwnphnul) NO2BB02 q< huitn 34.7 10000 347.0
33661135/503 Uphnwgnjwy n05cd08 G huin 511 300 153.3
33661185/501 Ytitnnpnqwly (Yewnnpnwlh wpndbunwdng) L hwun 89 1500 133.5
33691112/505 dbinpnuhnwgny a0lab17, d06bx01, g01af01, j01xd01, p0lab01 < hwwn 212 2500 530.0
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33691112/506 dbwnpnuhnwgn) adlabl7, d06bx01, g01af01, j01xd01, pOl1abO1 QL hwn 5.02 800 4.0
33691112/508 dkinpnuhnwqny a0labl17, d06bx01, g01af01, j01xd01, p01ab0i QL hwin 1600 150 240.0
33691135/502 uwwnphnwh phlwppnuwwn b05xa02 9< hwin 960 20000 19200.0
33691145/501 f;;q:;l[:)ghmﬂh unypwin a06ad04, al2cc02, b05xal05, diiax05, ac huwn 0.8 3000 89.4
C
33691154/501 hnhtpunv08ab02 9L hwwn 8700 700 6090.0
33691176/576 wy)| nbnnpuyp GL hwtn 6888.8 400 2755.5
33691176/577 wyj nbnnpw)p < hwwn 333.8 5000 1669.0
33691176/578 wy| nbnnpw)p 9< hwn 77 1000 77.0
33691176/579 wy| nbnnpuyp Q<L hwn 147.85 2000 295.7
33691176/580 w)] nbnnpuyp QL hwin 1388.8 1500 2083.2
33691176/581 wy| nbinnpwyp 9L hwin 1857 150 278.6
33691176/582 wij| npnnpuwp Q<L hwn 89 2100 186.9
33691202/502 buwidghjwn - BO2BX01 QL hwwn 154 15000 2310.0
33691202/503 Eunwidghjwn - BO2BX01 Q<L hwwn 34.8 6000 208.8
33691226/507 wpwidwnni (npwdwngnih bhnpnpinphn)-NO2AX02 q< hwin 17 100 1.7
33691226/508 inpwiwnng (inpwidwnnih bhnpnpinphn)-NO2AX02 9L hwn 56.7 200 11.3
33691226/509 unpwidwnng (npwdwnih hhnpnpinphn)-N02AX02 QL hwiwn 154 1500 231.0
33621290/503 bwhubdpht (wnpbuwihu) a0lad01, b02bc09, cOlca24, rOlaal4, ac Ktk 94 1000 04.0
r03aa01, s01eall
33621330/502 upybpwdhn RO7ABO2 a< hwn 152 50 7.6
33621360/502 gihgtiphy tnuhwpuwun (Uhwnpngihglipht) c01da02, c05ae01 9L huwun 660 100 66.0
33621730/501 Ybpwwwidh) c08da01 QL huwin 88 50 4.4
33651124/501 gb$unwghnhd j01dd02 9 hwn 2997 100 299.7
33651126/505 ghuunwdhght d06ax07, j01gh03, sOlaall, s02aal4, s03aa06 < huwin 67 3000 201.0
33651137/501 Jwyndhght a07aa09, j01xa01 9L hwn 1420 800 1136.0
33651224/501 dbpnupbpuwwn 101ba01, 104ax03 9L huitn 90 100 9.0
33651224/502 Ubpnunpbpuwwn 101ba01, 104ax03 QL huin 3990 100 399.0
33651224/503 Ubpnuipbipuwwn 101ba01, 104ax03 Q< huin 13999.8 600 8399.9
33651224/504 Ubpnuipbpuwn 101ba01, 104ax03 QL hwin 22500 100 2250.0
33651227/502 nuiljwppwaht 101ax04 QL hwn 2000 0.0
33651230/503 riopunnniphghts 101db01 QL hwtn 13397 200 2679.4
33651230/504 nopunnniphghts 101db01 L hwtn 5724 500 2862.0
1800 0.0
33651231/501 kinnwnghry 101cb01 Q< hwn 3150 200 5300
33651232/501 Ywppnujwinht 101xa02 G< hwn 800 0.0
33651238/502 ghln$nudutihn 101201 9 hwin 1000 0.0
33651238/503 ghlyn$nubwdhn 1012a01 qc hwn 2000 0.0
33651238/505 ghyn$nubwidhn 101aa01 G< huwtn 700 0.0
33651239/502 ghwwpwpht 101bc01 9 huwn 1999.8 300 599.9
33651239/503 ghwnwpwpht 101bc01 Q< hwn 4190 2000 8380.0
33651242/501 nnghwnwpuby 101cd02 9L hwn 300 0.0
33651243/501 wwlyhinwpuby 101cd01 QL hwin 14899.8 500 7449.9
33651245/502 gbdghunwpht 101bc05 9L hwn 6588.8 600 3953.3
33651248/503 opuwhwjwinhts 101xa03 Q<L hwwn 17499.9 800 13999.9
33651248/504 opuwihujwutht 101xa03 QL hwn 3160 100 316.0
33651251/501 Ywighnuwih $njhtwni0lcbO! q< hwtn 1000 0.0
33651256/502 ghlnuwnpht 104ad01, s01xal8 L hwn 60999.9 40 2440.0
33651312/502 dyninwipwpht QL hwn 28300 20 566.0
33661115/502 pwghywlwihu n01bb01 9L hwn 319.8 70 22.4
33661115/504 priwghywlw bt n01bb01 L hwwn 1999.8 50 100.0
33661136/503 nhwgbywd n05ba01 QL hwin 101 200 20.2
nbpuwdbpwagnt allac02, c05aa09, d07abl9, d07xb05, d10aal3,
SRERIIIAANA h02ab02, r01ad03, s016a01, s01cb01, s02ba06, s03ba01 5 it 2a80 00
33661159/501 bhuhtSphu (bbuphtdphup hhnpnpinphn) CO1CA0E L hwwn 77 150 11.6
33691133/502 Ubipwplydwl gnip v07ab QL hwun 22.9 6000 137.4
33691176/505 w)| nbnnpwp q< hwwn 15297 100 1529.7
33691176/506 wj)| nhnnpup QL hwwn 25900 90 2331.0
33691176/507 wyj| nbnnpuwp q< hwiwn 262.5 800 210.0
33691176/508 wj| npbnnpuwip L hwn 200 0.0
33691176/509 wy)| nhnnpuwjp QL hwwn 45000 350 15750.0
33691176/510 w)| nbnnpwip Q< hwwn 600 1000 600.0
33691176/514 wy| ntinnpuwyp Q< hwn 6840 500 3420.0
33691176/515 wj| nbnnpwjp 9L huwtn 8460 600 5076.0
33691176/516 wy| ntinnpuwp qc huin 13299 800 10639.2
33691280/501 ghuwwwnhti 1 dg/d) 50 dy < huwin 6800 450 3060.0
33691500/504 npwlbpuwdwppnt QL hwwn 375 1500 562.5
33691500/505 npwhbpuwdwppnt < hwin 1899 3000 5697.0
wpnwihtupnwiph hhnpopuhn. + dwqubghnuwih hhrpopuhn a02aa04
33611110/504 2022b01 g04bxO1 q< hwin 40 0.0
33611150/501 wwllypbwwnht a09a 9L huwin 500 0.0
33611180/502 |wlynnyng aOGadil g< hwin 1500 0.0
33611360/502 funjbiywigh$lipng alice GL huwiwn 300 0.0
33611370/501 phwipt allda0l q< huwn 300 0.0
33611390/502 whnhnopuhl altha0d2 9 hwwn 1000 0.0
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33611474/502 Uhdbwnhlnts < hwin 1000 0.0
33611474/503 Uhutnhlynu 9 huwin 150 0.0
33621100/502 hbiwjwpht bwwnphnid bO1ab01, c05ba03, s01xal4 QL hwin 30 0.0
33621240/501 ghwinynpuuwidhti b03ba01 L hwwn 500 0.0
33621250/501 nhputnpw b05aa05 q<L hwin 250 0.0
33621340/501 Ynbtihtu twinphndh phiugnwn NO6BCO1 QL hwin 100 0.0
33621510/501 Yuuyinnuwinhy c09aa01 Q< hwn 2000 0.0
33621620/502 uwhpnunwlwnnt ¢03da0t QL huwn 1000 0.0
33621620/504 uwhpnunjuwlwnnt c03dadl QL huwiwn 100 0.0
hhnpnlynpnhgnti a01ac03, a07ea02, c05aa0l, d07aa02, d07xa01,
s h02ab09, s01ba02, s01ch03, s02ba0t i doxn 10 00
33621690/503 Lwpdbnhing c07ag02 QL hwwn 1170 0.0
33621760/503 Fuwjwwphy c09aa02 aL hwwn 100 0.0
33621777/502 Miwpopuwpuwt 8L huwtn 252 0.0
33621783/501 unpwnpbwht nwppwn QL huwn 100 0.0
33631200/501 pinpwubituhyny, dbphjnipwgh; DO6C GL hwin 120 0.0
23631230/501 :.({)r:;{t;}anb nn d0Bag02, d09aa09, di1ac06, g0lax!1, r02aals, ac ki 70 0.0
33631290/501 hpnuypndbl c01ebl6, g02cc01, m01ae01, m02aal3 gL huwin 1000 0.0
33631290/502 hpnwypngtt cOlebl6, g02cc01, mOlae01, m02aal3 QL hwn 50 0.0
33631310/502 nhiyn$buwy dilax18, m01ab05, m02aal5, s01bc03 Q<L hwwn 150 0.0
33631310/503 nhlnbbuwl dilax18, m01ab05, m02aal5, s01bc03 QL hwn 200 0.0
33631350/501 whwblnipnuhnwh ppndhn m03ac06 QL hwn 75 0.0
33631360/501 unipuwdbipnuhnd m03ab01 QL hwn 200 0.0
33631460/501 "Hipuwwlpbung DO3AX03,R01AX10 QL hwtn 50 0.0
Pwnwdbpwgnu (pinwdbpwgnuh nhupnyhnuwn),
SSeInETE ynuinphdwany, ghtnwdhght (qhunwdhghth uny$uwn) DO7CCO1 < huitn 10 o
33642220/503 Ubphwpbnuhgninu d07aa01, d10aa02, h02ab04 9L hwtn 500 0.0
33642220/504 Ubphjwpbnuhgninu d07aa01, d10aa02, h02ab04 s hwin 10 0.0
33642220/505 Ubphjwpbintihgninu d07aa01, d10aa02, h02ab04 Q<L hwn 10 0.0
33642250/503 Untinbjniljwuwn q< hwin 150 0.0
33651117/501 gb$hpuhd j01dd08 QL hwin 1000 0.0
33651128/501 Upwinpnnipwunniht j01xe01 QL hwn 200 0.0
33651134/503 ghwnnjopuwighti j01ma02, s01ae03, s02aal5, s03aa07 < hwuwn 300 0.0
33651134/504 ghwpnopuwighti j01ma02, s01ae03, s02aals, s03aa07 L hwun 30 0.0
33651148/501 nuiphdwgny a0lab18, d01acO1, g01af02 QL hwwn 10 0.0
33651148/502 Ynuiphdwgny a0lab18, d01acO1, g01af02 9L hwwn 10 0.0
33651149/501 Uputnwnhti a07aa02, d01aa01, g01aa0l G< hww 6000 0.0
33651195/501 dwipnnt unpdwj hdntunginpnight j06ba QL hun 50 0.0
33651280/503 up$nipopuwghn AO7AX03 QL husn 1000 0.0
33651280/505 up$nipopuwghn AO7AX03 QL huwwn 70 0.0
33661110/501 hgnbinipwt n01ab06 QL hwn 10 0.0
33661113/501 rhnwbkuwnw) n01af03, n05¢al9 Q<L hwn 100 0.0
33661122/501 wwpwghnwdng n02be0] QL hwn 400 0.0
33661122/504 wwpghnwdng n02be01 QL huwwn 50 0.0
33661128/501 LGuwppuiiwqbuht n03afo! q< hwtn 1000 0.0
33661137/501 Inpwgbuwd n05ba06 9< hwtn 100 0.0
33661147/502 Ubnuwnhguhtt n07aa01, s01eb06 QL huwiwn 150 0.0
33661149/501 wgbwnwgnjuidhns0lecOl 9L huwin 300 0.0
33661170/502 Mpnlywipts (wpnbuihth hhpnpinphry) NOTBAO2 < huin 100 0.0
33661181/502 Ulin$ynipuwi Q< hwin 15 0.0
33661183/502 ghuwwpwlniphnd (ghuwwpwyniphnd plighjwuwn) QL hwn 100 0.0
33671113/502 uwpnunwdny r03ac02 Q<L hwn 400 0.0
33671113/503 uwpnunwdng r03ac02 Q< hwn 15 0.0
33671116/504 pupjndbtnwgnih rO1aa07, r01ab06, s01ga03 L hwwn 10 0.0
33671116/505 puhnibitnwgnihu r0iaa07, r01ab06, s01ga03 L huwin 100 0.0
33671124/502 innppwiihght, npuwdbipugnt SO1CAO! < hwn 50 0.0
hupwinpnwhnuh ppndhn (hwpwinpnwhnwh ppndhnh
R el dnunhhnpwun), $huinnbpng (Sbunnbpnih hhnpnppndhn) i i 9 i
33691112/504 dbinpnuhnwany a0labl7, d06bx01, g01af01, j01xd01, p01ab01 L hwtn 30 0.0
33691112/507 Ubwnpnuhnwgny a0labl?, d06bx01, g01af01, j01xd01, p01ab01 q< hwun 20 0.0
33691136/503 twwnphnuwh pinphr al2ca01, b05cb01, b05xa03 9L huwin 50 0.0
33691176/517 wy| nbnnpwyp G huwin 40 0.0
33691176/518 wyl nbnnpwp qq huiwn 10 0.0
33691176/519 wy| nbnnpw)p L hwwn 10 0.0
33691176/521 wy| nbnnpw)p QL huwin 150 0.0
33691176/524 wy| phnnpuwyp 9< husn 5 0.0
33691176/526 w)| nhnnpwp QL huwin 4 0.0
33691176/527 wy| nhnnpw)p < hwn 100 0.0
33691176/529 w)| nbnnpwjp 9L huwwn 100 0.0
33691176/530 wy| nbnnpwp q< huwin 170 0.0
33691176/559 Wi nennpuwp < hwtn 20 0.0
33691176/560 wyj| nbnnpuwp QL hwn 300 0.0
33691176/561 wj| nbnnpuwip QL hwn 10 0.0
33691176/583 wy| nannpuwp < hwn 560 0.0
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33691191/503 bnudnjhwhnubp (fubughw)-ESL A0SC 9< huwin 280 0.0
33691198/504 wntdbinhnupl - A16AA02 q< hwun 1500 0.0
33691199/501 uhihdwppu - AOSBAO3 QL hwtn 5000 0.0
33691200/501 ubinghnubip A,B - AOBABO6 pnwwlwt dwgudwl ntn 9< hwin 1000 0.0
33691201/501 Yuinywiuninh ngbpnipd - NOSCMO9 prwwlwt swqldwl nbn 9 hwin 100 0.0
33691212/502 nhnudht, hbuwbphnhu-CO5CAS3 L hwtn 120 0.0
33691223/501 Lwnpnywphtb Yuighnuwiwlwu wn- BOTABO6 9 hwin 100 0.0
33691223/502 uwnpnwwphup Yuyghnuiwlwu wn- BO1ABO6 9L hwn 100 0.0
33691231/503 lywighnwih Yuppntwwn, junjawgh$lipng A12AX L hwin 2000 0.0
33691236/502 g‘gz::*gg‘”dh“ AanprsdinpusEn breponann ROGACES, a< hutn 500 0.0
33691600/501 |-twnhpwgbinwd 9L hwin 1000 0.0
33691730/503 tpYueh hhnpopuhnh Ripunpwwiht huidwihn BO3AC Q< hwin 200 0.0
9L hwiwn 0.0
jwpnpwinnp b phdhwlwh wqnuiynipbp (nkwqbuwntbp)
33141211/689 pdoljwiliust wy| gnpdhpubip — wwpuwgquwbp q< huwin 84000 4 336.0
33141223/529 pdolwiljwt wy| gnpdhpubip — wwpwqwbp pwqiwlndynubln L nwljwgd 40000 60 2400.0
33141223/530 pdoljwljwt w)) gnpdhpubp — wWwpwquwutp puqiwlndynubun Qg Inwlwqd 39999 2 80.0
33141223/531 pcholjwlwt w) gnpdhpubn — wwpwguwutp puquwlndynubin G< (g 39999 2 80.0
33141223/532 pdalwlw wy gnpdhpubin — wwpwgqutibp puqiulnduntbn Qg [nwlwgd 849999 2 1700.0
33141223/533 pdowljwt wy| gnpdhplibp — wwpwquubn puqiwlndwnubun Q< Inwlwgqd 240000 2 480.0
33691162/1136 [wpnpwwnnp wgnwniebp (nbwgblnubn) L hwn 72999 2 146.0
33691162/1137 Jwpnpwnnp wgnwniehp (nbwgblnubin) <L hwwn 51999 2 104.0
33691162/1138 \wpnpwinnp wgnuwuniehp (nbwgbtnutn) q< hwn 63999 4 256.0
33691162/1139 Jwpnpwnnp wgnwniplp (nbwgbtnutng < hwn 89000 80 7120.0
33691162/1140 |wpnpwinnp wqnwiyniphp (nbwgbntbp) QL hwn 130000 80 10400.0
336911621141 |wpnpwnnp wqnwynipbp (nbwgbnttbp) 9L hwun 50000 80 4000.0
33691162/1142 |wpnpwinnp wgnuwiynipbp (nbwgbunubp) QL hwin 59000 80 4720.0
33691162/1143 |wpnpwnnp wqnutynpbp (nbwgblinlbn) q< hwun 138999 2 278.0
33691162/1144 [wpnpwwnnp wanwuniphp (nbwgbtnbn) q< huwn 91999 4 368.0
33691162/1145 Jwpnpwwnnp wgnwjnyskp (nbwgblnlbp) < hwin 67998 2 136.0
33691162/1146 |wpnpwwnnp wgnwuniphbp (nbwgblnubn) G< huwwn 104000 3 312.0
33691162/1147 jwpnpuwwnnp wgnwiyniphbp (nbhwgbunubp) QL huwiwn 64999 5 325.0
33691162/1148 |wpnpwinnp wgnwuniphp (nbwgblnubn) QL huwwn 61999 4 248.0
33691162/1149 |wphpwinnp wanwuniphbp (nbwgblntbn) QL huitn 798000 4 3192.0
33691162/1150 Jwpnpuwitnnp wgnunyetp (nbwgbunubp) Q<L huwn 60000 3 180.0
33691162/1151 jwpnpwinnp wgnwnyebp (nbwgbunubp) QL hwiwn 84999 2 170.0
33691162/1152 |wpnpwitnnp wgnwuniphp (nbwgblnubp) QL hwn 84999 2 170.0
33691162/1153 {wpnpwinnp wgnwunipbp (nbwgblnubn) Q< hwn 84999 2 170.0
33691162/1154 jwphpwinnp wgnwnebp (nbwgbunubn) QL hwwn 33075 2 66.2
33691162/1155 |wpnpwinnp wgnuupmiphp (nbwgblnubn) Q<L hwn 84000 2 168.0
33691420/639 (wpnpwnnp wanwnypbp (nbwqbntbp) pwqdwyndyntbtn G (g 69000 1 69.0
33691420/640 |wpnpwunnp warpwtynebn (nhwgbunubn) puquiwlnduntbiin Q< Inwlwuqy 42000 3 126.0
33691420/641 (wpnpwinnp warpubynipbp (nhwgbnubn) puquwynduntitiin QL [nwljwqd 69000 3 207.0
33691420/642 {wpnpwnnp wqnwunpbp (ntwgblnutn) puqduyndwnubun G< [nwlwqd 69000 3 207.0
33691420/643 |wpnpwinnp wagnwunptp (ntwgbbnutn) puqiwlndunubn QL (nwiljuqa 40000 3 120.0
33691420/644 [wpnpwwnnp wanuwiynyebin (nhiwgbtnubin) pugiwyndwntbln Q< [nwlwuqu 108000 2 216.0
33691420/645 |wpnpwwnnp wanuwiynebp (nEwgblntibp) pugiwyndynubun QL Inuwiljugy 214998 2 430.0
33691420/646 |wpnpwwinp wqrwbynetp (nbwgblnlbp) puguwyndynubun q< Inuwljwgy 36999 2 74.0
33691420/647 [wpnpwwnnp warwnipbp (nbwgblnlbn) pugquuyndynubun q< Inwluqd 33000 2 66.0
33691420/648 wpnptnnp warwniptp (nbwgblnlbn) puquwyndynubun QL (pulugad 639000 5 345.0
33691420/649 {wpnpwinnp wanwtnebp (nbwgbunubn) puquwndwnutiun Q<L (nwljwgd 32499 5 162.5
33691420/650 (wpnpuwnnp wgnwiynyebn (nbwgbtntibn) puqdwlndyntbln aL |nwlwuqd 32499 5 162.5
33691420/651 Jwpnpwnnp wanuitgneln (nbwgbinubn) puqdwlnduntibun Q< Inwluqu 42000 2 84.0
33691420/652 (wpnpunnp wqnwnipbp (nbwgbtnttbn) puqdwlnduntibbn q< [nuwljwigd 42000 2 84.0
33691420/653 (wpnpwwnnp warutyngetbp (nBwgbtnttin) pwqdwyndynubun q< Inwljwgd 55998 2 112.0
33691420/654 [wpnpwnnp wnwiymptn (nbwgbtntibp) pugquwyndwnubun q< Inwluqy 76998 2 154.0
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33691420/655 \wpnpwnnp wanwnipbp (nBwgEunlbn) puquwlndynubun 4L Inwluwgu 42000 5 210.0
33691420/656 |wpnpwinnp wqnwunpbp (nbwgblnubn) puquwlniynubiun QL Inwluqd 47000 3 141.0
33691420/657 |wenpwinnn wanwbynipbn (nbwgbunubn) puquwyndynubtn G Inwlwqu 42000 2 84.0
33691420/658 (wpnpwinnp wanunipbp (nbwgblnubn) puquwyndwnubun RIS [nwlwqd 104000 3 312.0
33691420/659 Jwpnpwiinnp wanwuniphp (nbwgbunutn) puqdwyndwntbiun QL \nwljwqd 202000 3 606.0
33691420/660 \wpnpwinnp wanwuniebn (ntwgbunutn) puquwyndwyntbiun QL \pwlugd 202000 3 606.0
33691420/661 \wpnpwinnp wanwunipbp (ntwgbunutn) puqiwndwynubun QL (nwlugd 35499 2 71.0
33691420/662 |wpnpwinnp wanwunipbp (nbwgbunutn) puquwyndwntbun QL Inuwljuqu 103998 2 208.0
33691420/663 (wpnpwnnp warwniebp (nbwgbuntbn) puquwlndynubn QL [nwlwqud 58998 2 118.0
33691420/664 Lwpnpuwinnp wgnuwnyztn (nbwgbunubn) pwquwyndyntbun < (nwluqy 354999 4 1420.0
33691420/665 |wpnpwitnnp wgnwunipbn (nbwgbtnubn) puquwyndwnttun 9L [nwlwqu 99999 2 200.0
33691420/666 lwpnpwnnp wqnuniehbp (nbwgbunubn) puquwlndwnubun QL \pwilugd 63000 2 126.0
33691420/667 \wpnpwnnp wgnugnyebp (nbwgbuinubn) pugdwyndynubun Q<L (nwiljuqd 32000 60 1920.0
33691420/668 |wpnpwiinnp wqnuumebp (nbwgblnubn) puqiwlndunubun Q< [nwljwqd 32499 10 325.0
33691162/1156 \wpnpwnnp wanwuniphp (nbwgblnubn) Q<L hwin 470 200 94.0
33691162/1157 (wpnpwnnp wgnwgnyebp (nbwgbunubp) QL hwin 470 200 94.0
33691162/1158 |wpnpwwnnp wgnwunebp (nbwabunubp) L hwn 700 200 140.0
33691162/1159 |wpnpwinnp wgnwuniphp (nbwgbunutn) Q< hwwn 1980 10 217.8
33691162/1160 |{wpnpwinnp wgnwniebp (nbwgbtnubn) QL hwn 1650 100 165.0
33691162/1161 Jwpnpwinnp wgnuwuniehp (nbwgblnubn) QL hwn 900 230 207.0
33691162/1162 {wpnpwwnnp wgnwnpbp (nbwgbunutp) Q< hwin 5280 20 105.6
33691162/1163 {wpnpwiinnp wgnwuniphp (nbwgbtinutn) L hwun 2040 20 40.8
33691162/1164 |wpnpwinnp wgnwuniphp (ntwgbnutn) Q< hwwn 4600 20 92.0
33691162/1165 {wpnpwiinnp wgnwunielp (nbwgbinubn) L hwwn 1150 100 115.0
33691162/1166 Jwpnpwinnp wgnwnebp (nbwgbtnubng L hwn 2800 35 98.0
33691162/1167 |wpnpwinnp wgnwnysbp (nbwgbunubp) QL hwn 12000 30 360.0
33691162/1168 \wpnpwinnp wgnwnipbp (nbwgbunutp) < hwn 67000 10 670.0
33691162/1169 {wpnpwiinnp wgnwnyebp (nbwgblntbn) < hwwn 6600 2 13.2
33691162/1170 {wpnpwinnp wanwinyebp (nbwgblnubn) Q<L hwwn 21000 2 42.0
33691162/1171 |wpnpwwnnp wgnwnystp (nbwgbunubp) Q< hwn 30000 2 60.0
33691162/1172 (wpnpwnnp wgnwnyetn (nbwgblunttin) < hwn 15600 2 31.2
33691162/1173 (wpnpwwnnp wgnuwiynyabp (nbwgblnubp) QL hwun 35000 2 70.0
33691162/1174 (wpnpwuinp wgnuwiynysbip (nbwgbunubp) q< hwn 22800 2 45.6
33691162/1175 |wpnpwinnp wqrwiynpbp (nbwgbbntbp) <L hwin 57000 2 114.0
33691162/1176 |wipnpuwiinp wgnwtynipbp (nbwgbntbp) QL hwwn 47000 2 94.0
33691162/1177 |wpnpwinnp wgnuwtynysbip (nbwgbuwntbp) QL hwn 18000 2 36.0
33691162/1178 |wpnpwwnnp wgnutynipbp (nbwgbbwntbp) Q<L hwn 48000 2 96.0
33691162/1179 |wpnpwinnp wgnuwtynipbp (nbwgbiinttbp) L hwun 34800 2 69.6
33691162/1180 {wpnpwnnp wqnwbnpbp (nbwgbtunbbp) q< hwwn 33000 2 66.0
33691162/1181 Jwpnpwwnnp wanwgnyetip (nbwgbunubn) Q<L huwn 97000 2 194.0
33691162/1182 |wpnpwwnnp wgnwnystbp (nbwgbunubn) L hwn 2 0.0
33691162/1183 |wpnpwnnp wgnwniehp (nbwgbtinubn) < hwn 20000 2 40.0
33691162/1184 (wpnpwnnp wgnwiynysbip (nbwgbtinubp) q<L hwin 21600 2 43.2
33691162/1185 |wpnpwinnp wgnwniebp (nbwgbinutn) QL hwin 24000 2 48.0
33691420/669 (wpnpwnnp wqnwiynipbp (nbwgbtntibp) puqdwlndynubln q< (nuwljwgd 226000 :g L 343 4
1210000 20 24200.0
33691420/670 {wpnpwnnp wqrwnystin (nbwgbunubp) pugdwlndwnubuun < Inwlwqd 40 0.0
33691420/671 |wpnpwnnp wqnwtynipbp (nbwgbitnbn) pugqdwlnduynubln < Inuwiljuigd 215000 8 1720.0
33691420/672 |wpnpwwnnp wqnwnyekin (nbwgbitnbn) puglwyndwnublon q< IPwlwgd 151200 4 604.8
33691420/673 (wpnpwunp warwtynietp (nbwgbtnlbp) puguuyndynubun q< Inwlwgd 363000 1 363.0
33691420/674 (wpnpwuinp warwnietip (nbwgbinlbn) puguwyndwnubun qL Inwljuqd 175998 1 176.0
33691420/675 |wpnpuwnnp warpwbniebp (nbwgbuntbn) puquwndynubn £ 19 (nuwiljuqud 157998 1 158.0
33691420/676 \wpnpuwinnp warwgnipbp (nbwgblntbip) puquwlndynutiun Q< Inuwiljuuqd 85999 4 344.0
33691421/522 |{wpnpwinhp wanwunipbp (nbwgbnubn) hbnnly 9 Lhwnp 0.5 0.0
33691422/568 |Jwpnpwinnp wanuwitgnpbn (nbiwgbtntbp) tngh Yud gputnyubin Qg Uhingpwd 0.5 0.0
33691422/569 |{wpnpwinnp wanwbgnptp (nwgbunbbp) tingh Yud gpungubp <L Lhingpwd 1200000 0.1 120.0
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33691422/570 |wpnpwnnp wqnuwiynypbp (nbwgbtnubp) tingh Ywd gputngubp q< Yhingpuwd 1140000 0.1 114.0
33141211/690 pdolwlwl wj gnpdhpubp — wwpwgwubp QL hwwn 246000 8 1968.0
33141211/691 pdolwlwl wy gnpdhpubp — wwpwgwbp <L hwn 110300 4 441.2
33141211/692 pdolwlwl wy gnpdhplbp — wwpwgwbp L hwwn 6100 60 366.0
33141211/693 pdoljuiljuis wyj gnpdhplibp — Wwpwgwubp q< hwwn 57100 2 114.2
33141211/694 pdoljwljwits wy gnpdhplbip — wwpwgqutbp 9L hwn 2500 4 10.0
33141211/695 pdolwiljwi wyy gnpdhplibp — wwpwauwbp 94 hwin 1000000 1 1000.0
33141211/697 pdoywljwl wyj gnpdhpubp — wwpwguwbp 9L hwwn 960000 2 1920.0
33141211/698 pdolwlwl wy gnpdhpubp — wwpwgwubp L hwn 246000 6 1476.0
33141211/699 pdoljuiljwl wy gnpdhpubip — wwpwguwubp 9L hwn 1195000 2 2390.0
33141223/534 pdolwlwits wy) gnpdhpubp — wwpwqwubp pugdwlnduntbiun QL [nwlwgd 44600 6 267.6
33141223/535 pdalwlwt wy gnpdhpubip — wwpwqwubn pugdulnduntbun G nwlwqy 33300 12 399.6
33141223/536 pdoliwlwl w) gnpdhpubp — wwpwgwbp pugdulyndynubn q< [nwlwqy 648300 4 2593.2
33691162/1186 wipnpwwnnp warwtynipbip (nbwgblntbip) 9< hwin 19875 28 556.5
33691162/1187 (wpnpwinnp warwynyatip (nbwgllnubn) L hwwn 7540 75 565.5
33691162/1188 |wpnpwnnp wgnwnipbp (nbwgblnlbp) < hwin 13846 65 900.0
33691162/1189 wpnpwiwnnp wgnwynyabp (nbwgblntibp) < hwin 17143 70 1200.0
33691162/1190 jwpnpwnnp wgrwtynuyebn (nbwgbuntbn) QL huwn 14200 60 852.0
33691162/1191 |wpnpwnnp wgnwniphp (nbwgblnlbp) < hwin 16800 50 840.0
33691162/1192 {wpnpwiwnnp wgnwgngabp (nbwgblnubp) < hwin 13875 40 555.0
33691162/1193 |wphpwwnnp wgnwnipbp (nbwgbunubp) QL huwin 18750 12 225.0
33691162/1194 |wpnpwwnnp wgnwuniebp (nbwgblnbp) QL huwin 15800 60 948.0
33691162/1195 |wpnpwinnp wgnwuniphbp (nbwgbunbp) QL huitn 15800 60 948.0
33691162/1196 |wpnpwinnp wgnwunipbp (nbwgbunubn) G< huwin 20182 55 1110.0
33691162/1197 |wpnpwinnp wgnwuniphbp (nbwgbunubp) G hwin 32000 3 96.0
33691162/1198 |wpnpwinnp wagnwuniphbp (nbwgbunubn) QL huwin 14357 7 100.5
33691162/1199 jwpnpuwinnp wagnwnetip (nbwgbunbp) < huwitn 31417 18 565.5
33691162/1200 Jwpnpwnnp wgnwuniehp (nbwgbunubp) QL huitn 139113 75 10433.5
33691162/1201 {wpnpwnnp wgnwniphp (nbwgbtinubn) QL hwn 11645 55 640.5
33691162/1202 (wpnpwinnp wgnwnebp (nbwgbtinutbip) QL huwin 46900 55 2579.5
33691162/1203 |wpnpwinnp wgnwtynipbp (nbwgbuubp) QL hwn 15000 10 150.0
33691162/1204 |wpnpwnnp wgnuwyngebp (nbwgbunutbip) Q< hwn 93900 6 563.4
33691162/1205 |wpnpwwnnp wgnwtynysbp (nbwgbunubp) L hwwn 14675 60 880.5
33691162/1206 |wpnpwnnp wqnutynpbp (nbwgbnlbp) QL hwn 5308 65 345.0
33691162/1207 |wipnpuwnnp wgnuwiynypbp (nbwgbnubip) < hwn 13333 45 600.0
33691162/1208 [wpRpwnnn wanwbnpbp (nhwqblntbn) q< hwin 27300 70 1911.0
33691162/1209 |wpnpwnnp wgnwiynyshp (nbwgbtntbp) L hwun 8375 12 100.5
33691162/1210 |wpnpwwnnp wqnuiynysbp (nbwgbntbp) QL hwwn 40000 5 200.0
33691162/1211 |wpnpwinnp wqnuwtynyphp (nbwgbnlbn) Q<L hwin 27500 8 220.0
33691162/1212 |wpnpwinnp wgnwitynysbp (nbwgbtiunubp) L hwwn 26700 15 400.5
33691162/1213 |wpnpwinnp wqnuwtynyabp (nbwgbtnlbn) < hwuwn 15750 2 31.5
33691162/1214 |wpnpwwnnp wgnuwiympetp (nbwgblntibip) Q< hwwn 25875 2 51.8
33691162/1215 |wpnpwwnnp wgnuwtynipbp (nbwgblinlbn) Q< hwin 20500 7 143.5
33691162/1216 |wpnpwinnp wqnityniphp (nbwgbbnlbp) < hwuwn 18370 15 275.6
33691162/1217 jwpnpwinnp wgnwtynyebp (nbwgbntbn) Q< hwun 10125 i 40.5
33691162/1218 {wpnpwnn wqnuwlniphbp (nhwgblnbbn) q< hwin 43600 3 130.8
33691162/1219 jwpnpwinnp wgnwtynypbp (nbwgbuntbn) < hwn 77400 1 77.4
33691162/1220 |wpnpwwnp wgnutnyebip (nbwgbuntbn) QL hwn 50500 4 202.0
33691162/1221 |wpnpwinnp wanutynphp (nbwgblnlbn) < hwn 40100 6 240.6
33691162/1222 (wpnpwwninp wqnwiympetp (nbwgbtntbp) L hwwn 133100 6 798.6
33691162/1223 |wpnpwinnp wanwunipbp (nbwgblnbn) < hwn 263400 6 1580.4
33691162/1224 |wpnpwwnnp wqnunyskp (nbwgblnlbn) L hwwn 329400 6 1976.4
33691162/1225 wpnpwiwnnp warnwbynebp (nbwgbtintbp) <L hwwn 159900 16 2558.4
33691162/1226 |wphpwinnp wanwuniphbp (nbwgblnlbn) QL hwn 138600 8 1108.8
33691162/1227 |wpnpwinnp wgnwuniphp (nbwgblnbn) L huwn 120800 8 966.4
33691162/1228 Jwpnpwwnnp wanwiyniebp (nbwgblinlbp) L hwwn 124400 8 995.2
33691162/1229 jwpnpuND wqnubnipbp (nbwgbtnlbp) q< hww 172400 72 12412.8
336911621230 jwpnpuwitnnp wynwlynystip (nbwgbnubp) QL hwwn 15100 6 90.6
33691162/1231 \wpnpuwitnnp wanwnetp (nbwgbunubp) QL hwiun 24720 2 49.4
33691162/1232 |wpnpuwitnnp wanwuniphp (nbwgblnbp) QL hwin 22500 2 45.0
33691162/1233 |wpnpwinnp wgnwuniphbp (nbwgbunubn) QL hwn 41550 10 415.5
33691162/1234 |{wpnpwinnp wgnunebp (nbwgbunubp) QL hwwn 66000 5 330.0
33691162/1235 (wpnpwwnnp wanwiynyebp (nbwgbunubp) QL hwwn 38000 15 570.0
33691162/1236 (wpnpuwnnp wgnwynebp (nbwgbnubp) L hwtn 67000 1 67.0
33691162/1237 jwpnpwwnnp wgnuwuniehp (nbwgbtunubng QL hwin 115000 4 460.0
33691162/1238 (wpnpwwnnp wgrputympbp (nbwgbtntibp) QL hwn 73000 8 584.0
33691162/1239 |wpnpwinnp wgrwnyatip (nbwgbunbp) q< hwn 250000 50 12500.0
33691162/1240 |wpnpwnnp wgnwiynetp (nbwgblntibip) < hwwn 100000 1 100.0
33691162/1241 |wpnpwnnp wguwtynstip (nbwgbnbibin) < hwuwn 58000 3 174.0
33691162/1242 |wpnpwwnnp wgnuwunyebip (nbwgbunlbp) < hwwn 58000 10 580.0
33691162/1244 |wpnpwwnnp wgnwnipbp (nbwgblntbn) < hwwn 27000 8 216.0
33691162/1245 |wpnpwnnp wanniphp (nbwgbbnbp) qL hwtn 40000 5 200.0
33691162/1246 |wpnpwinnp wanunipbp (nbwgblnbp) 9L hwin 103000 2 206.0
33691162/1247 wpnpwnnp warwlnipbp (nbwgblntbp) Q< huwin 29000 12 348.0
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33691162/1248 |wpnpwwnnp wqnutynyship (nbwgbnlbp) L hwin 18000 40 720.0
33691162/1249 jwpnpwinnp wgnwiynypbp (nbwgbuntbp) QL huwin 18000 40 720.0
33691162/1250 |wpnpwnnp wqnuwinietp (nbwgblntbip) G hun 86000 4 344.0
336911621251 jwpnpwiwnnp wgrnwiynyebip (nbwgbtinubp) q<L hwin 53000 7 371.0
33691162/1252 (wpnpwiinnp wqnwiyniabip (nbwabtunubn) G hwin 77000 9 693.0
33691162/1253 |wpnpwwnnp wgnwiynipbp (nbwgbwntbip) QL hwn 40000 9 360.0
33691162/1254 [wpnpwwnp wqrwigniabip (nbwgblnutp) GL hwn 20000 15 300.0
33691162/1255 (wpnpwnnp wanwiynuabp (nbwgbtntiin) 9L hwtn 21000 6 126.0
33691162/1256 |wpnpwnnp wgnwnyebp (nbwgbunubp) q< huwin 165000 3 495.0
33691162/1257 [wpnpwinnp wgnwiynyebp (nbwgbuwnutbp) QL hun 89000 3 267.0
33691162/1258 wpnpwnnp wgrwtynyebp (nbwgbtntbp) QL hwn 21000 4 84.0
33691162/1259 |wpnpwnnp wqnwignpbp (nbwgbnubp) q<L hwn 36000 1 36.0
33691162/1260 [wpnpwinnp wgnwiynyebp (nbwgbuwnubp) QL hwin 67000 1 67.0
33691162/1261 (wpnpwunnp wgrnwtynebn (nbwgbbntbp) < hwun 157000 2 314.0
33691162/1262 |wpnpwinnp wqnwunipbp (nbwgbuntbin Q<L hwn 170000 1 170.0
33691162/1263 wpnpwnnp wqruwiynyetip (nbwgbntbp) QL hwn 22500 1 22.5
33691162/1264 {wpnpuwinnp wgnwnyabp (nbwgbunubp) 9L huwn 40000 1 40.0
33691162/1265 |wpnpwinnp wgnwiynuehip (nbwgbnbp) < hwwn 131000 1 131.0
33691162/1266 |Wwpnpwinnp wqrutynyabp (nbwgbtntibp) 9< hwn 11000 15 165.0
33691162/1267 |wpnpwiwnnp wgnwiynyatip (nbwgbtunubp) G huwn 43000 2 86.0
33691162/1268 |wpnpwwnnp wgnwtyneshp (nbwgbtntbn) Q<L hwin 20000 60 1200.0
33691162/1269 |wpnpwinnp wqnwitynyebip (nbwgbunubp) QL hwin 4000 60 240.0
33691162/1270 |wpnpwunnp wqrutynyabp (nbwgbntbp) QL hwn 6000 5 30.0
33691162/1271 |wpnpwunp wgrpwiynyabp (nbwgblntibp) QL hwtn 8000 2 16.0
33691162/1272 |wpnpwnnp warwtynyabp (nBwgblnubn) QL hwn 17000 35 595.0
33691162/1273 |wpnpwwnp wgrputynyatp (nbwgblntbp) q< hwtn 277000 1 277.0
33691420/677 |wpnpwwnnp wgnwiynyetbn (nbwgbinubn) pugdwyndwnubun QL nwijugqd 44100 1 44.1
33691420/678 (wpnpwwnnp warnwiynyebin (nbwgbtnubn) pugqdwiyndynubun QL nwiljugd 21400 4 85.6
33691420/679 (wpnpwnnp wqrwiynyebn (nbwgbiinubn) pugdwyndunubun Q< Inwluqu 47800 6 286.8
33691420/680 |wpnpwwnnp wgrwtynyebn (nbwgbtiinubn) pugiwyndwnubn q< Inwluqy 42500 12 510.0
33691420/681 (wpnpwwnnp wanwiynyabin (nbwgbinubn) pugduyndwnubun q< [nwlwqu 21700 6 130.2
33691420/682 |wpnpwwnnp wanutgniebp (nbwgbtntbn) puqdwlynduyntbun < Inwluigd 114900 8 919.2
33691420/683 wipnpwwnp wgrputynyabn (nBwgbtunibn) pugdwlyndynubln g [nuiljwgy 46875 4 187.5
33691420/684 |wpnpwwnnp wqnwnyebn (nbwgbbnubn) pugqdwynduyntbln 9< nwljugu 185200 8 1481.6
33691420/685 |wpnpwuinp warwiynetp (nbwgbtntibp) pugdulyndynubun q< Inwlwgd 185200 8 1481.6
33691420/686 [wpnpwwnnp wanwiynyebn (nkwgbtiinubn) pugdwyndwnubn Q< Inwlqu 37500 8 300.0
33691420/687 |wpnpwwnnp wqrwtynyebn (nbwgbtintibin) pugiwyndwnubin q< Inwlugy 19568 22 430.5
33691420/688 (wpnpwwnnp wrwiynyabn (nbwgbtintbn) pugduyndwnubun q< nwljugy 35250 2 70.5
33691420/689 (wpnpwwnnp wqruwtynyetp (nbwgbtnbibin) pugquulyndynubun Q< [nwijgy 270000 5 1350.0
33691420/690 (wpnpwwnnp warwtympetp (nbwgbtntiin) pugduindynubun q< Inuwljwgd 22500 5 112.5
33691420/691 (wpnpwnp wqnuwtympbp (nbwgbtntibp) puglulndynubun q< nwluugy 57300 3 171.9
33691420/692 (wpnpwwnnp wqnwiynyebn (nbwgbtinubn) pwgqdwyndynubun 9< [nwiljugu 50600 3 151.8
33691420/693 |wpnpwnnp wqnuwiyniebp (nbwgblntibip) puqiwyndynubun q< Inwlwqy 50600 3 151.8
33691420/694 |wpnpwwnnp wqnuwgnyebin (nbwgbnbp) pugdwynduntbln q< [nwljwgd 65600 40 2624.0
33691420/695 |wpnpwnnp wqnuwtynyebip (nbwgbnlbn) pugqdwlyndwynublun Q< nwljwgy 72500 3 217.5
33691420/696 |wpnpwwnnp wqnwnyebp (nGwgblnubn) pugqdwlyndwynubln q< (nuwljwgd 72500 3 27.5
33691420/697 (wpnpwwnnp warwbnieptp (nbwgbunlbp) puglwyndyntbun q< nwlwgd 72500 3 217.5
33691420/698 (wpnpwwnp warwyniebp (nbwgblnlbp) puguuyndwnubun 9< Inwlwqu 52100 4 208.4
33691420/699 [wpnpwuinp warwlyniebp (nbwgblnlbn) puquwlndynubun G IPwlwqud 67500 2 135.0
33141211/700 pdoliwlw wy gnpdhpubin — wwpwaqwubip 9L huwin 44000 1 44.0
33141211/701 pdoljwilput wy gnpdhplbip — wwpwgquiubip QL hwwn 261 1000 261.0
33141211/702 pdolwlwt wy gnpdhpubp — wwpwquitbp QL hwwn 21000 20 420.0
33141223/537 pdalwiljwt wy| gnpdhpubin — wwpwqwbn puqiwyndwnubiun G Inuwiljuqu 45600 40 1824.0
33141223/538 pdoljwljw w)) gnpshpubn — Wwpwquiutin puquwlndwnubln Qg [Nl 46300 20 926.0
33141223/539 pdolwluts wy gnpdhpubp — wWwpwquwubn pugiwlymniynubun Q< Inwljwqud 24400 2 48.8
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33691160/559 phipwlwl wgnwiynipbp (nBwgbntting Q< hwn 111600 40 4464.0
33691160/560 phuhwlywl wgnuwlnyatip (nbwgkuwnutin) 9< hwin 79200 40 3168.0
33691160/561 phuhwlywl wanwnuyatbp (nbwgkunutn) QL huwin 252000 40 10080.0
33691160/562 phihwlwl wgnwinyetip (nbwgblwnbbn) Q<L huitn 131400 40 5256.0
33691160/563 phupwlwl wanwjnietp (nbwgbnltin) Q< huwtn 67500 2 135.0
33691160/564 phupwlwl wqnwnipbp (nbwgbtnttbn) QL huwin 67500 2 135.0
33691160/565 phuhuwlwt wgnwuniebp (nGwgbunutbn) QL huin 283500 25 7087.5
33691160/566 phuhwlwl wgnwlniptip (nbwgbkuwltn 9L hwin 96300 2 192.6
33691160/567 phubwlwy wqnwnbp (nbwgbtinltn) Q<L hwiwn 96300 2 192.6
33691160/568 phipwlwt wonwlniptp (nbwgbtnbbn) 9L huiwn 239400 2 478.8
33691160/569 phihwywu wgnwnuyetip (nbwgblnubn) L huwin 490000 10 4900.0
33691160/570 phuhwlwy wgnwnyabp (nbwgblunubn) 4L hwiwn 75000 2 150.0
33691160/571 phuhwluwt wgnwunipbp (nbwgbwutn) QL hun 75000 2 150.0
33691162/1274 |wpnpwinnp wanwjnatp (nGwgbunttin 9L hwin 64320 60 3859.2
33691162/1275 jwpnpwwnnp wgnuwiynyabp (nbwgblubp) YL hwin 46000 2 92.0
33691162/1276 jwpnpwnnn wanwnebn (nbwgblwnubin) 9< hwin 55200 60 3312.0
33691162/1277 |wpnpwinnp wgnwnyskp (nbwablnubn) < hwin 43600 2 87.2
33691162/1278 |wpnpwunnp wgrptynuyabp (nbwgblnubp) < hwwn 118800 60 7128.0
33691162/1279 {wpnpwwnnp wanwinuyabip (nbwgbunubip) 9L huwin 121280 2 242.6
33691162/1280 |wpnpwiwnnp wgnwtinuyetip (nbughbtinutin) Q<L hwn 92950 60 5577.0
33691162/1281 |wpnpwinnp wgnuwinyestp (nbwgbntbing < hwn 58240 2 116.5
33691162/1282 |wpnpwunnp wgruwngebn (nbwgbtwnubn) < hwtn 69800 12 837.6
33691162/1283 |wpnpwwnnp wanwnipbn (nbwgblnubn) 9L hwn 24000 3 72.0
33691162/1284 jwpnpwwnp wgrputynyatbp (nbwgbtuntibp) q<L hwun 98500 8 788.0
33691162/1285 |wpnpwnnp wgrputynyabip (nbwgbluubp) q< hwun 25600 2 51.2
33691162/1286 |wpnpwwnnp wgnuwtynipbp (nbwgblnlbp) Q<L hwn 84000 3 252.0
33691162/1287 |wpnpwwnnp wgnwtngtin (nbwgblunubn) 4L hwtn 56560 2 113.1
33691162/1288 |wpnpwwnnn wgrnwtngetn (nbwgblnubn) 4L hwtn 84000 3 252.0
33691162/1309 wpnpwwnnn wgnwtnptn (nbwgblunubn) < huwitn 53040 2 106.1
33691162/1310 |wpnpwnnp wanuwnuyetn (nbwgbtutibp) GL huwitn 71680 40 2867.2
33691162/1311 |wipnpuwinnp wgnwynyatp (nGwgbluntbp) QL hwin 24850 3 74.6
33691162/1312 |Wwpnpuwinnp wgnwuniyebp (nbwgbuntbp) 9L hwn 49840 2 99.7
33691162/1313 |wpnpuiinnp wgnwniehp (nbwgbunlbp) L huwwn 24300 2 48.6
33691162/1314 |Wpnpwinnp wgnwunipbp (nbwgblnubn) qL hwwn 70800 2 141.6
33691162/1315 |wpnpuwnnp wgnuwlnipbn (nbwgblnubp) QL hwwn 24300 2 48.6
33691162/1316 Jwphpwnnp wgnwnyskp (nbwgblnubp) 3L huwin 66880 3 200.6
33691162/1317 Jwpnpuwnnp wgnwniptip (nbwgblntbin) QL huwin 23680 2 47.4
33691162/1318 Jwpnpuwwnnp wgnunyehp (nbwgblnubn) a< huwin 46800 8 374.4
33691162/1319 Jwpnpwiwnnp wgnwunehp (nbwgblnubp) QL huwiwn 24600 2 49.2
33691162/1320 |wpnpwnnp wgnwuniphp (nbwgblnubp) 9L huwiwn 54240 2 108.5
33691162/1321 |wpnplitnnp wgnwunyebp (nbwgblnubp) Qg hwn 24600 2 49.2
33691162/1322 |\wpnpwthnp wgnwnabp (nbwgbuwnbp) L huwitn 14240 2 28.5
33691162/1323 |wphpuwitnhp wgnwunypbp (nbwgbunubn) QL huwtn 5400 15 81.0
33691162/1324 |wpnpuwinhp wgnwunyebp (nbwgbuwnubp) SL hwtn 225000 8 1800.0
33691162/1325 (wpnpuwnnn wanwniphbn (nbwgunubp) 9< huwin 26500 2 53.0
33691162/1326 |wpnpwitnnp wanwujnyehp (nbwgblnubn) QL huwin 59760 2 119.5
33691162/1327 Jwphpwinhp wgnwujniehp (nbwgblnubn) QL hwin 349200 5 1746.0
33691162/1328 Jwpnpwwnnp wgnuuniphp (nbwgbunutn) QL hwn 36800 6 220.8
33691162/1329 |wpnpuwitnhp wgnwunyebp (nbwgbuntbp) QL hwn 81440 3 244.3
33691162/1330 |wpnpwthnn wgnwniatin (nbwgblnbp) L huiwn 24800 2 49.6
33691162/1331 |wphplitnnp wgnunyebp (nbwgbunubn) Q< huwitn 25280 2 50.6
33691162/1332 {wpnpwitnnp wgnwupnyabp (nbwgbUnubn) QL huwin 216554 20 43311
33691162/1333 Jwpnpwnnp wgnuunehp (nbwgblnubn) Q< hwiwn 264410 20 5288.2
33691162/1334 Jwpnpwnnp wgnwpnehp (nbwgbnbn) 9L huitn 357000 20 7140.0
33691162/1335 Jwpnpwinnp wgnwpniehbp (nbwgbunubn) 9< hwin 239198 20 4784.0
33691400/563 phuhwlwt wgnwiynyebp (hhwgbtnbbn) puguwlndwnlbun Q< (nwljuq 96300 2 192.6
33691400/564 phupwlwt wgrwtympbp (nbwgbuntbp) puqdulndynubun Q< (nwiljuwqd 96300 2 192.6
33691400/565 phuhwljwl wqnuynyetip (nbwgblnbbn) pwgdwlndwnubun QL (nwlwqu 108000 2 216.0
33691400/566 phuhwlwl wgrputynpbp (nbwgbntbn) pugdulndynubun Qg [nwlwqd 96300 2 192.6
33691400/567 phupwljw wgnuwynyebp (hhwgbbnlbn) puguwlndynubiun 9L [nwluqy 121500 2 243.0
33691400/568 phuhwlwt worwtympbp (nbwgblnlbp) puquwyndwnubun 9 nwiljuqd 121500 2 243.0
33691400/569 phupwlwt wanwtympbp (nbwgbunlbn) puquwyndynubn Q<L Inwlwqd 106200 12 1274.4
33691400/570 phupwlwt wanwtymptp (nbwgbtnbibp) pugquwyndynubun < Ny 45630 12 547.6
33691400/571 phupwlwt worpwbyniepbp (nbwgbtnlbp) puquwyndwnubn < [nwljugqy 139500 25 3487.5
33691400/572 phupwlwl wonwlmnipbp (nbwgbunubn) puquwndynutiun q< g 50000 6 300.0
33691400/573 phipwlwu wanwunpbp (nbugblnubn) pugqiwlyndwynubiun QL Inwlwqu 95400 25 2385.0
33691420/700 |wpnpwwnnp warwiynebp (nbwgblntibip) puguuyndynubun q< Inwlugy 26800 40 1072.0
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33691420/701 |wpnpwinnp wanwuniehbp (nbwgbinubn) puquiwyndwyntbun Q< (g 26800 40 1072.0
33691420/702 (wpnpwwnp wgrwbymptp (nbwgbunubnp) puquwyndynubun 9L (nwilugd 17120 1 17.1
33691420/703 (wpnpwwnnp warwnietp (nbwgbunlbn) pugqiwyndynubn QL (nwiljuqu 59760 2 119.5
33691420/704 [wpnpwnp wanwniptn (nbwgbnttn) puqiwlyndynubln 9< (nwiljuqu 174640 2 349.3
33691420/705 |Jwpnpwnnp wgnuuniebp (nbwgbunutn) puquwlndwnubln Q< [Pwjuig 119520 2 239.0
33141211/703 pdolwlwt wy gnpdhplbip — wwpwaguitibp QL hun 80000 1 80.0
33141211/704 pdaljwljwt wy gnpdhplbin — wwpwaubp < hwin 1230000 1 1230.0
33141211/705 pdoljwluw wy gnpdhpubip — wwpwgwubip QL huwin 215000 1 215.0
33141211/706 ndoljwluwit wy gnpdhpubin — wwpwgwubp QL huwin 215000 1 215.0
33141211/707 pdolwljwl wy| gnpdhplbip — wwpwguwlbp < hwin 90000 1 90.0
33141211/708 peolwljwi wy gnpdhplbip — wwpwgquwbp qL hwin 69000 1 69.0
33141211/709 pdolwlwl wy) gnpdhpubip — wwpwgwbip < hwn 13000 1 13.0
33141223/540 pdolwlwl wj gnpdhpubip - wWwpwgwbp puqluynduntbtin < (nuljuqu 960000 18 17280.0
33141223/541 pdolwlwl wy) gnpdhpubn — wwpwgwubp pugiwlndyntibun Q< [nwiljug 103122 2 206.2
33141223/542 pdolwlwl wy| grpdhplibin — wwpwgwbp pugqiuindunubiun Q< (nwljgd 108528 2 171
33141223/544 pdoljwlwl wy) gnpdhpubn — wwpwqwibp pugdwlnduyntbtim L [nwlwqy 60000 2 120.0
33691162/1336 jwpnpwnnp wgrputynyabip (nbwgbtntbp) GL hwitn 38000 3 114.0
33691162/1337 |wpnpwinnp Wwgpuwtynyatp (nbwgblntbn) 9L hwn 87700 1 87.7
33691162/1338 |wpnpwwnnp wanuwtnyabip (nbwgbtnlbn) 9L huwin 24000 1 24.0
33691400/574 phuhwlwt wgnwunietn (nbwgbUnubn) pugqiwyndunubin q< Inwlwuqy 190000 3 570.0
33691400/575 phihwlw wgnwuniptn (nbwgbunutn) puqdwyndyntbun 9L Inwlwuqu 95000 3 285.0
33691400/576 phihwlwu wanwunptn (nbwgblnubn) puqiwlndunubn 9< Inwluqu 17400 ? 1‘:;2
9 0.0

33691400/577 phipwlwu wanwunyebn (nbwgtunutn) puqiwlndwynubn Q< (g

37200 1 37.2
33691400/578 phuhwlwl wgnuwuynyebip (nbwgbtinutbp) puquwlndwnlbun Q<L [nwiljwqd 8 0.0
33691400/579 phupwlwt wonwiympetp (nbwgblntbip) pugquwlndynubun L [nwlugd 115000 4 460.0
33691400/580 phuhwlwt wgnuwiyniebp (nbwgbtnlbn) pugdwlndwntubun Q<L [Pwluql 1 0.0

3 0.0

33691400/581 phdhwlwl wgnwynetin (nBwgblntbn) puqdwyndynubun G< [nwlugd

53000 1 53.0
33691400/582 phipwlwt wonwtynebp (nbwgblnlbp) puguwyndynubun QL nwljugd 1 0.0
33691400/583 phupwlwt worwiyniepbp (nbwgblnlbp) pugquwyndynubun 9L Inwlwaqd 1 0.0
33691400/584 phuhwljwl wgnuwiynyebp (hhwgbbnlbn) pugdwlyndwnubun < (nuljugd 10 0.0
33691400/585 phupwlw wgnutynabip (nbwgbbnlbn) pwguwlndwnubun QL nwlwqy 446000 4 1784.0
33691400/586 phuhwlwt wanuwiynietn (nbwgbkbnubp) puwguwyndwnubun 9< Inwljwgd 189000 1 189.0
33691400/587 phupwlwt warwiympbp (nbwgbunlbp) puqiwyndwnubun QL Inwiljugqyd 145000 1 145.0
33691400/588 phipwlwt wonwmietp (nbwgbinlbn) puquwlndynubtn Q< [nwiljuqu 145000 1 145.0
33691400/589 phupwwt wanwlynpbp (nbwgbunbn) pugiwndynttiin q< nwljwgy 1 0.0
33691400/590 phipwlw wonwynpbp (nbhwgbtinubp) pugdwlndwntbun Q< Inwlwqgd 141000 1 141.0
33691400/591 phipwlwu wanuwiuynipbn (nbwgbunubp) puqiwlnuwnttiun < Inwlwqd 150000 1 150.0
33691400/592 phupwlwl wanuwtynpbp (nbwgbunubp) pwqdwlndwnttiun Q< Inwljwqu 205000 1 205.0
33691400/593 phuhwlwl waruynebp (nbwgbunubn) puqiwlnuwnttiun q< Inwlugd 180000 1 180.0
33691400/594 phuhwlwy wanuwnypbp (nhwqbtntbn) pugdwlnduyntbinm qg [nwiljugd 341000 10 3410.0
33691400/595 phupwlwl wgrutynpbp (nbwgbntbn) puqdwlniduyntbiun q< Inwlwqud 290000 2 580.0
33691400/596 phdhwlwl wanwnyebp (nhwqbtntbn) pugdwlnduyntbn 9L nwiljuqu 33800 50 1690.0
33691400/597 phihwlwu warnwunyetn (ntwgbunubp) pugdwlyndwnubiun 9< nwiljuigd 32500 2 65.0
33691400/598 phipwlwu wanwunetp (nbwgbunutn) puqiulndwynubun q< (g 88000 2 176.0
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33691400/599 phuhwlwl wanutynyebip (nbwgbunubp) puqiwlnduntibun q< Inwluqy 32500 2 65.0
33691423/502 (wpnpwnnp wyrpuynipbp (nbwgblntbin) puquwndynubun q< nwiljugd 36852 14 515.9
33691423/503 |wpnpwitnnp wgnwuniphn (nbwgblnubn) puquwyndwynubun 9< Inuiljugd 40935 16 655.0
33691423/504 |wpnpuinnp wgnwgnipln (nbwgblntbp) pwquwyndwnubun Qg nwljwqy 71400 20 1428.0
33691423/505 |wpnpwinnp wgrwunipbn (nbwgbnubn) puqiwlyndwnubun < Inwljuug 91188 18 1641.4
33691423/506 |wpnpwitnnp wnwyniptin (nbwgbtnubn) puquwyndwntbtn q< Inwlugu 76500 24 1836.0
33691423/507 |wpnpuwwnnp warwbniebp (nbwgbunlbn) puquwyndynubun 9< [nwlwqd 121992 24 2927.8
33691423/508 (wpnpwnnp warwgnipbn (nbwgiunlbn) puquwlndynubun G< Inwlwqd 44000 2 88.0
33691423/509 |wpnpwnnp wanwuniebn (nbwgbinubn) puquwlndwnubUn < Inwijuqu 30000 5 150.0
33691423/510 Lwpnpwinnp wanwlnyetn (hbwgblnubp) puquwlndwnttln 9L Inwiwqu 255000 7 1785.0
33691423/511 |wpnpwitnnp wgnwuniehn (nbwgbinubn) puqdwyndwnubun QL Ipwiluigd 140000 7 980.0
33691423/512 |wpnpwinnp wgnwunipbp (ntwgbunutp) puqiwindwynibun QL Inwljuqud 140000 5 700.0
33691423/513 |wpnpwinnp wgnwunpbp (nbwgblnubn) puquwndynubiun Q< (nwljwaqd 85000 3 255.0
33691423/514 |wpnpwinnp wanwunpbnp (ntwgblnubn) puquwlniuynubiun QL (nwijuqd 265000 3 795.0
33691423/515 (wpnpwnnp wanwiynyebn (nbwgbnubp) puqiwyndunubiun Q< (gl 260000 16 4160.0
33691423/516 |Wpnpwnnp wgnwgnipbn (nhwgbunubn) puquwlndynubun QL [nwlqy 189000 24 4536.0
33691423/517 |\wenpwinnp warutynyebp (nbhwgbinubp) pugiwlndwyntbuv QL [nwluqd 345000 8 2760.0
33691423/518 |wpnpwnnp wqnwtynabn (nbwgbunbn) pugqdwlynduynubn q< [nwljwqd 85000 3 255.0
33691423/519 (wpnpwnnp wqnwtynipbp (nbwgbunbp) pugdwlynduynubln 9L (nwluqd 590000 5 2950.0
33691423/520 |wpnpwwnnp wanuwtgnyetin (nbwgbunubn) pwqiwyndwnubln q< (nwljuqu 93000 3 279.0
33691423/521 |wpnpwwnnp wanuwtyniebp (nbwgbunubp) puqdwyndunubln < Inwlwuqy 150000 4 600.0
33691423/522 |wpnpwnnp wanuwtynetip (nbwgblnubin) puqiwyndunublin q< [nwlwqu 627000 20 12540.0
33691423/523 |wpnpwwnnp wanuwynipbn (nbwgblntitp) puqdwlndynubln < [nwlugy 300000 4 1200.0
33691423/524 |wpnpwwnnp wqnuwtynyebp (nbwgbitnubn) pugdwlynduynubln QL Inwljwgd 258000 6 1548.0
33691423/525 |wpnpwwnp wanwiymebp (nbwgblntibp) puqdulyndynubun 9< nwiljugu 890000 4 3560.0
33691423/526 |wpnpwnnp wgnuwnipbp (nbwgbtntibp) pugdulyndynubln Q< [nwlwuqu 445000 5 2225.0
33691423/527 |wpnpwwnp wanwtynietp (nbwgbtntibp) puglwlndynubun Q< (nwlugd 225000 1 225.0
33691423/528 |wpnpwnnp wgnwiynyebin (nbwgbuinubn) puqdwyndwnubun 9< (nwljuqu 215000 3 645.0
33691423/529 |wpnpwwnnp wanwtynyabip (nbwgbtnubn) puqiwlyndwyntbun q< [nuwiljuigd 122298 1 122.3
33691423/530 |wpnpwwnnp wgnuwnyebip (nbwgblnbn) pugqdwyndwnubln Inwlwqd 108528 2 271
33691423/531 |wpnpwwinp wqrtynietp (nbwgblntbp) pugquwyndynubun 9L [pwluqu 1800000 1 1800.0
24311129/501 quitiwquil wiopquitwluwil phihwljul Yniphp 9 qpuid 20 1000 20.0
24311129/502 quiiwqui wuopguitwywu phuhwlwu Unyebp Qg - gpwd 90 160 14.4
24311129/503 quiiwgquit whopqwwlwt phuhwljwl Yjnipbin QL gpwd 15000 20 300.0
33691160/573 phipwlwt wqnwunipbn (nbwgblnubp) L hwwn 45900 80 3672.0
33691160/574 phuhwlwl wgnwynabp (nbwgblnutip) L huwtn 151200 20 3024.0
33691160/575 phipwlwl wgrnwiynyatip (nbwqbuntbn) a< hwwn 30240 20 604.8
33691160/576 phuhwlwu wgnwinysbp (nbwgbunubp) QL hwwn 129600 20 2592.0
33691160/577 phuhwywl wanuwnyebp (nbwqbnubn) L huwin 45900 140 6426.0
33691160/578 phupwlywl wanuunetp (nbwgblnubn) GL huin 22100 100 2210.0
33691160/579 phupwlwt wqnwiynptp (nGwgblwntbip) G hwin 22000 10 220.0
33691160/580 phupwlwt wgnuwtympbp (nbwgbnttip) q< huwin 21600 100 2160.0
33691160/583 phuhwlwl wqrwynyatbip (nbiwgblntbp) L huwin 12996 15 194.9
33691160/584 phuhwlwy wqruwynyatin (nbwgbunttin G hwn 340 30 10.2
33691160/585 phupwlwt wgrputympbp (nbwgblnttip) Q<L huwn 44700 40 1788.0
33691160/586 phupwlwl wanwunehp (nbwgbnlbn 9L hiuwn 76400 40 3056.0
33691160/587 phupwlywl wgnuwunphp (nbwgbtnubn) QL hwn 44500 20 890.0
33691160/588 phupwywl wgnuwnyestbp (nbwgbinubn) QL huin 39200 10 392.0
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33691160/589 phuhwlwl wgnubynyetip (ntiwgklnubp) < hwtn 42480 1 42.5
33691160/590 phuhwlwl wgnwlyniplip (nbwgbuntbp) 9< hwtin 248400 2 496.8
33691160/591 phdhwlwt wgnwuniebp (nbwgbtnbbn) < hwn 25920 30 777.6
33691160/592 phuhwlw wgnuitynietip (nbwgklunubn) <L hwin 51840 3 155.5
33691160/594 phuhwlwt wgnuiynystip (nbwgblwntbn) 9L hwin 70000 2 140.0
33691160/595 phuihwiyuwit wqnulyniebip (nbwghlntbp) G< huwtn 762300 2 1524.6
33691160/596 phuipwlwl wqnuwlinyetin (nbwgblnlbn) 9< hwn 59200 1 59.2
33691160/598 phuhwljwl wgnuityniptip (nbwqblnubp) G< hwin 93000 45 4185.0
33691160/599 phupwlwl wynuynpbp (nbwgbluntbp) 9< hwin 54000 8 432.0
33691160/600 phdhwlwy wgnwunipbp (nbwgbnubn) q< hwin 27000 156 4212.0
33691160/601 phupwlwl wanwynetip (nbiwghlnlbp) < hwtn 642000 2 1284.0
33691160/602 phupwlwl wqnuibyniptip (ntiwgblnttip < hwn 184800 5 924.0
33691160/603 phupwlwl wgnwyniphp (nlwgbuwnubp) 9L hwn 184800 5 924.0
33691160/604 phupwhwl wgnwiynipbp (nhwgbunubip) 9L hwwn 47345 30 1420.4
33691160/605 pphupwlwl wgnwuniptip (nbwgbtnubp) a< hwwn 51561 25 1289.0
33691160/606 phuhwlwl wanwuynyebp (nbwqbtnlbn) < hwwn 51561 10 515.6
33691160/607 phuhwlwu wqnuiunipbn (nbwgblnubp) QL hwn 212290 9 1910.6
33691160/608 phubwlwl wanwljnyptpn (nbwgblintbn) G< hwn 12155 2 243
33691160/609 phupwlwl wgnwlyniphp (nbwgbunubip) 9L hwin 67150 2 134.3
33691400/600 phipwlwt wqnwiynyebp (nbwgbUnubp) pugdwynduynutiun Q< [nwlwuqy 162000 15 2430.0
33691400/601 phupwlwl wanwbymnpbp (nbwgbunubp) puqdwyndwntbun q< nwlwgy 97200 15 1458.0
33691400/602 phupwljwt wqnuwuynyebp (nbwgbunubn) puqiuyndunttin < Inwlwqy 486000 15 7290.0
33691400/603 phihwlwy wqnwinyebp (nbwgbbnubn) puqiwlnduynubitn < Inwiljwgd 270000 18 4860.0
33691400/604 phupwlywl wgnwunipbp (ntwgbumutn) puqiwlndwntbun q< Inwlwgd 129600 12 1555.2
33691400/607 phuhwlwl wanutynyebp (nbwgbunubn) puqdwlnduntbn < Inwlwqu 25000 1 25.0
33691400/608 phuhwlwl wqnuwunyastip (nbwqbntbn) pugqiwlndwnlbun G< Inwlwgd 53040 1 53.0
33691400/609 phupwlwt worwtymptp (nbwgbtntibip) puqduyndynubun 9L [nwlwqd 53040 1 53.0
33691400/610 phuhwlwt wanwynehn (nhwghtntbn) pugdwlndynubln Q< (nwiljuqu 53040 1 53.0
33691400/611 phuhwlwl wqnuitynpbp (ntwgbtintibin) pugdulndynlb;n Q< (nuwiljuqud 50000 4 200.0
33691400/612 phupwlwt wanwiynetp (nbwgblnbibip) pwguwyndynubun G [nwiljwqd 36000 4 144.0
33691400/613 phuhwlwl wqnuwiynebp (nbwgbtnibp) puguulyndwnubn QL (nwiljusqd 387000 2 774.0
33691400/614 phihwlwt wgnwiynebin (nbwgbkunubn) pugqiwyndynubln Q<L (nwiljpuqu 78000 4 312.0
33691400/615 phuhwlwl wgnwtynyebp (nbwqbntbp) pugdwlndwynubun Q< (Nl 78000 4 312.0
33691400/616 phuhwlwl wanwtynyatin (nbwgbtntibn) puquwynduntibn QL (Nl 114000 4 456.0
33691400/617 phupwlwl wgnpunystip (nbwgbtuntbn) puguwlndwnibun Q< Inwilugd 114000 4 456.0
33691400/618 phupwlwt wanwiympbp (nbwgblnubp) pugquuyndynubun 9< (nuiljugu 240000 3 720.0
33691400/619 phipwlwt worwtympebp (nbwgblnubp) pugquwyndynubun Q< (gl 600000 1 600.0
33691400/620 phupwyw wonwynietp (nbwgbtntibip) puguwyndwnubun 9L (nwiljpugd 270000 3 810.0
33691400/621 phuhwlwy wgnuwynietn (nBwgbbnlbn) pwquwlyndwynubun qc (nwbjugd 210000 1 210.0
33691400/622 phuhuwljwt wqnuwnyebp (nhwgbbnlbn) pwgdwlndynubun QL Inwlwqd 16500 1 16.5
33691400/623 phupwlwt wonwiniepbp (nbwgblnlbp) puquwyndynubun q< nwiljugqd 51000 1 51.0
33691400/624 phupwwt wonwbnetp (nbwgbunlbp) puquwyndynubun 9 nwiljgd 73920 3 221.8
33691400/625 phuhwywt wgnwuniptbn (nEwgbtnubn) puqdwyndynubun 9< nwiljugqd 85000 1 85.0
33691410/503 phuhwljwu wgnuynyatip (nbwghklnlbp) hinnly Q< Lhwip 19900 7 139.3
33691410/504 phuhwlwy wqnwlynyabp (nbwgbuntbp) htnnuy L (htnp 1780 10 17.8
33691410/505 phihwlwt wgnwunietn (nbwgblnubn) hbnnly <L Lhuinp 2500 2 5.0
33691410/506 phuhwlwl wgnunyehip (nbwgqblnubnp) htnniy < thip 3500 1 3.5
33691410/508 phuhwywl wgnulynyetip (nbwqblntbp) hbnny < lhwp 1698 10 17.0
33691160/501 phuhwlwl wqnuitniptp (nbwgbtnubp Q< hwin 170100 1 170.1
33691160/502 phuhwlwl wgnuijniptp (nbwgbunubp) < hwwn 105900 7 741.3
33691160/503 phipwlwl wgnwtyniphbp (nbwgbnlbp) 9L hwwn 708000 2 1416.0
33691160/504 < huiwn 147800 2 295.6

phubwlwl wgnuiynipbp (nbwgblnubp)
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33691160/610 phuhuljwl wanwlynyetip (nbwgblnltp) < hwn 162000 5 810.0
33691160/611 phuhwljwy wqnwljnipbp (nbwqbtnltn) < hwn 205400 3 616.2

33691160/612 phuhwlwl wgnwjniebp (nbwgblnubp) <L hwn 141000 3 423.0
33691160/613 phuhwlwl wqnwlyniphp (nbwqbtnlibp) < hwin 18000 4 72.0

33691160/614 phuhwlwl wgnwyniptp (nbwgblnubn) 9L hwin 220000 12 2640.0
33691160/615 phubwljwl wqnwlynypbn (nbwqbtinlbn) QL hwin 39000 40 1560.0
33691160/616 phuhwlw wgnwiyniptp (nbwgblnbbin) < hwwn 225000 4 900.0
33691160/617 phupwljwl wanwlynystip (ntiwgbiunutip) 9L hwwn 36000 20 720.0
33691160/618 phubwlwl wanwljnipbip (nbwgblnlbn) < hwwn 137700 1 137.7

33691160/619 phuhwlwl wgnuwibjnietip (niwgbunubn) < hwwn 60000 3 180.0

33691160/620 phihwlw wgnwunipbp (nbwgbunubn) < hwwn 60000 3 180.0

33691160/621 phuhwljwl wqnwlynipbp (nbwgbtinlibn) a< hwn 495000 3 1485.0
33691160/622 phupwlwl wanwiynietin (ntwghlnubp) < hwn 480000 2 960.0
33691160/623 phubwlwl wgnwlynipbp (nbwgblnlbn) Q< hwn 415000 2 830.0
33691160/624 phihwlwu wgnwunipbp (nbwgbunubn) < hwwn 414000 2 828.0
33691160/625 phihwlywl wgnwinypbp (nbwgbunubp) 9L hwin 414000 2 828.0
33691160/626 phipwlywu wgnwunyzbp (nbwgbunubip) 9< hwiwn 415000 2 830.0
33691160/627 phuhwlwl wgnwiyniphip (nbwgblntbn) QL hwwn 485000 2 970.0
33691160/628 phihwluil wgrwiynyatip (nbwgbntibn) 9L hwwn 415000 2 830.0
33691160/629 phithwlwu wgnwnyabp (nbwgbuntbp) 9L huwtn 415000 2 830.0
33691160/630 phihwlwl wgnwiynyabp (nbwgblnubp) L hwwn 415000 2 830.0
33691160/631 phihwljwt wgnuwiynyetin (nbwgblnubp) G< hwwn 525000 2 1050.0
33691160/632 phihwlwl wgnwtynyebp (nbwgblnlbnp) S huwn 485000 2 970.0
33691160/633 phihwlwl wgnwiynyetip (nbuwgbunlbn) QL huwwn 415000 2 830.0
33691160/634 phuhuluili wqnwlnpebin (nbwgblnbbp) o< huitn 415000 2 830.0
33691160/635 phuhwlwl wgnwiynyebip (nbwgkunlbn) GL hun 445000 2 890.0
33691160/636 phihwlwb wgnwiyniebp (nbwgblnbn) Q< huwin 415000 2 830.0
33691160/637 ppupwlwt wanwiynipbp (nbwgblntbp) GL hwin 54000 8 432.0
33691160/638 phuhwlwi wqnwtynyatip (nbwgbtntibp) < hwin 165600 2 331.2

33691160/639 phuhwlw wanuwtynietp (nfwgblnubn) Q< hwwn 13000 8 104.0

33691160/640 phuhwlwl wanwlynyebip (nbwghlntbin) ac hwin 66000 2 132.0

33691160/641 phuhwlwl wgnwlynyetip (nGwgklnlbn) L hwin 22500 12 270.0
33691160/642 phuhwlw wgnwlynyetip (nbwgGlnlbn) < hwitn 55000 2 110.0

33691160/643 phuhwlwl wgnulynyetip (nbwgBlnubn) G< hwtn 152200 7 1065.4
33691160/644 phupuwljwt wqnuwnipbn (nbwgblnlbn) < hwin 490000 1 490.0
33691160/645 phupwlwy wanwnietip (nbugbtnlbn) 9< hwin 410000 1 410.0
33691160/646 phupwlwl wqnuiyniptp (nbwgbunubp) < hwn 410000 1 410.0
33691160/647 phupwlwl wgqulynipbp (nhwgblnubp) q< hwin 410000 1 410.0
33691160/648 phuhwlwl wanwiynyebip (nwgblnutp) L hwwn 410000 1 410.0
33691160/649 phihwlwu wgnwnyebp (nbwgbunutip) < hwiwn 410000 1 410.0
33691160/650 phihwlwl wanwynebp (nbugblnlbp) o< hwn 15000 12 180.0
33691160/651 phupwlwt wgnujniebip (nbwgbuntbn) < hwwn 15000 12 180.0
33691160/652 phipwlwl wynwiynyabip (nbiwgblntbn) < hwn 120000 3 360.0
33691160/654 phihwlwl wgnwnyabp (nbwgbunubp) 4L hwwn 18400 6 110.4

33691160/655 phiuhwlwu wanwunyabp (nbwgbunubp) 9L hwwn 30000 3 90.0

33691160/663 phipwlwl wgnwiynyebp (nbwgblnubp) < hwwn 360000 6 2160.0
33691160/664 phipwlwl wgnuwynebp (nbwqblnubip) GL hwwn 86600 1 86.6

33691160/665 phihwlwu wqnwunpbp (nbwgbunubp) GL huin 90000 1 90.0

33691162/501 {wpnpwinnp wgnwnyabn (nbwgblnubp) G hwwn 143100 3 429.3
33691162/502 [wipnpwinnp wanwlyniebp (nbwgblnlbip) GL huwin 114000 3 342.0
33691162/503 wipnpuwwnnp wonwlynietp (nbwgbtinubp) < hwn 124200 3 372.6
33691162/504 |wpnpwwnnp wgnwtyniehbp (nbwgblnubn) Q< hwn 435000 10 4350.0
33691162/505 |wpnpwnnp wgnwunipbp (nbwgblnubp) QL hwwn 183600 10 1836.0
33691162/506 wipnpwwnnp wgnwlyniptp (nbwgblntbip) G hwwn 42600 3 127.8

33691162/507 jwpnpwnnp wanwlyniebp (nhwgblnlbp) G hwwn 39200 4 156.8

33691162/508 {wpnpuwinnp warwyniphbp (nhwgblwnlbp) L hwun 684000 10 6840.0
33691162/509 [wpnpunnp wgnwniebp (nbwgbunubp) QL huun 190400 4 761.6

33691162/510 \wpnpwinnp wgnwunyebp (nbwgbunubp) L huwin 699000 3 2097.0
33691162/511 jwpnpwinnp wgnwyniphp (nhwgbunubin) QL huwiwn 699000 3 2097.0
33691162/512 \wpnpwinnp wqnwniphp (nbwgbunubn) G huwn 300000 3 900.0
33691162/513 {wpnpwinnp wgnunipbp (nbwgbuntbip) Q<L hun 199800 10 1998.0
33691162/514 (wpnpwnnp wanwyniabp (nbwgblnttp) Q<L huwn 197100 2 394.2
33691162/515 (wpnpwwnnp wguutyniebp (nbwgbUnttipg QL huwn 174800 1 174.8

33691162/516 |wpnptunnp wqnwtnipbp (nbwgbnubp) < huwn 143100 6 858.6
33691162/517 |wpnpwinnp wgnwiynipbp (nbwgbntbp) Q< hwwn 206600 3 619.8
33691162/518 |wpnpwinnp wqnwtynypbp (nbwgbunubp) QL hwtn 108350 8 866.8
33691162/519 |wpnpwnnp wgnwtynyebp (nbwgbtntbip) QL hwin 180900 4 723.6
33691162/520 (wpnpwwnnp wqnwiyniatip (nGwqtlnttin) < hwwn 52000 2 104.0
33691162/521 (wpnpwnnp wqnuwiynabp (nbwqblntbip) < hwiwn 330000 2 660.0
33691162/522 (wpnpwwninp wqutynpbp (nbwgblnttip) < hwin 190400 6 1142.4
33691162/523 |wpnpwnnp wgnwiynyebp (nbwgbnubp) L hwin 126000 6 756.0
33691162/524 |wpnpwinnp wqnwtynipbp (nbwgbtntbp) < hwin 193800 8 1550.4
33691162/525 ({wpnpwinnp wgnuwuniplp (nbwgbtntbin QL hwtn 206600 6 1239.6
33691162/526 \wpnpwnnp wanwunyekp (nbwgbnubng QL hwn 130800 6 785.4
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33691162/527 {wpnpwnnp wgnwnpbp (nbwgbUnubn) G huwn 197100 5 985.5
33691162/528 {wpnpwinnp wgnwiynipbp (nbwgbUnubpn) G< huwn 189000 3 567.0
33691162/529 {wpnpwnnp wgnwuniebp (nbwgbunubn) 9L huin 143100 10 1431.0
33691162/530 |Jwpnpwinnp wgnutynystip (nbwgbunubp) 9L huwitn 128900 2 257.8
33691162/531 |wpnpwnnp wgnwbyniebp (nbwgbunubp) QL huwin 345000 10 3450.0
33691162/532 {wpnpwnnp wgnuwniatip (nbwgbiunutip) GL hww 136400 10 1364.0
33691162/533 {wpnpwwnnp wqnwiynyebp (nbwgbinutin) 9L huwitn 124200 10 1242.0
33691162/534 {wipnpwnnp wqnuwiynebp (nbwgblntbp) 9L huwin 155900 10 1559.0
33691162/535 |wpnpwwnp wgnuitynysbip (nbwgbuwnubp) QL hwin 138000 16 2208.0
33691162/536 (wpnpwnnp wqnuwiynyatp (nbwgbinutip) Q<L huwin 39200 10 392.0
33691162/537 (wpnpwnnp wqutynyabip (nbwgblntibip) G hwwn 540000 2 1080.0
33691162/538 [wpnpwinnp wqnungbp (nbwgblntbp) 9L huwitn 141800 2 283.6
33691162/539 (wpnpwwnp wquiymnptp (nbwgbtntibp) G hwtn 145000 8 1160.0
33691162/540 |wpnpwnnp wanwiynebp (nbwgblnttip) G< hwn 111400 8 891.2
33691162/541 |wpnpwwnnp wqnuwiyngabp (nbwgblnttip) GL hiwin 187700 8 1501.6
33691162/542 (wpnpwinnp wanuiynielip (nbwghtnubin) 9< hwn 147200 8 1177.6
33691162/543 (wpnpwnnp wqnuwiynipbp (nbwgblnttip) q< hwwn 144000 8 1152.0
33691162/544 (wpnpwwnp wanuwiynpbip (nbwgblntibp) 9L hwwn 168000 5 840.0
33691162/545 |wpnpwnnp wqnuitynipbp (nbwgbnlbp) Q< hwin 157900 5 789.5
33691162/546 |wpnpwinnp wqnwitynystip (nbwgbtnttbn) < hwn 126000 3 378.0
33691162/547 (wipnpwuinp waruwtymebp (nbwgbntibin < hwwn 111000 12 1332.0
33691162/573 |wpnpwnnp wgnuynyebip (nbwgbtinlbn) < hwn 178200 5 891.0
33691162/574 |wpnpwwnnp wgrwbynizbp (nbwgbunubp) < hwwn 150000 8 1200.0
33691162/575 |wpnpwiwnnp wanwyngebip (nbwgblnubp) < hwiwn 159900 2 319.8
33691162/590 [wpnpwnnp wqrwynipbp (nbwgbnlbip) < hwin 58000 3 174.0
33691162/654 {wpnpwwnnp wgnwtnyekp (nbwgbUnbp) 9L hwwn 64000 3 192.0
33691162/666 |{wpnpwnnp wgnwniyelin (nbwgblnubpn) < hwwn 155900 3 467.7
33691162/713 \wpnpuitnhp wyrugnyebn (nbugblnutn) 9L hwwn 148500 3 445.5
33691400/501 phupwlwl wgnuwynyebp (nbwgbunutp) puqiwlndyntbun Q< Inwlwqd 174000 4 696.0
33691400/502 phuhwlwl wanutynyatip (nbwqbintbp) pugdwlnduyntbtin qg (g 85000 3 25_5,0
33691400/503 phupwlwl wgnuuneptp (nbwgbuunibn) pugdwlndwnubun Q< (gl 195000 2 390.0
33691420/501 \wpnpwnnp wgnwunipbp (nbwgbunubn) puqdwyndynubun G [nwlugl 525000 8 4200.0
33691420/502 (wpnpuwinnp warwbnipbn (nbwgbunubn) puqiwlndwntbiin 9 |pwiljusgqd 525000 4 2100.0
33691420/503 |wpnpwnnp wanwbnpbn (nbwgbtinubp) puqdwlndwntibiin QL [nwlwqy 148700 460 68402.0
33691420/504 \wpnpwinnp wanwupnekn (nbwgbtinutin) puqiwlndunutbiun QL (nwluqd 46080 400 18432.0
33691420/505 \wpnpwnnp wanwungpbp (nbwgbunbtn) pugdwndynubun G< [nwilyeqd 240000 5 1200.0
33691420/506 |wpnpwinnp wgnwuympkp (nbwgblnutp) puqiwlndunubin QL [nwlugd 100000 1 100.0
33691420/507 (wpnpwwnnp warputynebp (nbwgbuntbp) puqiwlndunubun G (nwiljusgqd 114000 1 114.0
33691420/508 |Wpnpwwnnp wanwiynipbp (nbwgbuntbn) pwgdwlyndynubn q< (nwiljgqd 210000 8 1680.0
33691420/509 |wpnpwnnp warwtnebn (nbwgbuntbp) pugdwlndwnubln L Inwlwqy 240000 7 1680.0
33691420/510 |wpnpwwnnp waruwtyniebp (nbwgbuntbp) pugiwlyndwnubun Q<L [nwlwqy 66000 1 66.0
33691420/511 |wpnpwwnnp wanuwtynigbp (nbwgbuntbip) pugiwlyndwynubun 9< Inwlwqd 416667 3 1250.0
33691420/512 |wpnpwwnnp wanwiyniabin (nbwgblnbbn) pwqdwlndunublin < nwlwuqy 416667 3 1250.0
33691420/513 [wpnpwnnp wqnuwtnpbn (nbwgbnbp) puwgdwlyndwnubln Q< (nwluqu 288000 1 288.0
33691420/514 |Wpnpwwnnp wqnuwynipbp (nbwgblntbn) puquwyndwynubln < nulywgd 61200 5 306.0
33691420/515 |wpnpwwnnp wgnuwiniphn (nbwgblntiip) pugdwyndynubun q< [nwiljugu 61200 & 306.0
33691420/516 |wpnpwnnp wrutyniptp (nbwgbtntiip) pugiwlndynubun 9L Inwljuqd 61200 5 306.0
33691420/517 (Wwpnpwnnp wgnwynipbn (nbwgbtnttn) puguwlnduwntbun < nwiljwgy 36800 5 184.0
33691420/518 wpnpwwnnp wanwiniebp (nbwgbnbbp) pugqiuwyndynubun < nwljuugu 540000 2 1080.0
33691420/520 |wpnpwinnp warwniebp (nbwgbtnlbp) pugquuyndynubun q< Inwluqd 26000 5 130.0
33691420/521 (wpnpwwnnp warwbyniebp (nbwgbtnbibp) pugiulndyntbn 9L inwluqy 397500 4 1590.0
33691420/522 (wpnpuwwnp wartyniebp (nbwgblnlbn) puguwlndwnubun q< Inwluqu 360000 1 360.0
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33691420/706 |wphpwinnp wanwuniphbp (nbwgbnubn) puqiwyndwyntibun qg Inwluqu 330400 1 330.4
33141211/501 pdalwljw wy gnpdhplbn — wwpwgqubp < hwwn 582 12 7.0
33141223/506 pdaljwlwt wy gnpdhplbip — wWwpwquwbp pugquuyndynubtn 4< Inwlwqd 51000 15 765.0
33141223/507 pdalwlwt wy| gnpdhplbn — wwpwgqubp puquwyndwnubun G< [nuwlugd 25999.5 4 103.998
33191310/503 thnpdwlinpubp 9L huin 116.667 12000 1400.0
33211140/501 Phihnnphu Bilirubin /Cunhwunip — ninhn phihrniphth npnadwu ac i 2028 6000 2.7
rrbup-hwdwpuwént
33211150/501 Uhquitynye Urea-Col/Uhquitynizh npnadw phup-hwwiwpwdnt Qg huitn 21.3 5000 106.5
33211160/501 et Al GREA-TCA GO AY npOguR plop- 9< huwitn 9.57 5000 47.9
hwwpuwdny
33211230/501 PYATpARY R CARBON [N afingdulh jabup- 9¢ hustn 109.375 12480 1365.0
hwJwpwdny
33211320/502 <huyuwnniun B dnrufu bttt npulsug hupalaippdul LV huwtn 105 9600 1008.0
phup-hwywpwdnt
33211321/501 Shuyinhun € dhnnuuh wiiinhabuh npuijuliwt hugrbwpbndu 9< huwtn 97.88 9600 939.6
phup-hwywpwdnt
33211321/502 ot Sy Whiahe by il hupepo ac huitn 105.36 8000 842.9
phup-hwywpwdnt
33691160/666 phuhwlwy wgnwunipbp (nbwgblnubn) < hwwn 12.6 2000 25.2
33691160/667 phihwlw wgnuunipbp (nbwgbtnbn) G< hwwn 18.0 30000 540.0
33691160/668 phihwlw wgnwunipbp (nbwgbuwnubn) < hwin 178.2 1000 178.2
33691160/669 phuhwlwl wqnuinipbp (nbugblnttn) a< hwin 18.0 5000 90.0
33691160/670 phupwlwl wanwynetin (nbwqblnltp) QL hwn 26.4 1400 37.0
33691160/672 phdpwlwl wqnuibyniptip (nbwgbunubip) L hwin 7.536 3000 22,6
33691160/673 phupwlwl wgnwjnyelip (nbwqblnubn) < hwwn 8.76 2000 17.5
33691160/675 phihwlwy wqnwunipbp (nbwgbuuubp) < huwiwn 33 800 26.4
33691160/676 phihwlw wgnuwunipbp (nbwgbunubn) L hwwn 26.4 1400 37.0
33691160/677 phuhwywu wgnuwunyzbp (nbwgbiuinubin) < huwiwn 26.4 1000 26.4
33691160/678 phupwlwl wqnuityniplp (nbwgbntbn) L huwwn 19.68 20000 393.6
33691160/679 phihwlwu wqnwunipbp (nbwgblnubp) GL huwin 83.28 15000 1249.2
33691160/680 phihwlwu wgnwunystip (nbwgbunutin) < huwin 345 192 66.2
33691160/681 phipwlwl wgnuiynyebp (nbwgbuntbp) < huwwn 345 192 66.2
33691160/682 phuhwywl wgnwunehp (ntwgbtintbin QL hwwn 393.75 960 378.0
33691160/683 phupwlwl wqnpuwympbp (nbwgblnltip) 4L hwin 393.75 960 378.0
33691162/714 |wpnpwnnp wgnwuniehp (nbwgbunubn) L huwwn 155.13 9600 1489.2
33691162/715 |wpnpwnnp wanwniphbp (nbwgtlnutn) G< hwn 1120 1152 1290.2
33691162/716 {wpnpwwnnp wgnwinyebp (nbwgbunubn) G hwin 640 480 307.2
33691162/717 {wpnpwinnp wgnwnysbp (nbwgbUwnubn) QL huwn 640 480 307.2
33691162/718 {wpnpwinnp wnuwyniphp (nbwgbunubn) Q< hiuwn 640 480 307.2
33691162/719 {wpnpwwnnp wgnwnyebp (nbwgbunubn) Gl huwwn 153.75 5760 885.6
33691162/720 {wpnpwnnp wanuwnysbp (nbwgbunubn) QL huwin 69.36 8000 554.9
33691162/721 \Wpnpwhnp wgnwnipbp (nbwgbunutn) QL hun 405.6 600 243.4
33691162/722 \wpnpwinnp wgnunipbp (nbwgbunubp) G huin 18 600 70.8
33691162/723 \wpnpwinnp wgnwngebp (nbwgbunubip) Q< hwwn 33.84 1800 60.9
33691162/724 \wpnpwnnp wqnuwingebp (nbwgbunubp) G hwin 1000 60 60.0
33691420/707 |wpnpwitnnp wanwunpbp (nbwgtnutn) puqiwlndwnubiin QL [nwlgd 74000 25 1850.0
33691420/708 |wpnpwinhp wanwynphp (nhwgbnubp) puqiwlndwntbiun QL nwljuqy 62000 15 930.0
33691420/709 |{wpnpwinnp warptynpbp (nhwgbunubn) puqdwlnduntibun QL (nwiljuga 48000 150 7200.0
24311360/502 Uwinphnwh pinphin q< Uhnapwd 2 0.0
24321650/501 qihghippu q< Uhingpuid 0.1 0.0
33141211/524 pdolwlwl wj gnpdhplibp — wwpwgwbp < hwn 10 0.0
33141223/508 pdolwlwl wy gnpdhpubp — wwpwgwbn puqiuindwynubun q< [nwljlugd 2 0.0
33611430/501 Ywihnuwih jnghr r05¢a02, s01xa04, v03ab21 9L Uhingpwd 3 0.0
33691134/502 luwihnwih pinppry al2ba01, b05xa01 9L lphingpuwd 0.3 0.0
33691160/686 phuhwluwt wgnwnyebp (nhwgblwnubp) < hwn 1 0.0
33691160/687 phihwluwt wgnwynyebp (nbwgblwnubp) < hwwn 1 0.0
33691160/688 phuhwljwt wgnuiynipbp (nbwgbUnlbp) L hwun 1 0.0
33691160/689 phupwlwl wgnwnyetin (nwgblnutp) Q< hwwn 1 0.0
33691160/690 phipwlwu wqnuunipbp (nbwgblnubp) < hwn 1 0.0
33691162/725 |wphpwinnp wanwnipbp (nBwgblntbp) SC hwwn 1 0.0
33691162/726 |wpnpuwiwnnp wanwunipbp (nbwgblnlbn) QL hwun 1 0.0
33691162/727 jwpnpwwnnp wanwunipbp (nbwgbtnlbn) q< hwin 2 0.0
33691162/728 |wpnpuinnp wgnwunipbp (nBwgbtnlbn) qL huwin 1 0.0
33691162/729 |wpnpuwinnp wantnipbp (nbwgbtnbn) QL huwin 2 0.0
33691162/730 |wpnpunnp wanwunipbp (nbwgblnubp) QL huwin 1 0.0
33691162/731 |wpnpwinnp wanwtniptn (nbwgbtntbp) QL huwiwn 1 0.0
33691162/732 |wpnpwunnp wgnwtynuyetip (nbwgbtunlbn) L huwun 1 0.0
33691162/733 jwipnpwnnp wgrputynysbp (nbwgbnlibp) L hwun 2 0.0
33691162/734 |wpnpwinnp wqnuwnipbp (nbwgbUnlbn) 9L huwin 1 0.0
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33691162/735 |wpnpwinnp wanuwuniehp (nbwgblnubn) 9< hwin 4 0.0
33691162/736 {wpnpwinnp wanwniebp (ntwgblnubn) G huwin 1 0.0
33691162/737 Jwpnpwinnp wgnwynphbp (nbwgblnubn) QL huin 1 0.0
33691162/738 {wpnpwinnp wgnwuniehbp (nbwgbunubn) QL huwin 1 0.0
33691162/739 {wpnpwinnp wgnwupnehp (nbwgblnubn) QL huin 1 0.0
33691162/740 {wpnpwnnp wgnwunyebp (nbwgbunubn) QL hwwn 2 0.0
33691162/74 (wpnpwinnp wanwiynipbp (nbwgblnutp) < hwin 2 0.0
33691162/742 (wpnpuwinnp wanwyniphp (nbwgbunubp) q< hwwn 1 0.0
33691162/743 |wphpwinhp wgnwuniehp (nbwgbtnubn) G huwin 1 0.0
33691162/744 jwpnpwiinnp wgnwnyekp (nbwgbunubn) QL hwwn 1 0.0
33691162/745 Jwphpwitnnp wanwuniphbp (nbwgbunubn) QL huitn 1 0.0
33691162/746 |wpnpwwnnp wgnwuniehbp (nbwgbinubn) QL hwin 1 0.0
33691162/747 |wpnpwinnp wgnunyebp (nbwgbunubp) Q< hwtn 3 0.0
33691162/748 {wpnpwinnp wgnwuniebp (ntwgbnutn) Q< hww 1 0.0
33691162/749 |wpnpwinnp wgnwupnysbp (nbwgbunubp) QL hwn 1 0.0
33691162/750 |\wpnpwinnp wgnwnebp (nbwgbunubp) Q<L hwn 1 0.0
33691162/751 jwpnpwnnp wanwipnehbp (nbwgbunubp) 9 huwn 1 0.0
33691162/752 {wpnpwwnnp wgnwnpbn (nbwgbUnubp) G huwwn 1 0.0
33691162/753 (wpnpwwnnp wgnwnyebp (nbwgbnbin) L hwin 2 0.0
33691162/754 |wpnpwwnnp wgnwiynebp (nbwgbnbip) 9L huwn 2 0.0
33691162/755 |wpnpwinnp wanwiynyabp (nbwgbtinbp) 9L huwwn 2 0.0
33691162/756 |wpnpwuwnnp wgputynyatp (nbwgblnubp) Q<L hwn 1 0.0
33691162/759 |wpnpwnnp wgpuiynyabp (nbwgbuntbp) QL huwtn 1 0.0
33691162/760 |wpnpwnnp wqnutyniphp (nbwgbntbp) QL hwn 1 0.0
33691162/761 |wpnpwinnp wgnwiynyatbin (nbwgbtunubp) q<L hwin 1 0.0
33691162/762 |wpnpwnnp wgnwtynyatn (nbwabtnntibp) QL hwwn 1 0.0
33691162/763 |wpnpwinnp wgnwnyshp (nbwgbtnlbp) < hwin 1 0.0
33691162/764 |wpnpwwnnp wgnutnipbp (nbwgbbntbp) QL hwwn 2 0.0
33691162/766 |wpnpwnnp wqnwtynpbp (nbwgbiinttbp) < hwiwn 1 0.0
33691162/767 |wpnpwnnp wgnwtynystip (nbwgbtntbp) QL hwin 1 0.0
33691162/768 |wpnpwwnnp wgpuwtynyatbp (nBwgblntbp) Q<L hwwn 1 0.0
33691162/769 |wpnpwnnp wgnwynyebip (nbwgbitunubp) L hwin 1 0.0
33691162/770 |wpnpwinnp wanwynyebp (nbwgbUnlbn) Q< hwun 1 0.0
33691162/771 |wpnpwwnnp wanwtynipbp (nbwgbUnlbn) QL hwun 2 0.0
33691162/772 [wpnpuwinnp wanwtynypbp (nbwgbtnbn) L hwun 3 0.0
33691162/773 wpnpwnnp wgrnwtynyebp (nbwgbntbn) 9< hwwn 2 0.0
33691162/774 |wpnpwwnnp wgnunipbp (nbwgbtnbp) 9L hwin 1 0.0
33691162/775 |wpnpwinnp wgnuynipbp (nbwgblnlbn) L hwun 1 0.0
33691400/504 phupwlwl wanwlympbp (nbwgbunubp) puqdwlndwnttiun < Inwlwgu 1 0.0
33691410/509 phupwlwl wgnwunyebp (ntwgbunutn) hbnny QL hwp 0.5 0.0
33691410/510 phuhwlwl wgnubnphp (nbwgbunubp) hbnndy 9L lhwnp 0.1 0.0
33691410/511 phupwlwl wgnwunphbp (nbwgbknttp) hbnny q< Lhup 20 0.0
33691410/512 phuhwlwl wgnwiynpbp (nhwgbunubp) hbnnly L (hwp 20 0.0
33691410/513 phuhwlwl wgnuunyetip (nbwgbtntbn) hbnniy Q< |hup 1 0.0
33691411/503 phupwywl wonuwumpbp (nbwgbbntibp) thngh Ywd gpuitinyutp a< Yhingpwd 0.5 0.0
33691411/504 phuhwlwt wompuwiynpbp (nbwgblnttp) gingh Yud gpwiunyutp 9L Yhingpuwd 0.5 0.0
33691411/505 phupwlwl wgnwuynyetbip (nbwgbwnttn) tingh Yud gputnygubp G Yhingpwd 0.5 0.0
33691411/506 phupwlwl wgnwunyebip (nbwgbunbtng gingh Yuwd gputnyubn Q<L Yhingpwd 2 0.0
33691411/507 phupwlwt wanpwiympbp (nbwgbnttin) thngh Yud gpuwunyutp Qg Yhingpwd 2 0.0
33691411/508 phupwyw wanwiympetp (nbwgbtnbibp) tingh fud gputingutp QL Yhingpwd 3 0.0
33691411/509 phuhwlwt wanwiymetn (nbwgbtntibin) thngh ud gputingtp QL Uhingpwd 30 0.0
33691411/510 phuhwlwy wqnunypbp (nbhwgbtintbn) tingh Gud gpuwtingbp QL Lhingpwd 40 0.0
33691420/710 |wpnpwnnp wanwnipbp (nbwgblinubp) puquwlndwntbiun Q< [nwlugd 1 0.0
33691420/711 |wpnpwinnp warpwtynipbp (nhwgbunubp) puquiwndwnttun Q< [nwlugd 1 0.0
33691420/712 |wpnpwnnp wqrutynetp (nbwgbuntbp) pugdwlnduntbun Q< nwlwigd 1 0.0
33691420/713 [WRnpWnnp wnwiynatp (nbwgblntbp) pwqiwyndynubun QL Inwlwuqd 1 0.0
33691420/714 |wpnpwwnnp wanwiynphn (nEwgbuntbp) pugdwlndunubun Q< nwljwqd 30 0.0
33691420/715 [Wpnpwnnp wgnwiynatip (nEwqbtntip) puqdwlndynubun q< nwljuugy 4 0.0
33691846/501 Uhipnuwpeny fhinuwpent Q<L Uhyngpuud 0.5 0.0
33141211/534 pdolwlwl wy gnpdhpubp — wwpwgwlbp L hwwn 800 0.0
33141211/535 pdoljulw wy gnpshpubip — wwpwgwbp QL hwin 800 0.0
33141211/541 pdobwlwl wy gnpdhpubp — wwpwgubp 9L hwwn 550 0.0
33691160/692 phuhwlwt wgnwynuyebip (nbwgbUnubn) L hwtn 120 0.0
33691160/693 phubuljut wgnwunipbp (nbwgblnlbp) Q<L hwun 5 0.0
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33691160/694 phuhwlwl wqnuyniebp (nbwgblnttn) 9L hwn 2 0.0
33691160/695 phuhwljwt wgnwnipbp (nbwgblnltbp) QL hwtn 2 0.0
33691160/696 phuhwlwt wgnunietp (nbwgblnubn) < hwn 2 0.0
33691162/776 |wpnpwwnnp wgrnwiynyebip (nbwgbnubp) QL hwin 1000 0.0
33691162/777 |wpnpwinnp wqnuwtynypbp (nbwgbntbp) G huwin 1000 0.0
33691162/778 |wpnpwnnp wgnutynyebip (nbwgbuwnutp) q< hwwn 1000 0.0
33691162/779 [Wpnpwwnp wanwnptp (nbwgbtnttin) 9< huwwn 1000 0.0
33691162/780 jwpnpwnnp wqnuwiynipbp (nbwgbtntbp) q< hutn 1000 0.0
33691162/781 |wphpwnnp wanwunyebp (nbwgbtnbn) Q<L hwwn 1000 0.0
33691162/782 |{wpnpwiwnnp wnwbynyetip (nEwgbtiuntbp) q<L hwin 1000 0.0
33691162/783 |wpnpwinnp wanwuniyebp (nbwgbUnbn) Q< hwiwn 1000 0.0
33691162/784 Jwpnpwwnnp wgnwuniekp (nbwgbnubn) Q<L hwwn 1000 0.0
33691162/785 |wpnpwinnp wgnutgniphp (nBwgblintbn) Q<L hwn 1000 0.0
33691162/786 jwpnpwiwnnp wgnwtynyebp (nbwgbtnubp) Q< hwn 1000 0.0
33691162/787 |wphpwinnp wgnutniphp (nGwgbuntbn) q< hwwn 1000 0.0
33691162/788 Jwpnpwwnnp wgnunipkp (nbwgblnlbp) < hwwn 1000 0.0
33691162/789 |wpnpwnnp wanwynypbp (nbwgbtntbp) 9L hwin 1000 0.0
33691162/790 (wpnpwwnp wgnwynyestin (nbwgbtnlbn) < hwn 1000 0.0
33691162/791 wpnpuwwnnp wanwniehbp (nbwgblunlbp) QL hwiwn 1000 0.0
33691162/792 Jwpnpuwuinp wanwniebp (nbwgblntbpn) q< hwin 1000 0.0
33691162/793 |wpnpwinnp wgnwunipbp (nbwgblnbp) L hwn 1000 0.0
33691162/794 |wpnpwinnp wgnwunehbp (nbwgbunlbn) G< huwuwn 1000 0.0
33691162/795 |wpnpwinnp wanwuniphp (nbwgbnbn) QL huwun 1000 0.0
33691162/796 jwpnpwinnp wgnwunipbp (nbwgbtnlbp) 9L hwwn 1000 0.0
33691162/798 (wpnpuwinnn wgnwnuyetbp (nbwgblntbp) L huwun 1000 0.0
33691162/799 jwphpuwitnnp wgnwuniebp (nbwgblnubn) QL hwwn 1000 0.0
33691162/800 (wpnpuwiwnnp wgnwnyebp (nbwgbunubp) L huwitn 1000 0.0
33691162/801 Jwpnpwinnp wgnwnehbp (nbwgbunubp) QL hwwn 1000 0.0
33691162/802 {wpnpwnnp wgnwuniphp (nbwgbunubn) G huwin 1000 0.0
33691162/803 (wpnpwinnp wgnwnyebp (nbwgbUwnubn) Q< huwin 1000 0.0
33691162/804 |wpnpuwwnnp wgnwnebp (nbwgbunubip) QL huwn 1000 0.0
33691162/805 |wpnpwinnp wgnwtynyebip (nbwgbunubip) QL hwn 1000 0.0
33691162/806 |wpnpwinnp wgnuwynipbp (nbwgblnubp) QL hwn 1000 0.0
33691162/807 |wpnpwwnnp wgnutyniehp (nbwgbuwnubp) QL hwwn 1000 0.0
33691162/808 |wpnpuwwnnp wqnwiynphp (nbwgbntbp) Q<L hwiwn 1000 0.0
33691162/809 |wpnpwinnp wqnwtynypbp (nbwgbUntbp) QL hwn 1000 0.0
33691162/810 |wpnpwinnp wgnwiynyetin (nbwgbtunubp) 9L hwn 1000 0.0
33691162/811 |wpnpwwnnp wgnutynyebip (nbwgbbntbp) QL hwn 1000 0.0
33691162/812 |wpnpwinnp wgnwitynyabip (nbwgblntbp) Q< hwn 300 0.0
33691162/813 |wpnpwinnp wanuwynypbp (nbwgbintbn) L hwn 1000 0.0
33691162/814 jwpnpwnnp wgrputynyatip (nbwgbtntbn) 9L hwun 1000 0.0
33691162/815 Jwpnpwwnnp wgnuwnyekbp (nbwgbitnntbin QL hwwn 1000 0.0
33691162/816 |wpnpwwnnp wqnutnyabip (nbwgbUntbp) 9L hwn 1000 0.0
33691162/817 |wpnpwinnp wgnwiynyshbp (nbwgbtunubp) 9L hwn 500 0.0
33691162/818 |wipnpuwwnnp wqnutynyebip (nbwgbnttp) q<L hwn 1000 0.0
33691162/819 |wpnpwnnp wgnwinyabp (nbwgbtnubp) <L hwn 1000 0.0
33691162/820 |wpnpwinnp wgnuwiynipbp (nbwgbUnubp) QL hwwn 1000 0.0
33691162/821 |wpnpwnnp wqnutynebp (nbwgbtntbp) QL hwn 200 0.0
33691162/901 |wpnpwinnp wqnutynipbp (nbwgbtntbp) Q<L hwwn 400 0.0
33691162/902 |wpnpwnnp wqnwtynypbp (nbwgbinttp) Q<L hwn 200 0.0
33691162/903 (wpnpwnnp wgnuwiyngetip (nbwgbtntbip) QL hwin 1000 0.0
33691162/904 |wpnpwinnp wqnutynypbp (nbwgbbnbbn) q<L hwn 500 0.0
33691162/905 (wpnpwuinp wanwiynyebip (nbwgbnlbpn) Q< hwwn 300 0.0
33691162/906 |wpnpwinnp wgnuuympbp (nbwgblntbp) < hwwn 300 0.0
33691162/907 |wphpwinnp wgnunipbp (nbwgbbntbn) 9L hwwn 500 0.0
33691162/908 |wpnpuwiwnnp wanwniphbp (nbwgbnbn) L hwn 1000 0.0
33691162/909 |wpnpuinnp wqnwunipbp (nbwgbUnbn) QL hwn 300 0.0
33691400/505 phuhwlwl wgnwnyesbp (nbwgbunutn) puqiwlndwnubun q< Inwlwqu 2 0.0
33691400/506 phupwlwl waruwtynystp (nhwgbunubn) puqdulndwnttiun q< Inwljwgd 4 0.0
33691400/507 phihwlwl wanutynpbp (nhwgbunubn) puqdwlnduyntbiun 4L (pwlugd 2 0.0
33691400/508 phuhwlwt wgnuwynyebp (ntwgbunutbn) puqdwlndwnlbun QL inwljuqu 2 0.0
33691400/509 phipwlwl wanwinpbp (nbwgblntitp) puquwlndynuBun QL [nwluqd 3 0.0
33691400/510 phihwlwu wanwiympbn (nbwqbunutp) pugqiwlndwnubun q< Inuwiljuuqu 3 0.0
33691400/511 phuhwlwy wqnutynebp (nbwgbuntbn) puqiwyndwntibun G (nwiljpwgy 3 0.0
33691400/512 phupwlywt wanwiympbp (nGwgbnttin) pwquuyndynubun Qg [nwiljuq 0.0
33691410/514 phihwlwy wanwlyniplip (nbwgbtnlibp) hbnndy QL thunp 3 0.0
33691410/516 phupwlw wonwyniptp (nbwgblnlibin) hbipndy Q<L |htnp 30 0.0
33691411/511 phipwlwt wanwnipbp (nbwgbtnlbp) tngh Yud gputngubp Qg Yhingpwd 2.5 0.0
33691411/512 phupwlwt wonwbyniyetp (nbwgbuntbp) thingh Yud gputngubip 9L Uhingpwd 1 0.0
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33691411/513 phupwlwt wonwlympbn (nbwgbntbp) tingh Yud gputingutp 9< Yhingpuwd 3 0.0
33691411/514 phupwlwt wonwiynetp (nbwgbntbin) tngh ud gpuwtnyutp G Yphingpwd 3 0.0
33691411/515 phupwlwt wonpwiyniebp (nbwgbnlibin) tingh ud gpuwtingutp Q< Yhingpwd 2 0.0
33691411/516 phuhwwl wqrutynyatip (nbwgbtnbbn) thingh Ywd gputinylbp 4< Uhingpwd 2 0.0
33691411/517 phipwlwt warwynyebp (nbwgbuinlbin) tngh Yud gputnyubp Q< Uhingpwd 0.5 0.0
33691411/518 phuhwyw wanwlynipetn (nkwgbunubn) tingh Yud gpwtingutip Q< Ypingpwd 4 0.0
33691411/519 phupwlw wonwniebp (nbwgbtinlbp) tingh Yud gpwtingubp Q<L Yhingpuwd 3 0.0
33691411/520 phuhwlwt wanwlynipbn (nbwgblnubp) tnzh Ywd gputingubp 9 Yhngpwd 0.25 0.0
33691411/521 phipwlwl wanuynyebip (nhwgbtnmbbp) tngh Yuwd gpwngubp G Yhingpwd 0.25 0.0
33691411/522 phuhwyw wanwuniptp (nbwgbunubp) tingh Yuwd gputingubp §< Uhingpwd 0.5 0.0
33691411/523 phuhwlwl wanubynyetip (nbwgbunbp) tngh Yud gputngubin q< Uhingpwd 2 0.0
33691411/524 phuhwlwl wgnwynpbp (ntwgbtnutn) tingh Yud gputingubp q< Uhingpwd 25 0.0
33691411/525 phuhwlwl wgnwunptp (ntwgbunutn) tingh Yud gputingubp q< Yhingpuwd 2 0.0
33691411/531 phuhwlwl wanwynpbp (nhwgbtnubp) tingh Yud gpuunygutp 9L Yhingpuwd 1 0.0
33691411/532 phihwlwl wgnwinyebip (nbwgbtntbn) tingh Yud gputngubp q< Yhingnwd 0.5 0.0
33691411/533 phuhwlwy wgnwnyebp (nhwgbtintbn) tngh Yud gputngbp G Yhingpwd 0.5 0.0
33691411/534 phihwywl wanwynyatin (nbwgbtntip) thngh Yud gpuunybp G Yhingpwd 0.25 0.0
33691411/535 phuhwlwy wgnwtynypbip (nbwgbtntbn) tngh Yuwd gpungubp QL Yhingpwd 1.5 0.0
33691411/536 phipwlwt wanwynietip (nBwgblnbtip) tingh Yud gputngubp G Yhingpud 1 0.0
33691411/537 phipwlwt wanuwyniebip (nbwgbtintbp) tngh Yud gputngubip Q< Yhingpud 2 0.0
33691411/538 phipwlwl wonwbyniptip (nbwgbtnubp) thngh Yud gputingubn Q< Uhingpwd 5 0.0
33691411/539 phupwlwt wanutynipbp (nbwgbtintbp) tngh Yud gputngubp G< Yhingpud 5 0.0
33691420/716 |wpnpwwnp wqrwtympebp (nbwgbunbibp) pugqiwlndynubun q< (nwluqd 5 0.0
33691420/717 |wpnpwwnp wqruwtynetp (nbwgbtntiin) pugquuyndynubun < nwljgd 3 0.0
33691420/718 (wpnpwwnp warwtyngebp (nbwgblnlbp) pugquulyndynubun Q< Inwljuqu 2 0.0
33691420/719 |wpnpwwnnp wanwiyngetn (nbwgbnlibp) pugluyndynubun 9< Inwlwgy 1 0.0
33691420/720 |wpnpwwnnp wanwniebn (nbwgbntbn) pugqiwyndwnubun q< Ipwiljuqu 1 0.0
33691420/721 |wpnpwinnp wqnwunyebn (nbwgblnubp) pugqiwyndwnubUn g Inwljuqu 1 0.0
33691420/722 |wpnpwnnp wanwuniebn (nGwgbbnubn) pugiwlyndwnubUn 9L Inwluqu 1 0.0
33691420/723 (wpnpwunp warwbyniebp (nbwgblnlbn) puguwndwnubun q< Inwiljuqu 5 0.0
33691420/724 |wpnpwinhp warwbynipbp (nbwgbunubp) puquiwlndwnutiun Q< (nwljwqd 2 0.0
33691420/725 [wpnpwinnp wanwnyebp (nhwgbnubp) puqiwlndwnttiun Q< (gl 2 0.0
33691420/726 [wpnpwnnp wgnwiynipbp (nEwgbuntibp) puqiwlnduntubuon 9L [nwljugud 2 0.0
33691420/727 [wpnpwwnnp wqnwiyniebn (nEwgbtintibp) pwqiwlnduynubun Q<L Inwlwqd 2 0.0
33691420/728 {wpnpwnnp wqnwnypbp (nGuwgblnutp) puqdwlndunubn QL [nwiljugqd 2 0.0
33691420/729 (wpnpwwnnp wqrwiynptp (nGwgblntbn) pugquwlndynubun < [nwlwgd 2 0.0
33691420/730 (wpnpwnnp wqruwtyngebp (nGwgbunutip) puquuyndynubun < Inwluqy 2 0.0
33691420/731 |wpnpwwnnp waruwtynetp (nEwgbtnlbp) puguulyndynubun q< Inwljwgd 2 0.0
33691420/732 [WpnWnp wgnuwiyniatip (nBwqbluntiip) pugdwlndynubun < Inwiljwgd 3 0.0
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33691420/733 (wpnpwinnp warnwynyebn (nbwgbtintbn) pugqiwyndynubun 9 [nwljugqu 2 0.0
33691420/734 (wpnpwnnp warputynebip (nBwgbtntip) pugdwlyndwyntbun 9L (nwiljuqd 1 0.0
33691420/735 (wpnpwnnp warwtymetp (nbwgbtnbibp) puqiulndyntbun 9L [nwilpuqd 1 0.0
GL 0.0
pd2jwlwt vwppwynpnudubp
33181110/506 hbinnhwihgh uwppbp G< hwwn 5692500 1 5692.5
33181110/507 hbdnnhwihgh uwppbp 9L hwin 6355900 1 6355.9
33181110/508 hbdnnhwihgh uwppbip q< huwiwn 717600 1 717.6
33161200/503 Eunnulnujutip ;o hwtn 13600000 1 13600.0
33111340/501 whutnnpnadwit ghipduwgtwght (Bun), nynpuwdw)uwiht — nnwbp p 1 0.0
uwipphip
33171700/501 wuqquwgdwu uwppbip 9L hwun 1 0.0
33191520/501 wpjwb thnfutbipwpldwl ;Iui}aghp q< huwitn 1 0.0
dhwltwht [dnunlnwn) =Gud Bphuluwpt (phunljniyjwn)
38511220/501 i bt < hwtn 1 0.0
38591200/501 phupwlwl jwpnpwwnnphugnud Yhpwnn uwppbp 9L hwin 1 0.0
33121200/501 uptnp watuwwnwuph huynnnipjwu uwppbp G hwwn 13 0.0
33121200/503 upunp woliwnwiph huynnnipjwu uwppbn a< huwwn 1 0.0
funtiwluwglwsd pelwsduh dwnwlwpwpdwt vwppbp, npntup
33151270/501 Wbpungnut b ppguwstiuht phnwuhwng q< huwin 30 0.0
33181480/501 wnjwt — htinniyh inwpwglwl uwpp G< huwwn 1 0.0
33191150/502 hhjwunwungwiht dwhéwywiubp QL huwiwn 5 0.0
42121310/501 pdoluljwt bywnwlutnnyg Ghpwnynn wndutip QL huitn 9 0.0
42121310/502 pdzlwlwt uywinwlubpny Yhpwnynn wndwbp G< hwn 18 0.0
42931100/501 (wpnpwnnphwlwl ghuunph$niqubin — wwpwquubp Q< huwwn 1 0.0
42931100/502 |wpnpwinnphwlwl giinph$niqubin — wwpwquwbp QL huwin 1 0.0
0.0
Upunwhwhs tynipbp
24451140/502 wihutnwhwbs Wnikp qc g 40 0.0
24451141/516 whunwhwuhs henmly Wnyabp < {hwnp 500 0.0
24451141/518 wiunwhwbhg hbnndy Unpbp 9L [hwp 200 0.0
24451141/520 wutnwhwbhg hbnniy Uynyesbip < {pwp 20 0.0
24451141/521 wiuwnwhuwitips hbinniy nysbip < thwip 525 0.0
24451141/522 whunwhwuhs hbanniy bynyabip < Lhwnp 400 0.0
24451141/523 whnwhwuhs hanniy nyatip < thwnp 50 0.0
24451141/524 whuunwhwbhs hanniy Ynyebip aL {hwnp 200 0.0
24451141/525 whutnwhwlihs hbinnily uniebip q< {hwp 100 0.0
24451141/526 whunwhuwhy hbinniy Wnysbip < thinp 100 0.0
33111500/507 Spwp wnbinhihquighwih < hwwn 300 0.0
33111500/508 Opuwip unbiphhquighwh < hwwn 10000 0.0
33111500/509 dpwp unbiphihqughugh < hwwn 3000 0.0
33111500/511 dpwp unbiphjhquighwih < hwwn 500 0.0
33111500/512 dpwip unbphihqughwih L hwwn 3000 0.0
33111500/513 dpwp unbiphihquighwih < hwiwn 100 0.0
33111500/514 hunplwwnnp dwupbwgbpdywanipjwl L hwin 1000 0.0
33111500/515 hunhlusnnp dwlipkugbpsuwanyewl a< hwtn 2000 0.0
33111500/516 hunhluwinnp dwupkwgbpdywdnipjwu G hwwn 2000 0.0
33111500/517 hunplwinnp dwupbwgbpdywanipjwu GL hwin 3000 0.0
ElEyunpwlwt wuypwiptbp
31711620/501 Lnwwnhnruipl (LED) (nwuwnnt L huwin 1300 5 6.5
31711620/502 Lnwwnhnnwiht (LED) |niuwinn G hwn 1200 20 24.0
31711620/503 Lnwwnhnnuwjht (LED) ntuwunnt Q< hwn 1500 30 45.0
31711620/504 Lnwwnhnnwijht (LED) |nwwwnnt 9L hwwn 3900 140 546.0
31711620/505 Lnwwnhnnuwihl (LED) jwiy < hwwn 460 50 23.0
31711620/506 Lnwwnhnrwiht (LED) inwwwnnt G< huun 1200 20 24.0
31711620/507 Lnwwnhnnwiht (LED) |niuwwnnt < huwwn 7000 30 210.0
31512360/501 Lnwwpdwl wpnwpht Q< huwn 9000 5 45.0
31512360/502 $nnngh |nwwwnnt QL huwwn 8544 10 85.4
31711620/508 Lnwwwnnt 60*60, 96W 6500K 9< huun 7100 20 142.0
31711620/509 Lnwwwnne 60*60, 96W 6500K 9< huin 7820 20 156.4
31512360/503 Lnwwnhnnwjhu (LED) jnuwwnnt 9L hwwn 2700 20 54.0
31211180/501 Uugwuinhs Ukl unbnuny q< huwwn 1200 15 18.0
31211180/502 Utigwinhy Ukl unbnuny wpuwphl L hwwn 1400 15 21.0
31211180/503 Uugwinhs tiplynt unbining ac huwin 1500 5 75
31211180/504 Uugwnhs bplynt unbinny wipunwph 9< hwin 1600 5 8.0
31684100/508 Jwpnwl hnqwugnuwiwiht dhwgnidng L hwin 1400 25 35.0
31684100/509 Ywpnuly hnnuwugnwiwiht dhwgnuing wpunwphl < hwwn 1586 15 23.8
31684100/501 Tpowlwl Ubl nbn qc hwtn 300 25 7.5
31684100/502 Gpowiwl bpynt inbin Q<L hwin 600 15 9.0
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31684100/503 Gpowlwl bpbip wbin G< hwin 900 5 4.5
31684100/504 fupnguwly hnnwlignudng < huwtn 280 30 8.4
31684100/505 Ywpnwl hnnwtgnuing bplupwgdwit jwph hwdwp QL hun 460 20 9.2
31231200/501 B o REsnacn had pupgni 9 huitn 350 60 21.0
dwwwiblny
31231200/502 Ubldnnbpwght blayupwintunwdwht winih K806 G805 dnnbih 9 huwin 125 20 25
31231200/503 SEHSFWM kishnpusinbinudunbils nch K920-2 6605 a< hwtn 250 15 3.8
31231200/504 :nwb?r}b[uqhh Eiayunpwdnunwduwjhu nnuh K820-3 G-805 ac it 400 10 40
nn/
31681700/503 Uwnndwin wugwinhsubinh winuwh wpnwpht bwnunbudws 2(+1) ac Kk 345 5 17
unnnyubiph hwdwn
31211180/509 Ugjinndwin wgwinhy G< hwin 4444 4 17.8
31211180/510 Uunndwn wligwinhs 9L hwwn 4244 4 17.0
31211180/511 Ugjinndwwn wgwiinhy < hwwn 3644 4 14.6
31211180/512 Ujunniwwn whigwinhy 9L hwwn 1244 12 14.9
31211180/513 Udwinndwn wlgwinhs < hwin 1144 12 13.7
31211180/514 Udinniwin wligwinhs 9L hwwn 1044 12 12.5
44322200/501 <nuwph dwiniu < dbwnp 178 100 17.8
44322200/502 Snuwliph dwjniju L dbinp 238 100 23.8
44322200/503 <nuwlph dwiniju 9L ubp 348 100 34.8
44322200/504 Snuwbiph dwintu QL dtwnp 396 100 39.6
44322200/505 <nuwliph dwynifu q< ubinp 525 100 52.5
44322200/506 <nuwlph dwjniju Q< dbwp 648 100 64.8
44322200/507 <nuwlph dwiniju < Uk 614 100 61.4
44322200/508 Lnuwliph dwinifu 9< dbnp 936 100 93.6
44322200/509 <nuwuph dwiniju G dbwnp 1198 100 119.8
44322200/510 <nuwliph dwinifu 9L ubnp 1980 100 198.0
44521230/501 wwuindwub PA 66 wdpwl dwiniuh hwdwp QL hwwn 440 3 1.3
44521230/504 wjwutndwub PA 66 wdpwly dwinifuh hwdwp Q<L hwwn 560 3 1.7
44322550/501 Uwinifup wuntp Q< hwwn 3 300 0.9
44322550/502 Uwinifuh wunp < hwin 5 500 2.5
44322550/503 Uwinijuh wunip < hwiwn 5 500 2.5
31651400/502 £}, Ublyniuhs dwwwidbu L hwiwn 135 50 6.8
32442400/501 huptwubindynn wnbpdhuwwiht plal(knemmsng)2+2 2,544 CH-2 QL huwin 60 300 18.0
31711770/501 |L-|ltzlgnLL]‘quh'!.l-lm]u.:u wubphlywu fupngwlynd(nepexosHnk TPOHHKK) ac i 590 18 106
31681700/504 Udwndwn Ubgwiinhsubiph Snuh 9L hwn 1200 5 6.0
Znndwl Gujwt (T60-480"S) pdwjht Eypwu Br
32351120/501 220V/40 MMaAnsHan craHuma (160-480°C) umuchpposoit aucnnei QL hwwn 21144 2 42.3
220Y/40 naAnLHUK
32442400/502 Din _nbyubp din _ peiika q< hwn 425 S 2.1
31684100/510 Qwpnuy hnnwlignuing plwpwgdwt wph hwdwp 9L hwin 30 0.0
31684100/511 Qwpniul hnnwgnuing Bplupwgdwt jwph hwdwp G< hwin 15 0.0
31221220/503 Uhgnuiutiph winwh, puig dntinnwdh hwdwn(6 Ygnpnhgubipny) Q<L hwn 5 0.0
31221220/504 Uhgnuwiutiph winwh, pug dntivwdh hwdwn(6 Ygnpnhsubipny) a< hwwn 10 0.0
31681700/506 Mywuwnhly wnihbip bblnpwgdbph hwdwp dwhws q< hwin 20 0.0
32324900/501 <hnnwinwgnuyg 9L huwn 1 0.0
39711290/501 Uhypnuighpuwht qunwpwtiubp QL hwwn 3 0.0
32551170/503 Ubjwp hbnwpunu 9L huwwn 7 0.0
Gpwubtjwlwihl wypwipubp b uynipbp
30197620/502 pnine, A4 dnpdwinh QL wnuh 3000 0.0
30197620/503 pnue, A4 Snpudwinh gniiwiynp QL wnni 1 0.0
30197620/504 pnupe, A4 Snpduinh huptwluwsnit phipptin L wnith 9 0.0
30192800/501 htstiwlusnits hwuwl / guuiwhunwl 30*4044/ q<c huwin 10000 0.0
30192800/502 hustwlusniu whnwly / gwwhwwl 20*30ud/ qc huwin 5000 0.0
30199420/501 enuye Udnigubiph hwdwp, unutdywsépny < hwin 600 0.0
30197322/501 Lwphs, 20-50 phpph hwdwp q< hwtin 100 0.0
30197100/501 Ywphsh dbnwnuiwpb uwbp, dbé QL unnuh 10 0.0
30197112/501 Ywiphsh danwnwywpk Yuwbp, dheht < uinuh 300 0.0
30197111/501 Ywphsh dnwnuywpb Quwbp, tnpp 9L wnnuth 200 0.0
30192710/501 unubiwdwwnhw, gpuubbjwlwihu QL hwin 1800 0.0
30192231/501 ulng wnihdbpwht q<c huwn 200 0.0
30197340/501 wwwlwnhy G< hwwn 30 0.0
39263600/501 gpsinnu, gpuublywlwiht QL huwn 200 0.0
thwunwpenebph hwdwp bwiwnbuws, ubnuih pw npgnn
30193200/501 i b’:’ P APy 9< huwn 200 0.0
30192100/501 nbiinht hwuwipwly G< hwwn 400 0.0
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30192133/501 uphs q< hwin 150 0.0
39263400/501 wupwy /ulnby /, dhopl 9L wnth 200 0.0
39263410/501 wipwl /uljpb /, thnpp q< wnith 200 0.0
39263530/501 ubndwl /Yy hwuby/, ubs 9L hwwn 360 0.0
39263520/501 ubindwly /lyjhuub/, dhehu 9L hww 200 0.0
39263510/501 ubmuwy /yhuub/, thnpp 9L hutn 200 0.0
39292530/501 pwint, dbnwnw 9L huwin 150 0.0
30192231/502 ulyng 9< hwtn 500 0.0
30192160/501 gunphs 124 9L hwin 800 0.0
30192160/504 aunphs 74} 9< hwwn 800 0.0
30192125/502 Uwplp L hwwn 500 0.0
39241210/501 dypwin, gpuubtywlught < hwn 200 0.0
30141200/501 hwaywuwpp, gpwubywluwhu < hwwn 30 0.0
30192130/501 Uwiwnhwnubip Q< hwtn 500 0.0
30192121/501 anhy qunhlwynp 9L hwn 3500 0.0
30197231/501 prewwwlwl, wnihdbpwiht punwip, $uy| L hwin 20000 0.0
30199260/501 hwwnniy U4 dpwp Q< hwwn 5000 0.0
30192114/501 ywpdhp pwlwp, Yuhph pupdhbh hwdwp 9L hwtn 20 0.0
30192114/502 Yuynywn pwliwp, Yuhph pupdhlb hwdwp 9L hwin 50 0.0
30192111/502 pwlwph puipdhy < huiwn 20 0.0
39263200/501 ;'9'_‘;‘1:‘13“"””‘””‘“ ahne, duinywt, 70-200ke, wanwih, ughnuly |- g o hun 50 0.0
22851200/501 farpwwwlwy G hwwn 300 0.0
22851200/502 RrEwwwlwy G huwin 300 0.0
22851200/503 farpwwwiwy Q<L hwwn 200 0.0
22851100/501 wipwgwywputp Q<L hwwn 200 0.0
22851200/510 prpwwwuwlubp 20 Suyny G hwuwn 300 0.0
22851200/511 prpwwwUwyutp 30 Suyny ac huin 200 0.0
22851200/512 prRwwwlwlubp 60 duwyny L hwwn 200 0.0
30195700/502 gpwunwhunwltibph dwppuwl uunitiq 9L hwn 100 0.0
30192350/501 hwayhs-npwidwplnwhty dhpbuwtbnh dwwwybuubp 9L huwwn 1920 0.0
Sumbuwlwl b shtwpwpuwljw Bywbwlnipjwt wypwuptibp
32551170/503 wjwn hbinwpunutbp 9< hwin 8 0.0
31685000/501 Fibbunpulwt bplwpwgdwl jwp L hwn 10 0.0
30239150/501 wnughs uwpp, pwquwnitlighntiug 9L hwwn 1 0.0
35121330/501 Suphfu Ynnbph ujwwynpuiwl uwpbp <L hwwn 11 0.0
30232110/506 Lwqgbpwiht wughs QL hwin 6 0.0
18141100/503 woluwwnwupwihu dtnungubip QL qnyg 124.25 240 29.8
18421130/502 dbinungubip 9L qnyg 145 1500 217.5
18421140/502 Ublwuquidjw ogunwgnpddwl sknungubin 9L qnyg 2.996 30000 89.9
18931160/501 Ywgph wwnuwlubip 9L hwwn 5499 5 27.5
18931180/504 wwnwlpbiph thwpbpwdnpdwl nnupwlubp G< huin 12000 0.0
18931180/505 wuypwuptbiph thwpbpwynpdwl nnypwlubp 4L hwin 12000 0.0
500 0.0
19641000/505 wnihbphiEuwght wwply, wnph hwdwp Q<L hwwn 2003 500 3001
19641000/506 wnihbphiEbwht wuwpl, wnph hwdwp QL huin 243 2800 680.4
19641000/507 wnihkphiiuwiht wwpl, wnph hwdwp G hwin 165 1600 264.0
19641000/508 winihkphiuwihu wwny, wnph hwdwp QL hwwn 140 2000 280.0
24451141/514 wiuinwhutths htnniy tynipkip ac [hup 264 500 132.0
31441000/503 dwpinyng, AAA inbiuwlih q< hun 50 300 15.0
31442000/502 dwpwnyng, AA inbuwlyp L hwwn 50 300 15.0
31442100/501 Yninwlhs dwpinlynglbp QL hwin 184.92 100 18.5
31442100/503 Ununwiljhs Gwpinynglbp a< huwtn 199.5 200 39.9
31685000/501 bislunpwlwi bpljwpwgdw jwp 9L hwwn 1495 25 37.4
31685000/502 Eiblinpuwlwt Bpiupwgdwt jwp QL hwin 1970.4 25 49.3
31685000/503 Eibwpwlwt Ephupugdwt jwnp QL hwin 3990 10 39.9
33141118/501 wutinghljutn a< huin 370 50 18.5
33141201/502 Puwfuhiubip G< hwtn 2.8 300000 840.0
33711210/502 dblwliquidjw ogunwgnpddwl wudtinnghlubip 9L hwin 390 5000 1950.0
33711480/503 ofiwn QL hwun 120 500 60.0
33751100/503 dbljwbquidjw oginwgnpddwl nwlnhpubp Q< hwin 120 200 24.0
33751100/504 Ublwguidjw oguinwgnpddwl wnwynhplbp < hwin 150 200 30.0
33761000/503 gnigupwup pnwp, nnyntny Q< hwn 80 4000 320.0
33761000/504 gniqupwip pninp, nnyntuny QL hwwn 80 2000 160.0
33761300/503 abnph el upphgutin 9< hwwn 148 1200 177.6
34331400/502 wifinndbpblwubiph gpglip EYs huitn 1392 50 69.6
39221190/501 fudbynt oph wwpwbp 4L hwwn 18438 10 184.4
39221220/501 hwgniunh snpwungubip Q<L hwwn 10434 10 104.3
39221350/503 Ublwuquidjw oguwgnpddwl pwdwyubp G< huuw 3.5 15000 52.5
39221410/502 wybubp q< huwtn 100 0.0
39221420/502 Junquitiwljubin q< huwn 1269.6 50 63.5
39221430/502 funquiiwl-uwyniug wyjwlh dwppbint hwdwp, ntinhub QL hwn 2328 10 23.3
39221480/502 qniquipwh funquiiwlbp G huwwn 449 200 89.8
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39221490/502 uwntugubip < hwtn 77.77 800 62.2
39224331/502 nny| wiwundwub QL hwwn 399 80 31.9
39224331/503 nny| wiwundwub Q<L hwwn 171 50 8.6
50 0.0

39224342/503 wnpwnyn, dbwnwnjw 9< hwin 5390 100 579.0
39224344/502 wnpuplyy’ phpbw a< huin 20 0.0
1188 50 59.4
200 0.0

39511130/501 uwywubp q< hwtn 519 1600 TRT
39511130/502 uwwbp GL hwn 150 200 30.0
39511130/503 uwwiiibp 9< hwin 100 200 20.0
39513200/502 jeryph wudbnnghly, Bpltipin < hwin 220 1000 220.0
1000 0.0

39522330/502 dwppnn Yunnptbp < hwn 535 2000 3700
39713410/502 hwinwbh dwppiwt uwppbp qL huin 1308 100 130.8
39713410/503 hwinwlh dwpniwt uwppbp 9L hwin 450 250 112.5
39713410/504 hwinwlh Jwppiwb uwppbp 9L hwwn 4000 100 400.0
500 0.0

39831100/503 Ywgnn Wnyebp G (hwp 168 1000 T
39831100/504 Ywgnn bynyesbip GL [hinp 72 7000 504.0
39831210/502 uwjwuph (Ywgdwl nanbpgbunubp QL huitn 94.96 1000 95.0
39831243/504 \dwigph thngh wyunndwin q< Uhngpuwd 325.03 700 227.5
39831245/502 ofiwn, htnniy qc htnp 168 1500 252.0
39831247/502 whunwhwtnn hinnly' uwiuhwugnygh hwdwp (lunwine) G {htnp 336 1500 504.0
1000 0.0

39831278/502 uwuph (Jugdwl thnzh QL huwtn 596 500 798
39831278/503 ujwuph Jugdwl thngh G hwwn 290 50 14.5
39831280/502 wujwlh dwppbnt dhong G< thinp 276 500 138.0
39831283/503 hwinwih Jugdw (wp 9< hwin 876.78 1000 876.8
39831283/504 hwinwlh Jugdwl (we q< huwin 349 300 104.7
200 0.0

39831283/505 hwwnwlh (Ywgdwl jwp q< hwin 1000 3000 70000
39835000/502 hwinwl dwppbynt dnn, wiwundwub, hwjnjw < hwwn 1000 50 50.0
100 0.0

39836000/502 wybil, unynpuluw < hwwn 950 200 190.0
39837000/502 guifuwby 3L huwwn 350 50 17.5
42961300/502 hhahbUhly wwpwqulbph nhuubutptp a< huwitn 3996 20 79.9
44211280/502 &nnbip L hwin 292.8 100 29.3
44521120/504 nnwl thwlwuubp G huwwn 10 0.0
44521120/508 nwl thwlwiubp G hwtn 4428 10 44.3
44521120/509 nnwt thwwtibp QL hwn 10 0.0

42414700/501 Ubpbwlubp 9L huin 3300000 1 3300.0
4416328011 funnnywlwiht wwpwupubp UL hwtn 46200 15 693.0

44221200/501 uwhnn nnubip QL pd 139920 30 4197.6
16311400/501 unnhudhs dopbuwubp 9< huin 1 0.0
18441210/501 uwnwywnnubp QL hun 1 0.0
30194220/501 giwgpwiwu dwwwybiutbp G huwin 1 0.0
31442100/505 Ununwlhs Jwpinyngubp QL hwwn 60 0.0
31681900/501 Eayunpwlwy whnuhs (nnby) q< hwin 1 0.0
33191350/502 witil oyt Q<L hwin 1 0.0
33191350/503 wiwuw)jwlubp 9L hwin 1 0.0
39241141/501 nwtiwly' gpuublyjwluht G< huwn 10 0.0
39241141/502 nwbiwl' gpuubtywlwihu 9< huwitn 10 0.0
39241210/503 Ulpwin, gpuubtywlwiht QL hwwn 2 0.0
39241250/501 dwnbph dipwn (ublwnnp) qc huwtn 2 0.0
39712300/501 Yupuwhwpnwphsubp L hwwn 2 0.0
42121430/501 quiquih Gupwlubip (Yndupbiunpubin L hwn 1 0.0
42121710/501 quiqujht Yntypbunpubiph dwubp < huitn 1 0.0
42661300/501 bnwlgdwl uwppbip QL hwiwn 1 0.0
42671100/501 gnpdhpubiph pntihstibip G< hwwn 2 0.0
42671170/501 nRwjwynp unng < hwwn 1 0.0
42921240/503 htnnijwghp winpwbwlubp < hwwn 3 0.0
42921240/504 hbinpniwghp winpéwiwlubp QL hwwn 3 0.0
43121170/501 wanifuh Yuad puph hnpwwnhgtibip ac huitn 1 0.0
43121170/502 wdniup Ywd pwph hnpwnhsubp 9L huwin 1 0.0
43411300/501 ptnnuh Guid hwdugh fuwnuhsubp ac huwitn 1 0.0
43411500/501 hnynn uwppbip QL huwwn 1 0.0
43411500/503 hnlynn uwppbp qc hwin 1 0.0
43411500/504 hnlynn uwppbip G huwin 1 0.0
43611290/501 pwph hnpwwnhsubiph duubp qL hwwn 2 0.0
43611290/502 pwph hnpwinhsubiph dwubp q< hwin 2 0.0
43611290/503 puph hnpwuhsubiph dwubip ac huwn 2 0.0
44112730/504 tnpnn uljwywnwy 9< hwin 2 0.0
44411100/501 anpuwljubp q< huwin 5 0.0
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44511100/501 abinph gnpéhpubip < huwin 2 0.0
44511100/502 &hinph gnpdhpubip < hwin 1 0.0
44511100/503 dkinph gnpdhpubip GL hwwn 1 0.0
44511100/504 Stinph gnpdhpubin 9L hwin 1 0.0
44511100/505 abinph gnpdhpubin < hwn 3 0.0
44511100/506 stinph gnpdhplitip qc hwin 1 0.0
44511100/507 &binph gnpdhplbin 9L hwwn 2 0.0
44511200/501 abinph unngubip < hwin 2 0.0
44511200/502 dkinph unngubip < hwin 2 0.0
44511200/503 alinph unngutip q< hwtn 3 0.0
44511200/504 abinph unngubip < hwwn 2 0.0
44511240/501 wpgwulbip < hwn 2 0.0
44511240/502 wpguwlubp < hwwn 3 0.0
44511240/503 wpguwitibip G< hun 3 0.0
44511270/502 dnipGhip QL hwwn 1 0.0
44511270/503 dnip6hp qL hwuwn 3 0.0
44511270/504 dnipéhp < huwn 2 0.0
44511330/501 wjinnunwlwhwutbp L hwwn 3 0.0
44511330/502 wnninwwhwuubp L huwin 3 0.0
44511330/503 winnunwlwhwuubp Q<L huwwn 2 0.0
44511340/501 quiihnup uwpbip qc hwn 3 0.0
44511343/501 qujihlynts L hwn 2 0.0
44511343/502 qujihlynts Q< hwn 3 0.0
44511343/503 quyihlynt QL hwn 2 0.0
44511343/504 quy hlynt < hwwn 1 0.0
44511343/505 quijihlynts 9L hwwn 1 0.0
44511343/506 quij(hlynts 9< hwin 1 0.0
44511343/507 quij(hlynt 9L hwn 2 0.0
44511343/508 quiihlynt q< hwin 3 0.0
44511343/509 quiyihlnt a< huwin 3 0.0
44511343/510 quiihynts Q< hwwn 3 0.0
44511350/501 wnnunwlwhwlbbiph uwpbip < hwwn 1 0.0
44511360/501 gnpdhpubiph inbnuithnfudwl dhengubp 9L huwtn 3 0.0
44511360/502 gnpdhpubiph tnbnwihnfudwu dhongubip L hwin 3 0.0
44511370/501 gnpdhpubiph hwjwpwdniubp 9L hwn 5 0.0
44511370/502 gnpdhplbiph hwdwpwdniubp QL huwin 2 0.0
44511370/503 gnpdhpliiph hwiwpwadniutip 9L huwin 2 0.0
44511370/504 gnpdhpubiph hwywpwdniubp G< hwwn 3 0.0
03411120/501 truyinwtynyahg wwinpuunyws wpnwnpuup QL hwin 100 0.0
14211000/504 wiwg, shtwpwpwljwl < fud 30 0.0
14211111/502 Jwtipwjuhé G< fud 24 0.0
14811300/501 hninn uljwunwlubp ac huin 20 0.0
14811300/502 hnynn ujwywnwyubp QL hwn 20 0.0
14811300/503 hnynn uwywnwlubp G< huwin 20 0.0
18421130/503 Ghinungubip q< qnyg 50 0.0
18931130/502 swtipngbiph wwiplbp qc huwin 300 0.0
24911500/502 unuhtud (wkpngny) 9L hwwn 20 0.0
24911900/503 uwihlh unuptid < Yhingpwd 1500 0.0
30192230/501 uljng' Ephynndwh unutdywd 9L hwwn 10 0.0
30197323/501 Luwiphs, 50-hg wykih phipeh hwdwp 9< hwin 2 0.0
31211180/515 wifinniwn wugwwnhsubp L hwn 2 0.0
31211180/516 wytnndwin wugwinhsubip 9< hwin 2 0.0
31211180/518 wtnndwin wugwinhsubip < hwin 20 0.0
31211180/519 witnniwin wigwinhsubin 9< hwin 5 0.0
31211221/501 wugwitnhsubin < hwwn 15 0.0
31221200/501 fupngubiph Enwlpbubp — Jupnwljubp G< hwin 50 0.0
31221220/506 dhwgdwl winuhbp 9L hwin 30 0.0
31221242/501 nyniphi aL hwwn 2000 0.0
31221242/502 mynipby &< huwwn 50 0.0
31221242/503 nyniphi GL hwwn 100 0.0
31331192/501 ~|byElnpuwlwt Swinu’ UddS a< ubtnp 200 0.0
31331192/502 bilnpuwiw dunifu’ U4dS < dbwnp 400 0.0
31331192/503 Elnpuluwit duniu’ UddS q< dbnp 100 0.0
31331192/504 EUnpuwluts dugniu’ UddS q< dbinp 10 0.0
31531100/501 Eiblnpulwt judwbip G huwwn 40 0.0
31641216/501 hwwnnily upnnunwly QL hwin 1000 0.0
31641216/502 hwwinly wunnunwly q< hwin 1000 0.0
31641216/503 huwiwnntl wnnunwly 9L hwwn 1000 0.0
31641216/504 huwnnily wunnunwly QL hwwn 1000 0.0
31641216/505 hwwnnily wwnnwnwy 9L hwn 500 0.0
31641216/506 hwnniy wunnwnwly L hwwn 1000 0.0
31641216/507 hwwnnly wunnunwy 9L hwwn 6000 0.0
31651400/503 Ublniuhy dwuywdbuubp < hwwn 50 0.0
31651400/504 dblyniuhy dwwwbuubp 9< hwin 30 0.0
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31651400/505 dblynwhs dwwwyblubp 9L huwn 20 0.0
31651400/506 dblynwuhs dwwwybuubip GL hwn 20 0.0
31681700/507 pudwlwpwp wnih QL huwn 15 0.0
31681700/508 pudwlwpwn wnuh q< hwtn 1 0.0
35111300/501 wwotnwwuhs — wudunwbgnuejwi hwgniun L huwn 20 0.0
39132220/502 Lufuhstp a< huwin 60 0.0
39132220/503 Ywfuhsubip < hwn 200 0.0
39221460/501 Up&ht' ubplwpwpulwl 9L huwtn 20 0.0
39221460/502 Undht' Ubiplwpwpwlwu 94 hwin 10 0.0
39221460/507 Upaht' ubplwpwpuijwt < huwin 20 0.0
39221460/508 Unaht' tbplwpwpulw ac hwin 20 0.0
39224331/504 | wjwuwndwub 9< hwwn 15 0.0
39812600/501 dwppnn dwdniyubp — thnghttbip L hwwn 5 0.0
42921240/505 hbnnijuighp winptwbiwlubp 9L hwwn 3 0.0
42921240/506 henniywghp wunpbwtiwlubp Q< hwwn 10 0.0
42921240/507 hbnniywghp wnpéwlwlltp < hwin 3 0.0
42951300/501 hwppligunn dhiptuwutiph dwubp 9< huwwn 3 0.0
44111200/504 ghublin 9< Yhingpwid 2500 0.0
44111400/503 Yuwiunh wnwuwnwn < pu 54 0.0
44111400/504 Yuwunyh wnwuwnwn <L pu 100 0.0
44111412/502 ubply, shuwpwpwlwl G< Yhingpuwd 800 0.0
44111413/505 Jniquitibply a< Yhingpuwd 10 0.0
44111413/506 by G Yhingpud 15 0.0
44111417/501 Uwfuwubiply 9L Yhingpwd 100 0.0
44111419/501 Qriwg Q<L huin 15 0.0
44111446/502 dblynwhsutin 4L huwun 30 0.0
44111448/501 gbipuwht dalnwhs bynyebp 9< huwin 60 0.0
44111448/505 ghipuwyht dklynwhs Wnypbp QL huwin 30 0.0
44111710/502 uwhy, Yepwidhywlwy, hwwnwbh hwdwp qL pd 200 0.0
44112210/501 inwtihp qc o 50 0.0
44112730/505 Lnpnn uwiduinwy L hwin 3 0.0
44112730/506 Yupnn ujwywnwly 9L hwn 100 0.0
44112730/507 Lunpnn ulwwnwly 9< hwin 5 0.0
44141200/501 opgwitiwlubp L hwtn 50 0.0
44163400/506 Yepwnpngdwl wlnipubip = wwpgniuwljubp < hwitn 400 0.0
44163400/507 Ubpwnpnguw wunipubip — wwpgniuiwlubp < hwn 150 0.0
44171100/508 uwhyubp (zhuwpwpnipjui) < pud 288 0.0
44171100/509 uwihyubip (huwpwpniajui) 4L pd 288 0.0
44171110/503 uwlhyubph fuwsnily < hwun 30 0.0
44191700/502 w)) quibiwgutl ghtwpwpwlywy bnyatip G< Yhingpuwid 13 0.0
44191700/507 w) quitiwquil shtiwpwpwlwu bnyabip < Yhingpuwid 15 0.0
44211610/501 whlyniuubp < hwwn 300 0.0
44211610/505 wilyniitbp q< hwwn 300 0.0
44211610/506 wulyniiubip 9L hwwn 100 0.0
44211610/507 wlyniubp 4L hwwn 100 0.0
44211610/508 whlyniubp < hwwn 100 0.0
44311120/501 thowywpkp GL Yhingpuwd 5 0.0
44311170/503 bnwlgdwl wwpwquibp G hwwn 500 0.0
44322550/504 dwintjuh wuniptibip Gl hwin 5 0.0
44322550/505 Uwinifuh wuniptibp ac huitn 5 0.0
44322550/506 dwinifuh wunipubip QL huwin 3 0.0
44331410/506 Ywhingh wnwunwnh ghuywwwin wpnbhy S qdwdbinp 60 0.0
44331410/507 Ywhunyh wnwunwnh ghiuwwwin wpndhy 9L gowdbnp 6 0.0
44331410/508 Yuwhunyh wnwunwnh ghtluwwwn wpndhi G gdwdbnp 15 0.0
44331410/509 Ywiunuh wnwunwnh ghtljwwwn wpndhi G gdwdbnp 100 0.0
44331410/510 Ywhundh wnwunwnh ghtiywwwn wpn$hy Q<L gdwdbinp 80 0.0
444234807501 dwlbpbuh tnnubbp qc huwin 10 0.0
44423480/502 dwlbpbup tninupbip Q<L hwwn 10 0.0
44423480/503 Uwhbipbuh tnuhbp q< hwin 5 0.0
44423600/504 st dwuywbtbp 9L hwin 20 0.0
44511260/501 hnlywpnuye qc o 1 0.0
44511260/503 hnlywpente q< pu 1 0.0
44511260/504 hnlwpnine q< pu 1 0.0
44521120/510 nhwl thwlwuubp 9< hwn 150 0.0
44521120/511 it thwlwbp < hwin 60 0.0
44521230/505 wdpwlubp < hwun 3 0.0
44531191/502 bpYwpeb funnnywlubp < dbwnp 400 0.0
44531191/503 tpYwppl funnnywljubp L dbwnp 100 0.0
44531200/501 ny wwpnipwlwdnp wdpwgdwt nbnwubp QL hwwn 110 0.0
44531200/502 ng wwpnipubwdnp wdpwgdwl nnwubp L huwin 220 0.0
44531260/501 wwpnipwwynp wipwgdwy nbnwubp QL Inwlwgd 50 0.0
44831500/502 (\nidhsubip QL Yhingpwd 3 0.0
44921500/501 dtthwdwadhly' ghuwjuuwyht 9< Yhingpwd 150 0.0
44921500/502 Shthwdwadhly’ ghwuwyhu < Yhingpwd 5100 0.0
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44921500/509 Sthwdwadhly' ghuuwhl < Yhingpuud 1050 0.0
44921500/510 Shthwdwéhly’ ghwuwihu L Upingpwid 150 0.0
09211631/501 hwlwlnnnghnt jninkip 9L Yhingpuid 3 0.0
38621300/501 huybih' nhuinnnwljut A< hwwn 30 0.0
39351100/501 Ynjninhubiph dwppdwt uwpptin 9L hwwn 1 0.0
39351100/502 Ynjninhubiph dwppdwl uwppbip < hwwn 3 0.0
39722400/502 wy| Yeugwnwiht nbfuthywih dwubp < huwtn 50 0.0
39722400/503 wy| Yatigunuihts nbfutihljugh dwubp < hwwn 50 0.0
39722400/504 wy| Yeugwnuiht wbuthywih dwubp 9L huwiwn 50 0.0
39722400/505 w) Yhugunuht inbutihlugh dwubp G hwwn 50 0.0
39722400/506 wj| Yeugwnwiht nkfutihuwh dwubip G huwin 50 0.0
39722400/507 wyi Yeugwnwht nbfuthywh dwubp gG< hwn 100 0.0
39722400/508 wy) Yeugwnuyht nbfuthywih dwubip 9L hwin 50 0.0
39722400/509 wj| Yhugwnwiht nfuthlwh dwubp 9L huwn 50 0.0
39722400/510 wy| YEugwnwiht wbfuuhywih dwubp QL huwn 20 0.0
39722400/511 wy| Yrugunuyhts inkfutipljwih dwubip 9L hwn 10 0.0
39722400/512 wyj Ubgwnwihts nbjuthluwih dwubp qc hwn 100 0.0
39722400/513 wj Yeugwnuyht nhuuhluih Jwubp &L hwwn 50 0.0
39722400/514 wy| Ybugwnwiht wkfuthywih Jwubp q< hwwn 20 0.0
39722400/515 wiyp Yebgwnuwght bputihwh dwubp G hwwn 20 0.0
39722400/516 wyj Yhugwrwiht nbputhugh Jwubp < hwwn 10 0.0
39722400/517 wy| Yhugwnwihu wkuuhYwih duwubp < hwwn 100 0.0
39722400/518 wy| YEugwnwihu whuuhywih dwubp < hwin 100 0.0
39812500/501 gpwidblynwps Unyebp 9L hwn 10 0.0
42131490/501 uh$nu QL hwun 200 0.0
44131100/501 Ynyninni fughip QL hwn 5 0.0
44131100/502 Ynynunnt fughip q< hwin 5 0.0
44161230/512 funnniuwlubph wwpwgwubp < hwwn 40 0.0
44161230/513 punnndwlubph wwpwqubp q< huin 40 0.0
44161230/514 funnnywiubph wwpuwquubp Q< hwiwn 50 0.0
44161230/515 funnywljubph wwpwgqutbp QL huwn 15 0.0
44161230/516 funnnywlubph wwpwgqubp 9L huwin 40 0.0
44161230/517 funnnuwlubiph Wwpwgwtibp q< huitn 50 0.0
44161230/518 funnnywlubph wwpwgwubn 9L huwin 40 0.0
44161230/519 funnnywlubph wwpwgwubp < huwwn 15 0.0
44161230/520 funnnywlubph wwpwguwubp 9< hwtn 15 0.0
44161230/521 funnnywlubiph wwpwgqwlbp <L hwwn 15 0.0
44161230/522 funnndwlubph wwpwgwbp qc hwin 5 0.0
44161230/523 funnnyuwlubiph wwpwgqwubp 9L hwin 20 0.0
44161230/524 funnnywljubiph wwpwquwutp < hwin 20 0.0
44161230/525 funnniwltibph wwpwqubp <L huwin 50 0.0
44161230/526 funnnywlubiph wwpwquwubp < hwun 20 0.0
44161230/527 funnnywliubph wwpwguwbp 9< hwun 20 0.0
44161230/528 funnnywlubph wwpwguubp 9< hwiwn 15 0.0
44161230/529 funnnuwlubph wwpwquiskp < hww 15 0.0
44161230/530 funnnuwliubiph wwpwqutp < hwwn 50 0.0
44161230/531 funnnywbubph wwpwguwutp 9< hwiwn 50 0.0
44161230/532 funnnyulibpp wwpwqubp < hwin 50 0.0
44161230/533 funnnywlubph wwpwquiubip < hwuwn 50 0.0
44163140/502 oph — gninpant funnnywyubp 9L dbwnp 80 0.0
44163140/503 oph — gnnpgnt funnniwlubip g< dbnp 80 0.0
44163140/504 oph — gninpant funnnywytbp GL dbnp 8 0.0
44163140/505 onh = gnnpznt unnnyuwbjubp < binp 8 0.0
44163140/506 opp — gninpgnt lunnnuuwlubip Q< dtinp 16 0.0
44163200/503 funnnywljubiph dhwguwu dwubip 9L huwin 20 0.0
44163200/511 funnnywyubiph dhwgdwl dwubp G< huwn 20 0.0
44163200/512 hunnnduwilubph dhwgdwl dwubp qc huwtn 30 0.0
44163200/513 funqnyuwyubiph dhwgdw dwubp 9L hwin 30 0.0
44163200/514 hunqndwljubiph dhwguwt dwubp a< huwin 20 0.0
44163200/515 funnnywlubiph dhwgdwl dwubp 9L hwin 15 0.0
44163200/516 funnnduilubph dhwguwl dwubip a< hwin 15 0.0
44163200/517 tunnnuwliubph dhwgtiwl dwubp q< huwin 15 0.0
44163200/518 funnnyuwljubph dhwguwl dwubip q< huwin 15 0.0
44163200/519 funnnywlubiph dhwgdwt dwubp < hwiwn 20 0.0
44163200/520 funnndwlubiph dhwgdwl dwubp 9L hwin 20 0.0
44163200/521 funnnuwlubiph dhwgdwu dwubp < hwwn 20 0.0
44163200/522 funnniwljubiph dhwgdwl dwubp 9L hwwn 20 0.0
44163200/523 funnnywluiph dhwgdw dwubp L hwwn 20 0.0
44163200/524 funnnuwlubph dhwgdwl dwubp L hwwn 20 0.0
44163200/525 funnnywljubph dhwgdwl dwubp L hun 10 0.0
44163200/526 punnnduwlubph dhwguuil duwubip q< huwin 10 0.0
44163200/527 funnndwlubph dhwguwt dwubp q< huitn 10 0.0
44163200/528 funnnywlubph dhwgdwl dwubnp < huwtn 10 0.0
44163200/529 tunnnywijubph dpwguwl dwubin < hwiwn 10 0.0
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44163200/530 funnniwlubph dhwgdwl dwubp G huwn 10 0.0
44163200/531 funnnywlubiph Jhwgdwl dwubp G hwin 10 0.0
44163200/532 unnnyuwlubph dhwgdwl dwubp QL huwn 10 0.0
44163200/533 funnnywyubiph dhwgdwu dwubp QL hwwn 10 0.0
44163200/534 funnnyuwlubiph dhwgdwl dwubp gL hwwn 20 0.0
44163200/535 funnnywlubiph dhwgdwl dwubp <L huwwn 20 0.0
44211610/509 wlyniuubip 9L huwwn 10 0.0
44211610/510 wllyniuubip < hwn 10 0.0
44211610/511 wlyniuubp < hwtn 10 0.0
44211610/512 wlyniuubp 9L hwn 10 0.0
44211610/513 wulniuubp qL hwn 10 0.0
44411100/502 dnpwlubp 9L hwwn 30 0.0
44411100/503 Snpuwlubp L hwn 30 0.0
44411100/512 dnpwljubp 9L huwtn 100 0.0
44411300/501 (Yugwpwtibn 9L hwwn 25 0.0
44411300/505 |Jwgwpwiititip G hwtn 20 0.0
44411500/507 thwljuw’ qunwa- q< hwin 20 0.0
44411500/508 thwljwt' qunwé- L hwn 20 0.0
44411500/509 thwljwt' qunwé- Q< hwin 20 0.0
44411500/510 thwlwt' gunws— < hwwn 20 0.0
44411500/511 thwljwl' gunwd— < hwtn 20 0.0
44411500/512 thwlwl' qunws— < hwwn 20 0.0
44411500/513 thwlwl' qunwé— G< hwin 20 0.0
44411500/536 thwlwy' gunwd- Q< huin 5 0.0
44411500/537 thwljwl' ginus— < hwwn 4 0.0
44411500/538 thwljwl' gunwa— G< hwwn 20 0.0
44411500/539 thwlwl' gunws— GL hwun 30 0.0
44411500/540 thwljwl' gunuwdé— G hwn 5 0.0
44411500/541 thwljwt' qunws— q< hwwn 5 0.0
44411500/542 thwlw' gunwé- 9L hwwn 80 0.0
44411740/501 qniqupwiwynup QL hwn 25 0.0
44411742/501 gniquipwiwlynuph dbluwuhgd qL hwwn 50 0.0
0.0
Ubkigwnwhtt mbuthljw b yjwpwqwtbp
30211200/503 rgnipubhp hwdwlhwnghsubip < hwwn 10 0.0
30211300/501 hwdwlwpgswht uwppwnpnulutin < hwwn 3 0.0
31221230/501 Uhwguwt dwyniuttip G< hwwn 3 0.0
31681700/509 pwdwiwpwp tnnuh < hwn 5 0.0
31681700/510 pwdwlwpwp tnup Q< hwin 10 0.0
31681700/511 pwdwuwpwn wnih G< hwn 20 0.0
31684400/501 uiprpul 9L hwwn 30 0.0
31684400/502 Yuipny L hwin 15 0.0
38311100/502 Ebluinpnuwght Yobinplibip — wwpwguitibp < hwin 1 0.0
38311100/503 biblwnpntuwghty Ypbinplibip — wwpwgwbip QL hwwn 5 0.0
39711140/502 Yhugwnwiht uwnbwpwtbn &L hwwn 20 0.0
39714210/501 onnpwlihs, 9000 BTU < huwin 8 0.0
39714220/501 onpnpulihs, 12000 BTU L hwin 8 0.0
39714220/502 onnplhy, 12000 BTU L huwwn 10 0.0
39717100/501 hniJhwphstbip q< hwtn 10 0.0
0.0
: Cwwlwpgswiht uwppufnpnul
30211280/502 Cwdwlwpghs wdpnnep dblnu 9L hwwn 35 0.0
30211200/501 Lnppnip 9L hwn 10 0.0
30239110/501 Swhs puquw$nitlghnuwy q< hwin 3 0.0
30239110/502 Sujhs 3-p Ublynud q< hwin 20 0.0
30239110/503 Swhs thnpp Q< huwn 10 0.0
30237411/501 UGhuply qc hwin 20 0.0
16111200/501 Ulwywnwlwlhp q< hwn 3 0.0
30211170/501 Uhypninply < hwtn 2 0.0
32561600/501 Unwwyinbip QL hwin 50 0.0
30237132/501 HDMI L hwwn 3 0.0
32421300/501 Utlhy/8 port qc huwtn 10 0.0
32421300/506 Uuhy/5 port < hwwn 10 0.0
32421300/507 Udhs/24 port Q< huwitn 3 0.0
30231100/501 WIFI uwpp G< hwwn 10 0.0
30232231/501 Lwdwlwpggwiht Ynan ulwdwnwly QL hwn 2 0.0
32421100/502 Swigwyht duynibu Q<L hwun 2 0.0
Utynnbwht wwpwqwlbkp
39518100/502 Uwghunwybinbuh hwywpuént L hwwn 389
39141200/501 ubpplwlh bpbu GC hwitn 128
39511100/501 owdlng (wnbwy, hwuwn) < hwin 65
39511100/502 owidlyng (wnbwy, pupwly) < hwin 54
[39516122/501 Puwpd < hw 100
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39511100/506 Jhndwl (pwpuly) Q< huwwn 70
39511100/507 dbipuuily (dhghts) 9< huitn 20
39511150/502 Lwdwinpuwutihly G hwwn 173
39511130/511 Uwijwts nh inbinuihnputgne hwdwp G hwu 70
39511130/514 Uwywu G hww 25
39514100/501 Unphs guidpnguihu 9L huwn 36
39514200/501 Unphs plih 9 hustn 6
39514500/501 bphiuupphs 9L hwin 36
39514100/502 Upphs pwdpuljw QL huwin 10
Utiniin
3200 0.0
15321200/504 funwgywd hjnie Q<L thwp 575 7600 1080.0
5280 0.0
15321200/505 hunwgywsd hjnip 9L (hwp 745 3640 19668
’ 1600 0.0
15821500/504 Ffujwdpwplhp < lg 7330 o 240
1600 0.0
15842110/505 nubin, anynjwnuguwin 9< lg 3110 800 T588.0
8000 0.0
41111100/501 pdubih entp Qg [hinp 53 500 376
npwhuynpuughts wypwptbp b yympbkp
09132200/502 [ptughts, nbignywp [ a< [ ihmp 6000 0.0
Ownuwjnipjniutibp
70311200/503 nwpwdpttinh Jwpdwywinyzjwl swnwjnipini < nwd 17952000 1 17952.0
50311120/501 huidwluwnqgwihl uwppbinh wwhuuldw - dapulnpngdul a< nnwd 1644300 1 1644.3
Swinuwnipniilibn
7921115011 wnnhunnpwlwl dwnwjnygjniutibp 4L npwd 1884000 1 1884.0
716311101 uwnpbiph unnigdwl dwnwnugjniutibn uu npwd 426000 1 426.0
98111121/501 wyunwgnipjuu wuwwhnydwl dwnwjnyejniiubp 9L rpwd 1 0.0
50421100/503 pdolwlwt uwppbinh Yepwtinpnguwt - wwhujwdwl ac il i 0.0
Swinwnupiniitibn
48221400/1 PuoalusgutiuniR bafs udpignuah ke Al onagoa | ) npwy 990000 1 990.0
thuipbptbn
98111121/2 wtiinwtgnupiwt wywhnydwl dwnwjnyzjniutbp 5% npwd 480000 1 480.0
501111801 winndbipbuwutbiph Yugdwl — tdwbwinhy Swnuwjngniibp uu npwd 558000 1 558.0
50531230/501 ghutpwwnnpubiph Yepwunpngdw - wwhwjwidwl ac - 1 0.0
Sdwnuynueniuubip
Sujwgpwljwl Twrwnipnil 1
79821180/950 nwwgpulwy — pwohudwl dwnwjnyzjniuubp L nnwd 39600 1 39.6
79821180/951 nwgpulwt — pwzhudwt dwnwjnysjniutbp L npwd 12600 1 12.6
79821180/952 nwjwgpuiwl — pushudwl Swnwjnpiniutbp < npwd 164000 1 164.0
79821180/954 nwywgpulwt — pwohudwl dwnwnyzjniulbip <L nnwd 164000 1 164.0
79821180/955 nwwgpwljwi — pwgiudwi Swnwynysniiubp L npuwd 10200 1 10.2
79821180/956 wnwjwgpuljut — pwspudwl dwnwjnipyniutibip G< nnud 24750 1 24.8
79821180/957 nwwgpuliut — pwzudwl dwnwjnyeiniiubp < npwyd 19800 1 19.8
79821180/958 wwywgpwlwl — pwapudwl dwnwjnyzjniulbip 9L npwd 33000 1 33.0
79821180/959 wnwjwgpwiljwl — pwziudwll Swnwniejniilbp G< npwyd 19560 1 19.6
79821180/960 unuwgpwlw — pwaiudul dwnwnuyzjniitbin < i 29340 1 29.3
79821180/961 unywgpwljw - pwapudwl dwnwnueiniuitbip < npwd 39600 1 39.6
79821180/962 unywgpulwl — pwsiudwl dwnwnyejniutbip 4L npwd 39600 1 39.6
79821180/963 unywgnulut - pwtudwu dwnwniejniutbip Q< npwd 19800 1 19.8
79821180/964 nwywgpwljwl — pugpudwl dwnwjnyzniitibp Q<L npwd 41000 1 41.0
79821180/965 inwwagnpwlwl — puwshudwl dwnwjnyagniulip G npwyd 19800 1 19.8
79821180/966 nujwgpwiljt — pwudwt dwnwynipjniutbp q< npwd 39600 1 39.6
79821180/967 uwgpwlwt — pusfuldwt Swnwjnipniitbip < npwy 19800 1 19.8
79821180/968 inwuwgpuwljwl — pwstudwt dwnwynyniulibp QL rpud 42000 1 42.0
75821180/969 nywgnwlwl — pugfudw Swnwjnipiniitibip <L npwd 39600 1 39.6
79821180/970 uiywgpuijwt — pugfudw Swnwjnipyniutbip L npwd 79200 1 79.2
79821180/971 nuwgpulwy — pugfudw dwnwjnipyniutbp 9L npuwd 13120 1 13.1
79821180/972 inwgpulwt — pugfudwu dwnwjnipjniutbip L npwd 8200 1 8.2
79821180/973 nwwapwiwi — pwzhudwu dwnwjnipjniuubp < npuwd 63360 1 63.4
79821180/974 nwwgpulwl — puzhudwt dwnwjnysjniutbp 9L npwd 1140 1 1.1
79821180/975 unwwgpulwl — pwzhudwl Swnwjnyajniulbp QL npwd 2550 1 2.6
79821180/976 unwwanpwlwl — pwoudwl Swnwjnysjniulbp L npwd 1700 1 1.7
79821180/977 nwwgpwilwl — pwgudwl dwnwjnyejniutbip L npwd 1500 1 1.5
79821180/978 wwywigpuiljwl — pwgludwl dwnwjniyzjniutbp QL npwd 57400 1 57.4
79821180/979 nwwignwlwl — pwtudwl dSwnwnyeniitbin Q<L npwd 3400 1 3.4
79821180/980 unwwgpuwljwl — pugfudwt dwnwjnyeniiubn Q< npwd 5040 1 5.0
79821180/981 wnwwapwljwy — pugfudwl Swnwnianiiitip QL npwd 2550 1 2.6
79821180/982 nwwigpuljwl — puwstudwl dwnwjnypjniitbp QL npwd 99000 1 99.0
79821180/983 nwwgpwljut — pwudwy swnwnipjniutibp L rpuud 19560 1 19.6
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79821180/984 nwwgpuljwl — pwopudwt dwnwnyzjniuubp QL N 9840 1 9.8
79821180/985 nwwgnwljwl — pwshudwt dwnwjnyajniuiubp < npud 39600 1 39.6
79821180/987 unwwgnulwl — pwahudwt Swnwjnyajniuubp 9L npwd 358800 1 358.8
79821180/988 unwwgnwljwl — pwofudwt dwnwjnysjniutbip a< npwd 3800 1 3.8
79821180/989 inwwapuiljwt — pwohudwl swnwjniypniubn < npuwd 198000 1 198.0
79821180/990 inwwgpulwt — pwofudwi dwnwjnipiniibp < nnwd 198000 1 198.0
79821180/991 tnujugpulw — pwpudwl dunwjnigniutin G npud 99000 1 99.0
798211807994 nwwgnuiljws — pusfudwl dwnwjnieyniibibip a< npwd 1296 1 1.3
79821180/998 nwjwgpuibwt — pwshudwt Swnwnyajniubp 9L npuwd 39600 1 39.6
79821180/999 unwgnulwl — pwohudwi Swnwnyajniulbp L nnwd 39600 1 39.6
Sujwqpuwljwh Twnwjnipinit 2
79821180/1000 nwywgpwliwl — pwofudwl dwnwnyainluiubip < npwd 43020 1 43.0
79821180/1001 nwwgpulwi - pwaludwl Swnwnyajniuubp Q< npuwd 28,800 1 28.8
79821180/1002 nwwigpljut — pwaudwl dwnwniyeiniiubp < npwd 6,300 1 6.3
79821180/1003 wnwywgpulwl = pwaiudwl dwnwynyzniiubp G< npuwd 1200000 1 1200.0
79821180/1004 unywgpwilw — pwzpudw Swnwpnygniuubip < npuwd 35940 1 35.9
79821180/1005 wnwwgpwljwt — pwgtudwt Swnwniyagniuubp qL N 35940 1 35.9
79821180/1006 wnwwgnuiljwl — pwudwl Swnwnyajniiubn QL npwd 4,200 1 4.2
7982118041007 nwwgpulut — pwaudwl dwnuwniyejniutbp G4 npwd 4,400 1 4.4
79821180/1008 wwuigpuiljwl — pughudwl Swnwjnisniutbp G npwd 8,700 1 8.7
79821180/1009 nwwgplwt — puziudwl Swnuwnyejniutbp qL npwd 4,350 1 4.4
7982118041010 nwwgpuljut — puziudwl Swnwgnyzjniutbp QL npwd 116,000 1 116.0
79821180/1011 unywgpulut — pusudwl swnwnieniitbp QL npwd 15,000 1 15.0
79821180/1012 wnwywignuljwl — pugpudwl Swnwnypniitbn 9L npwd 13,200 1 13.2
79821180/1013 nwywgnwljwl — pughulwl Swnwnipnitbn gL npwd 80280 1 80.3
79821180/1014 nwigpwluwl — pwziudwl Swnwynpjniutbp Q<L npwyd 15,400 1 15.4
79821180/1015 nwwgpwlw — pwaudwl dwnwjniejniutbp Q<L npwd 29,000 1 29.0
79821180/1016 nwywgpulywl — pusfudwy dwnwjnyzniibn QL npwd 14,900 1 14.9
79821180/1017 nwywgnpuwlwl — pusfudwt dwnwjnyeniitbp L npwid 88,000 1 88.0
798211801018 nywgpwlwl — pugfudwl dwnwjnyzjmbubp G npwd 282960 1 283.0
798211801019 inwywgnpulwl — pugfudwl dwnwjnyzniilibp G npwd 300000 1 300.0
79821180/1020 wnwgnulwt — pughudw Swnw)nipiniiubip 9L npwd 300000 1 300.0
79821180/1021 nwywgpulwl — pwzfudwt dwnwinyejniilibp < npuwud 1,900 1 1.9
79821180/1022 nywgpulwi = pugiudwy dwnwjnipjniuubip q< npwd 9,600 1 9.6
79821180/1023 nywgpulwl — pwohudwl dwnwjnyajniulbin < npud 300000 1 300.0
79821180/1024 inwwapuljut — pwopudwl dwnuynyeniiubp <L nnwd 4,800 1 4.8
7982(180/1025 nwywgpwliw — pwstudw dwnwpnyagniulibip 9L npwd 44160 1 44.2
79821180/1026 nwgpwljw — pwsfudwt dwnwnyagniuubp 9< nnwd 22,800 1 22.8
79821180/1027 nwuwgpulwl — pwatudw Swnwnuejniulbp 9L npwd 300000 1 300.0
79821180/1028 nywgpwljiwl — pwatudw Swnwnuaniuubp < il 1 0.0
79821180/1029 nujugpulut — pwoudwl dwnuynipniutbp 9L il 323400 1 323.4
79821180/1030 nwwgpwljw — pwoludwl Swnwnipiniuubp G< npwd 1 0.0
79821180/1031 nwywgpwlwl — pwotudw dwnwnuzjniutbip QL npwd 1 0.0
79821180/1032 nwwgnwilwl — pwspudwl dwnwjnyzjniiubp QL npwd 1 0.0
79821180/1033 nwywgpwlwl — pwstudwl dwnwnieniuubp GL npwd 1 0.0
79821180/1034 wwwgpwljwl — pwshudwl Swnwjnyejniiubp G npwd 1 0.0
79821180/1035 wwwgpwliwl — pwstudw dwnwniajniiubp 9 npwd 1 0.0
79821180/1036 wnwwgpwljwt — pwaudw dwnwnyagnitubp 9< npwd 1 0.0
79821180/1037 nwwgpljut — pwaudwl Swnuwynyejniutbp QL npwd 1 0.0
79821180/1038 uywgpuljwt — pwztudwt dwnwpnyegniiubp G npwyd 1 0.0
79821180/1039 inwuwgpuljwt — pwspudwl dwnwnuyeniutbp GL npwd 1 0.0
79821180/1040 wwwgpwlwl — pughudwl Swnwjniajniiubp G npwd 1 0.0
79821180/1041 nwwgpulut — puziudwl dwnwnipjniuitbp Q<L npwd 1 0.0
79821180/1042 nwwgpiljut — pwsudwl dwnwnyejniutbp QL npwd 1200000 1 1200.0
79821180/1043 wwwigpuljwl — pwgpulwl dwnwjnysniilbp G nnwy 1200000 1 1200.0
7982118011044 wnywgpwlwl — pwotudwt Swnwnipniubp G npwd 22200 1 22.2
79821180/1045 nujwgpwljwl — pugfudwt dwnwnieniiubn L npwuJ 67080 1 67.1
79821180/1046 unywgpulw — pusfudw Swnwjnipniibip Gl npwd 22200 1 22.2
79821180/1047 nwgpuwt — pusfudwy Swnwjnipiniitbp Q<L npwd 114,000 1 114.0
79821180/1048 nwwgpwlwt — puzhudwu dwnwjnipyniutbp 8L nnwd 132,000 1 132.0
79821180/1049 nwwgpwiwt — puzhudwy Swnwjnysjniulibp 9L npwid 33,000 1 33.0
Suyjwgpuljwl wypwptbp 3
22451240/501 pluly 9L hwin 50000 0.0
22451240/502 pluatly q< huwtn 10000 0.0
22451240/504 pitly < hwn 15000 0.0
22451240/505 pruily 9 hwun 12000 0.0
22451240/506 plully L huwin 2000 0.0
22451240/507 pluly 9L huwin 2000 0.0
22451240/508 pluliy L huwin 20000 0.0
22451240/509 plutly < huin 5000 0.0
22451240/510 pjutily q< huwin 10000 0.0
22451240/511 pluly < hww 10000 0.0
22451240/512 plutily q< huwin 2000 0.0
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22451240/513 pluwly 9L hwwn 8000 0.0
22451240/514 pluiily 9L huwin 5000 0.0
22451240/515 plustly q< hwin 4000 0.0
22451240/516 pluiuy Q< huwn 5000 0.0
22451240/517 Pty q< hwin 2000 0.0
22451240/518 pluuy QL huwn 5000 0.0
22451240/519 pluly G< hwin 700 0.0
22451240/520 putil q< hwun 8000 0.0
22451240/521 plutly 9L hwn 10000 0.0
22451240/522 plutily 9< hwn 5000 0.0
22451240/523 plutly a< hwin 2000 0.0
22451240/524 pwuly S< hwn 20000 0.0
22451240/525 Pl q< hwin 40000 0.0
22451240/526 pluwily 9L hwwn 13000 0.0
22451240/527 pluuly 9L hwn 5000 0.0
22451240/528 pluiy 4L hwn 20000 0.0
22451240/529 pty < hwwn 2000 0.0
22451240/530 pluly QL hwn 10000 0.0
22451240/531 plutly 9L hwn 20000 0.0
22451240/532 plLly S huwin 500 0.0
22451240/533 pluily q< hwin 50000 0.0
22451240/534 plully q< hwwn 15000 0.0
22451240/535 pyualiy 9< huwin 50000 0.0
22451240/536 plwtly G< hwun 40000 0.0
22451240/537 pluatl 9< hwtn 25000 0.0
22451240/538 pluy QL hwtn 1000 0.0
22451240/539 pluily o< huwun 5000 0.0
22451240/540 plutily a4 huwin 1000 0.0
22451240/541 pjully 9< huwtn 1000 0.0
22451240/542 pjuliy a< huwn 1000 0.0
22451240/543 pluul G hwn 4000 0.0
22451240/544 Py 9L hwun 2000 0.0
22451240/545 pjuty q< huitn 2000 0.0
22451240/546 pluily q< hwin 38000 0.0
22451240547 pluuy QL hwin 20000 0.0
22451240/548 pluty QL hwin 1000 0.0
22451240/549 pluuy QL hwn 5000 0.0
22451240/550 Pl ac hwin 5000 0.0
22451240/551 Pl a< hwin 500 0.0
22451240/552 pluiuly a< hwin 20000 0.0
22451240/553 pluitiy a< huwn 1000 0.0
22451240/554 plwl q< hwin 2000 0.0
22451240/555 plwl QL hwn 500 0.0
22451240/556 plutly < hwn 2500 0.0
22451240/557 ppuly 9L hwn 700 0.0
22451240/558 pLuy < hwin 10000 0.0
22451240/559 plutly q< hwin 600 0.0
22451240/560 plutly 9L hwn 5000 0.0
22451240/561 plutily < hwn 300 0.0
22451240/562 plustly < huwn 300 0.0
22451240/563 plustly q< hwin 3000 0.0
22451240/564 plutily q< hwin 3000 0.0
22451240/565 pluatly q< hwin 600 0.0
22451240/566 ply Q< hwn 300 0.0
22451240/567 pluitly < huwn 11000 0.0
22451240/568 plutly 9< huwtn 20000 0.0
22451240/569 pluuly a<g huwtn 1500 0.0
Sywqpulwl wuypwupubkp 4
22111200/501 nwwgpduwd wy gppbip G< hwwn 3 0.0
22111200/502 nwwgpywd wy gppbp QL hwn 3 0.0
22111200/503 wnwwgpywd w) gpphp QL hwwn 10 0.0
22111200/504 unwjwgnywd wy gppbp q< hwwn 1 0.0
22111200/505 nujwigpUwd wy gppbin q< huwin 50 0.0
22111200/506 nwwgnyws wy gppbip QL hwwn 10 0.0
2111200/507 nwwgpywé wy gppbp < huin 5 0.0
22111200/508 uywgpywd wy gpplip QL huwwn 20 0.0
22111200/509 nwgnywsd wy gppbip L hiuwn 10 0.0
22111200/510 nwwagnyws wy gppbp G< hwwn 15 0.0
22111200/511 wnywgnywsd wy) gpphip G< hwtn 8 0.0
22111200/512 inuyugnuwsd wy gppbp < hwwn 2 0.0
22111200/513 nwwignywd wy| gppbip QL hwtn 10 0.0
22111200/514 nwwgpywé wy| gpphip < hwin 100 0.0
22111200/515 nwwgpyws wy| gpphip < hwin 100 0.0

CrpaHuua 33




22111200/516 nwwgnywd wy gppkp G< hwun 20 0.0
2211200/517 nwwgpywsd wy gpphip GL huwiwn 10 0.0
22111200/518 nwwgpdwd wy gppbp QL hwwn 60 0.0
22111200/519 inwjwgpywd wy gppbip QL hwwn 120 0.0
22111200/520 nuwgpdwd wy gppbp QL hwwn 12 0.0
22111200/521 wnwwgnyud w) gppbip 4L hwwn 5 0.0
22111200/522 nwwgnywd wy gpplip RS hww 10 0.0
22111200/523 wnwwgpwd wy gppbip S hwwn 7 0.0
22111200/524 nwywgpywd wy) gpphip Q< hwwn 2 0.0
22111200/525 wnwwgpyuwd wy gnpbip 9< hwin 2 0.0
22111200/526 wnwywapywd wy gppbp 4L hwwn 3 0.0
22111200/527 nuwgnpywd wy gppbip 9L hwun 4 0.0
22111200/528 wnwjwgnywd wy gppbip QL hwwn 4 0.0
22111200/529 nywgndwd wy gppbp Q<L hwwn 4 0.0
22111200/530 wnwywgpywd wy gpphip G hwwn 2 0.0
22111200/531 nwywgnpywé wy gppbp QL hwwn 2 0.0
22111200/532 unwwigpywéd wy gpphbp L hwwn 14 0.0
22111200/533 wnwwgpywd wy gppbip 9L huitn 60 0.0
221M1200/534 wnywigpywd wy gpphp 9c huitn 180 0.0
22111200/535 wnwwigpywd wy gppbp 9L huin 120 0.0
22111200/536 wnywgpywd wy gpphip 9< huitn 120 0.0
221112007537 nywgnpywd wy gppbip <L hun 40 0.0
22111200/538 nwuwgpywd wy gppbp <L hwwn 35 0.0
22111200/539 wnwwignywd wy gppbip qL hwn 20 0.0
22111200/540 nwwgpyws wy| gppbin QL hwwn 150 0.0
22111200/541 nuwgpdwsd w| gppbin 9z hwwn 40 0.0
22111200/542 nwwgnyuwd wy| gppbip L hwwn 10 0.0
22111200/543 unwwgnyud wy| gppbip QL hwin 15 0.0
22111200/544 nwwgndwd wy gppbp QL huwin 15 0.0
22111200/545 nwwgpywd wy gppbip 9L hwin 10 0.0
22111200/546 wnwwgnywd wy gppbip G< hwwn 5 0.0
2211200/547 unwwgnywsd wy gppbp Q<L hwwn 10 0.0
30197236/501 prpwywlwl wwwdnghp q<c huwitn 2000 0.0
22451240/570 pluitubp hwiwdwjuwghn L hwwn 2000 0.0
22451240/571 plutifubp nbnwwndu Q< huwin 5000 0.0
30192151/501 Luhp, wwnndwwn, nipnuiilyni QL hwwn 9 0.0
Wahuwwnwptibip
45461100/501 ohpbiph, shunyejniuiinh ppwghl Unpnguwl wafuwwnwlplbin QL npwd 11830140 1 11830.1
453311111 onwithnfuldwl uwppbiph whunpdwl wohiwnwlpubp Ul npwd 990000 1 990.0
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